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¢Mxml versfon="1.0" encoding="UTF-877>
<MCCT_IN200100UVOE YTSVersion="XML_l.0" xsiischemalocatien="urn:hl7-org:v3 MCCI_IN200100UVD1, xsd” xmlns="urn:hl7-org:v3” smlns:xsis"http://wew. w3d. ore/
2001/0IL5chema—~instance™> '
¢id extension="N. 12" root="2, 16.840. 1. 113883, 3. 989. 2. 1. 3, 22" />
<l=— N.1.2: Batch Number —>
<creationTime value="20101214151617"/>
¢l~ N.1.5: Date of Batch Transmission —>
<responseModeCade code="D"/>
<interactionld extension="MCCI_IN200100U¥01" root="2. 16. 840 1. 113883. 1. 67/> .
<name cede="N. 1. 1" codeSystem="2. 16. 840. 1. 113883.5.989. 2. 1, 1. 1°/>
{I— N.1.1: Type of MWessages in Batch —>
¢l— MUessage #1 —>
<PORR_IN0490160V>
¢id extension="N.2.r.1” root="2, 16.840. 1. 113883, 3.989.2.1.3.1°/>
¢l— N,2.r,1: Message Identifier —>
{creationTime value="20101214161617/>
<}— N.2.1.4: Date of Message Creation —>
<interactionld extenaion="PORR_INO49016UV" reot="2. 16.840. 1, 113883. 1. 6"/>
{processingCode code="P"/>
{processinghodeCode code="T1"/>
<acceptAckCode code="AL"/>
Creceiver typsCode="RCV™>
<device classCode="DEV” determinerCede="INSTANCE™>
¢id extension="N.2.r.3" root="2.16.840:1, 113883, 3.969.2.1.3. 12 />
<|-— N.2.1, 3! Uessage Receivor Identlf:er —>
</device>
</receiver>
<sender typeCode="SND">
¢device classCode="NEY" determinerCode="INSTANCE">
<id extension="N, 2.r. 2" root="2. 16, 840. 1. 113883, 3. 989,2.1.3.117/>
¢l N, 2.r. 2. Message Sender Identifier ~=>
</device>
</sender>
¢controlActProcess classCode="CACT” moodCode="EVN™>
¢code code="PORR_TEC45016UV” codeSystem="2. 16. 840. 1. 113883, 1. 187/>
<|— HL7 Trigger Event ID ==>
{effectiveTime value="20101214151617"/>
<l=~C,1.2: Date of Creation —>
¢subject typeCode="SUBJ">
¢investigationEvent classCode="INVSTG" mocodCode="EVN™>
¢id extension="C.1. 1" reat="2, 16.840. 1, 113883,3,989. 2. 1.3. 1"/>
¢l C.1.1: Sender's (case) Safety Report Unique Identifier —>
<id extension="C. 1, 8.1 root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
{l— C.1 8. 1: Worldwide Unique Case Identification Number ——>
¢jd extension="J2.1b" root="2. 16. 840, 1, 113883. 3. 989 5.1.3.2.3.1°H
I— egajz, 1b: WMBIES (FH) —
<code code="PAT_ADV_EVNT™ codeSystem="2, 16. 840, 1. 113883, 5. 4"/3
<textH, 1¢/text>
' <|— H.1: Case Narrative Including Clll‘llcal Course, Therapeutic Measures, COutcome and Addnlonal Relevant Infermation —>
{statusCode code="active™/>
<!— e8eJ2.7.1 %7, iﬁmTEﬁ —>
{effectiveTime?
<low value= 20090101’/)
(l— . 1.4: Date Report Was First Received from Source —>
¢/affectiveTime>
<availabilityTime value="200901017/> . o
¢l— €. 1,5 Date of Most Recent Information for This Report —>
<reference typeCode="REFR"™>
{document classCode="D0C”" moodCode="EVN">
<{code code="1" codeSystem="2. 16, 840. I. 113883, 3, 989, 2. 1. 1. 27" displayName="documentsHeldBySender™/>
<title>C. L. 6, L. x. 1</title>
<l— C.1,6.1.r. 1: Decuments Held by Sender (repeat as necassary) #1 —>
<text mediaType= appllcation/pdf representation="B64">C, 1.6.1. 7. 2</text>
¢{l— €.1.6.1.7.2¢ Included Documents #1 — .
{/document?
{/reference>
{reference typeCede="REFR">
<document classCode="DIC" meodCode="EVN™>
<code code="1" codeSysten="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 27" displayName="documentsHeldBySender™/>
<titledC. 1.6. L. r. 1</titled
¢]— C. 1.6, 1,r 1: Documents Held by Sender (repeat as hecessary) #2 —>
{text mediaType="image/jpeg” representation="BE4™ compressien="DF">C, L6, L, r, 2¢/text?
{l==C.1.6. 1.1 2! Included Documents #2 -—>
{/document>
{/referance’



<reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN™>
{code code="2" codeSystem="2, 18, 840, 1, 113883. 3. 989. 2. 1. 1. 27" displayName=" hteratureReferem:e ">
<title>J2. 17. r</title> j
<1— 08a]2. 17. r BB/ HROHE #1 —
<text mediaType="application/pdf” representation="B647>C.4.r.2</text>
<l— C.4.r.2: Included Documents #l —>
<hibliegraphicDesignationText>C, 4.r. I</bibliographicDesignationText>
¢l— C.4:1.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG”™ determinerCode="INSTANCE™>
<aslocatedBntity classCode="LOCE™>
Clocation classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2.15. 1" codoSystem="1,0, 51566, 1,2,2/>
<1— 988J2.15. r A¥E #1 >
¢/location>
{/asLocatedEntity>
¢/representedirganization?
</assignedEntity>
¢/participation>
<{/document?
</reference>
{reference typeCode="REFR™>
{document classCode="DOC" moodCode="EVN™>
{code code="2" codeSysten="2. 16. 840, 1. 113883, 3, 289, 2 1,1.277 dLspIayName~ literatureReference”/>
<{titledJ2. 17.r{/title> ‘ .
<1— e8]z, 17, r BB/ HRODEH #2 —
<text mediaType="applicatien/pdf” representation="RB647>L. 4, r, 2¢/text>
¢l— C.4.r.2: Included Documents H2 ——>
<bibliographicDesignationText>C. 4. r. 1<{/bibliographicDesignationText>
{l== C,4.r.1: Literature Reference(s) #2 —>
<participation typeCode="AUT">
<assignedEntity elassCode="ASSIGNED™>
<rapresentedOrganization classCode="0RG” determinerCode="INSTANCE™>
<asLocatedBntity classCode="LOCE™>
¢location c¢lassCode="COUNTRY" determinerCade="INSTANCE™>
¢eode cede="J2.15.r" codeSystem="1. 0. 3166. 1. 2. 2" /)
<l-- @012, 15. r DDH[E #2 —
¢/location>
{/aslocatedEntity>
{/representedOrganization>
{/assignedEntity>
{/participation>
</document>
</raference’
<cenpenent typeCode="COMP™>
{adverseEvantAssessment classCode="INVSTG™ moodCode="E¥N™>
{subjectl typeCode="SBJ™>
{primaryRole classCode="INVSBI™>
{playerl classCode="PSN” determinerCode="INSTANCE™>
<name?D, 1{/nane>
¢1— D.1: Patient (name or initials) —>
{administrativeGenderCode cede="D.5” codeSystem="1.0.52187/>
(I D.5 Sex —>
<birthTime value="200901017/>
{l-— D.2.1: Date of Birth >
(deceasedTime value="20000101"/>
<f— D.9.1: Date of Death —>
<asIdentifiedEntity classCode="IDENT™>
{id extension="D.1.1.1" root="2.16. 840. 1. 113883, 3.989, 2. 1. 3. 7"/>
¢|— D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GF Medical Record Numhar) -
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 4" displayName="GP"/>
¢/asIldentifiedEntity>
¢asldentifiedEntity classCade="1DENT">
{id extension="D.1.1.2" root="2.16, 840, 1.113883.3.989.2.1.3.8"/>
<l— D.1.1.2: Patient Medical Record Number (s} and Source(s) of the Record Number (Specialist Record Number) —>
<code code="2" codeSystem="2. 16. 840, 1, 113883, 3, 989. 2. 1. 1. 4" displayName="Specialist”/>
{/asIdentifiedBntity>
<asIdentifiedBntity classCode="IDENT™>
<id extension="D. 1. 1. 3" roet="2, 16, 840. 1. [13883. 3.980.2. 1.3.9"/>
<]— D.1.1.8: Patient Medical Record Number(s) and Seurce(s} of the Record Number (Hospital Recerd Number) —>
<eode code="3" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 4" displayName="Hospital Record”/>
{/asIdentifiedEntity>
<asIldentifiedEntity classCode="IDENT™>



¢id extension="D, 1. 1. 4" root="2.16. 840. 1. 113883, 3.989. 2, 1. 3. 10"/>
¢l— D.1.1.4: Patient Medical Record Number(s) and Source(s) of the Record Number (Invesngatmn Number) =—->
¢eode code="4" codeSysten="2. 16. 840, 1, 113883, 3.980. 2. 1. 1. 4" displayName="Investigation™/>
¢/asldentifiedEntity>
{role classCode="PRS™>
¢code code="PRN" codeSystem="2. 16, 840. 1. 113883.5. 1117/>
{associatedPerson classCede="PSN" determinerCode="INSTANCE™>
<name>D. 10. 1{/hame>
<!— D.10.1: Parent Identification —>
<adpinistrativeGenderCode code="D.10.6" codeSystem="1, 0. 52187/>
<}~- D.10.6! Sex of Parent —> . .
<birthTime value="20080101"/>
¢l— D.10.2.1: Date of Birth of Parent ~—>
{/associntedPerson>
{subject0f2 typeCode="SB]™>
<observation classCode="0BS" moodCode="E¥N">
¢code code="3" codeSysten="2, 16. 840, 1, 113883, 3, 989, 2. 1. 1. 197 displayName="age"/>
¢value xsiitype="P0* value="10" unit="D.10.2.2k"/>
¢l-- D.10. 2. 2a: Age of Parent (number) —>
¢l— D.10.2,2b: Age of Parent (unit) —>
{/cbservation>
</subjectOf2>
<subject0f2 typeCode="SB]">
{observation classCode="0B5" moodCade="EVN™>
Ccode code="22% codeSystem="2. 16. B40. [. 113883, 3. 989, 2. 1. L, 197 displayName="lastWenstrualPeriodDate”/>
<value xsi:type="TS" value="20090101"/> .
{!— D, 10.3: Last Menstrual Period Date of Parent —>
{/observaticn®
{/subject0f2>
¢subjectDf2 typeCode="SBJ">
<chservation classCode="0BS" moodCode="EVN">
¢code code="T" codeSystem="2. 16. 840. [. 113883, 3.989, 2. 1. 1. 19" displayName="bodyReight”/>
¢value xsiitypes"PQ” value="50" unit="kg"/>
¢I— D,10.4: Body Weight (kg) of Parent —>
</observation?
</subject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="085" moodCode="EVN">
{code code="17" codeSystem="2, 16.840. 1. 113883. 3,989, 2. 1. 1. 19" displayName="height”/>
{value xsi:type="PQ” valup="160" unit="en"/>
<!— D, 10,5: Height (cm) of Parent —>
{/observation>
<{/subject0f2>
{subiect0f? typeCode="SBJ">
Corganizer classCode="CATEGORY” moadCode="EVN™>
¢oode code="1% codeSystem="7. 16. 840. 1. 113883. 3. 989, 2. L. 1, 20" displayName="relevantbledicalHistoryAndConcurrentConditions™/>
{conponent typeCode="COMP™>
{ohservation classCede="DBS" woodCode="EVN™>
{code code="D.10.7.1.1. 1% codeSysten="2. 16. 840. 1. 113883, 6, 163" codeSystemVersion="D. 10. 7. 1. 1. 1a'/>
I~ D.19.7. L. r. 1a: ¥edDRA Version for Medical History #1 -=>
¢l—= D, 10.7. 1.¥. 1b: Medical History {disease / surgical precedure/ etc.} (MedDRA code) #1 —>
CeffectiveTime xsi:type="IVL_TS™>
<leow value="200901917/>
¢l--D,10,7. 1. r.2: Start Date #1 —>
<high value="20090101%/>
<!-- D.10,7. 1. r.4: End Date #1
</effectiveTime>
<outhoundRelationship2 typeCode="COMP™>
<observation classCode="0B3" moodCode="EVN™>
¢eode code="10" codeSystem="2, 16, B40. 1. 113883. 3, 089, 2. 1. 1. 19" displaylame="comment”/>
<value xsi:type="ED">D. 10.7. L. 1. 5¢{/value>
{le= D.10.7.1.r.5! Comments #1 —>
{/observation>
</outboundRelationship2>
<inboundRelatienship typeCode="REFR™>
¢observation elassCode="0BS" moodCode="EVN™>
Ceode cade="13" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2.1. 1. 19” displayName="continuing”/>
<value xaiitype="BL" value="true”/>
(!-,_- D, 10.7. L. r. 3: Continuing #1 —>
</observation>
</inboundRelationship?
{/observation>
</¢omponent> ) .
<component tyneCode="COMP">
¢observation classCode="0BS” moodCode="EVN">



<code code="D. 10.7.1.r. 1b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="D.10,7.1.r.1a"/>
<l— D.10.7. 1. ka: MedDRA Version for Medical History #2 —>
<l== D.10. 7. L. 1. Ib: Yedical History (disease / surgical procedure/ ete.) (MedDRA code) #2 —
<effectiveTime xsi:types”IVL_T5™>
<low value="20090101"/>
{lw= D.10.7.1.r.2! Start Date #2 -
<high value="20090108"/>
¢t=- D, 10.7.1.r. 4: End Date #2 -->
</effactiveTime>
{outboundRelationship2 typeCode="COMP™>
{observatien classCode="0BS" moodCoda="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 889. 2. 1. L. 19" displayName="comment”/>
{volue xsi:type="ED">D, 10.7. 1. r. 5¢/valueX
<! D.10.7.1.r.5: Comments #2 —>
</observation>
</outboundRelationship2>
¢inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN"> .
<eode code="13" codeSystem="2. 16,540, 1, 113883.3.989. 2. 1. L. 197 displayName="continuing”/>
<value xsi:type="BL” value="true”/>
([ee D10, 7. 1. 1. 3¢ Continuing #2 —>
{/observation>
</inhoundRelationship> '
¢/observation>
{/component?>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code coade="18" codeSystem="2. 16. 840. 1. 113883, 3, 980.2.1. 1. 18" d1splayName—’hlstaryAndConcurrentCund1t10nText'/>
Cvalue xsi:type="ED">D, 10, 7.2</value>
¢t— D, 10, 7. 2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
{/obsarvation>
{/component>
{forganizer>
{/subject0f2>
{subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840, 1, 113883, 3, 389. 2. 1. 1. 20" displayName=" drugH1story "/
<component typeCode="COMP™>
{substanceAdministration classCode="SBADH" moaodCode="EVN">
{effectivelime xsi:type="IVL_TS">
{lew value="20090101"/> N
<!— D.10,8.1r.4: Start Date #l —>
<high value="200901017/>
<l~- D.10.8.xr.5: End Date #1 —>
</effectiveTime>
{consumable typeCode="CSH™>
{instanceOfKind classCode="INST">
¢kindOfProduct elassCode="MMAT" determinerCede="KIND™>
{code code="D. 10.8.r.2b" codeSystem="TE-MPID" codeSystemVersxon— D.10.8.v.2a"/>
<l=— D, 10,8, r, 2a: MPID Version Date / Number ¥1 -->
<l— D.10.8.r. 2b> Medicinal Product Identifier (MPID) #1 -->
<name>D. 10. 8. r. 1</name>
¢l— D, 10, 8. 1. 1: Neme of Drug as Reported #l —>
{/kind0fProduct>
</instance0fKind>
</consumable>
<outboundRelaticnship2 typeCode="RSON™>
{observation classCode="0BS" moadCode="EVN">
{code code="19" codeSystem="2, 16,840, 1. 113883, 3,989, 2. 1, L. 19" displayName="indication"/> .
<value xsi:type="CE" code="D, 10,8, r. 6b" codeSystew="2.16. 840. [. 113883, 6, 163" codeSystemVersion="D. 10. 8. r. 6a"/>
<l— D, 10,8, r,Ba: MedDRA Version for Indication #1 ——>
{l=— D.10.8.r.6b: Indicatien (MedDRA code) #1 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
{observation classCode="0B5" moodCode="EVN">
{code code="20" codeSystem— 2, 16. 840.'1, 113883, 3,989, 2, 1; 1, 19" displayName="reaction”/>
¢value xsi:type="CE” code="D, 10.8.r. Tb" codeSysten="2, L5, 840. 1. 113883, 6. 163" codeSystenVersion="D, 10. 8, r. 7a"/>
{l— D.10.8.r.7a! MedDRA Version for Reaction #1 —>
{l— D, 10,8, x.7b: Reactions (MedDRA code) #1 —>
</observation>
¢/outboundRelationship2>
</substanceAdministration>
</component? .
{component typeCode="COMP™>



¢substanceAdministration classCodé="SBADM" moodCode="EVN">’
<effectiveTime xsi:type="IVL_TS">
(low value="20090101"/> : .
¢{— D.I0.8.r. 4! Start Date #2 —>
¢high value="200901017/>
¢1— D.I0.8 1.5: End Date #2 —>
¢/effectiveTime>
<consumable typeCode="CSH™>
{instanceOfKind classCode="INST™>
<kind0fPreduct classCode="MMAT" determinerCede="XIND™>
Seode code="D. L0, 8. r. 3b" codeSystem="TBD-PhPID" codeSystemYersion="D. 10.8.r.3a"/>
<{— D.10.8.r.3a: PhPID Version Date / Number #2 -->
¢{— D, 10,8, 1, 3b: Pharmaceutical Product Identifier (PhPID) #2 —>
{name>D. 10. 8. r. 1{/hame>
¢1— D10 8 1. 1t Name of Drug as Reported #2 —>
</kind0fPreduct>
</instance®fKind>
£/consumable>
{outbaundRelationship? typeCode="RSON™>
<observation classCode="0BS" meadCode="EVN™>
<code code="18" codeSysten="2, 16, B4O, 1, 113883. 3. 989.2. 1. 1. 19" displayName="indication”/>
<value xsiitype="CE” code="D.10.8.r.6b" codeSystem="2. 16, 840. 1. 113883.6. 163" codeSystenVersion="D. 10.8.r.6a"/>
<l— D, 10.8,r,6a: MedDRA Version for Indication #2 —>
¢l=- D.10.8.1.6b: Indication (MedDRA code) #2 —>
</observation>
</cutboundRelationship2>
<outhoundRelationship? typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN™>
Ceode code="29" codeSystem="2. 16.840. 1. 113883, 3,989, 2.1, 1. 19" displayName="reaction”/>
<value xsiitype="CE” cede="D.10.8.r.7b” codeSystem="2. 16. 840. 1. 113883. 6, 163~ cadeSystenVersion="D. 10. 8. r. 72" />
<l-— D.10.8.r. 7Ta: MedDRA Versien for Reaction #2 —>
¢l== D.10.8.r.7b: Reactions (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
</component?
</organizer>
{/sub jectDE2>
{/rale>
</playerl>
¢subjectOf1l typeCode="SB]™>
{researchStudy classCade="CLNTRL" wmoodCode="EYN™>
<id extension="C.5.3" root="2, 16, 840. 1. 113583. 3. 989, 2. 1.3.5"/>
{]— C.5.3: Sponsor Study Number -—>
<code code="C,5,4" codeSystem="2, i6. 840, 1. 113883, 3, 989. 2. 1. £.8"/>
¢l C.5.4: Study Type Where Reaction(s) / Event{s} Were Observed —>
<title>C. 5. 2</title> '
{I— C.5.2: Study Name —>
{authorization typsCode="AUTH™>
{studyRegistration classCode="ACT" moadCode="EVN">
<id extension="C.5. L. r.1" root="2. 16, 840. 1. 113883, 3. 989. 2. 1. 3.67/>
¢l== €.6.1.r.1: Study Registration Number §1 —>
<zuthar typeCode="AUT">
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY" detorminerCade="INSTANCE™>
Ccode code="C.5. 1.r. 2" codeSystem="1.0.3166.1.2.2"/>
¢l— . 5.1, 1.2: Study Registration Country #1 —>
{/governingPlace>
{/territorialAuthority>
{/author>
</studyRegistration?
{/authorization>
<authorization typeCode="AUTH™>
(studyRegistration classCode="ACT™ macdCade="EYN™>
<id extensien="C.5.1.r.17 roat="2. 16.B40. I. 113883, 3. 989. 2.1, 3,6"/>
¢l C, 5. 1.1.1 Study Registration Numher #2 —>
Cauthor typeCode="AUT">
{territorialAutherity classCode="TERR™>
¢governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSystem="1. 0. 3166. 1. 2.2"/>
l— €.5. 1,1 2 Study Registration Country §2 —>
¢/governingPlace>
</territorialAuthority>
{/author>
{/studyRegistration>



</authorization>
¢/researchStudy>
</subject0f1>
<subject0f2 typeCode="SB]™> )
{observation classCode="0BS” moodCode="EVN™> '
<code code="3" codeSystem="2. 16. 840. 1. 113883, 3, 989; 2, 1. 1. 19" displayName="age”/>
{value xsi:type="PQ” value="10" unit="D.Z2.2b7/>
<l— D.2.2a: Age at Time of Onset of Reaction / Event {number} —>
¢1— D.2.2b: Age at Time of Onset of Reaction / Event {unit) —>
</observation>
¢/subjectDE2>
<subject0f2 typeCode="SBJ]">
{observation e¢lassCode="0BS" moodCode="EVN™>
¢code code="16" codeSystem="2. 16.840. 1. 113883 3, 089. 2, 1. 1. 19" displayName="gestationPeriod”/>
<value xsi:type="PQ" value="10" unit="D, 2, 2. Ib"/>
¢<!— D.2.2. 1a® Gestation Period When Reaction / Event Was Observed in the Foetus (ntmber) —>
¢!— D.2.2.1b: Gestation Period When Reaction / Event Was Ohserved in the Foetws (unit} —>
</observation>
{/sub ject0f2>
<subjectDf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN™>
{code codes"4" codeSystem="2. 16. 840. 1. 113883, 4. 989, 2. 1. 1. 19" displayName="ageGroup”/>
<value xsi®type="CE" code="D.2 3" codeSystem="2, 16. 840, 1, 113883. 3. 989. 2. L. L.9"/>
<1~= D.2.3: Pationt Age Group {as per reporter) —>
{/ohservationd
{/subject0f2>
(subject0f? typeCode="SB)">
{observation classCode="DBS” moodCode="EVN™>
{code cade="T" codeSystem="2.16.840. 1. 113883, 3,989. 2. 1. 1. 1%~ displayName= bodyWe!.ght'/)
<value xsi:type="PQ" value="48,2" unit="kg"/>
<=~ D.3: Body Weight (kg) —>
{/ohservation> ’
</subject0DL2>
<subject0f2 typeCode="SBJ™>
{observation classCode="0B5" moodCode="EVN">
<coda code="17" codeSystem="2. 16. 84(. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="height”/>
Cvalue xsi:type="PQ” value="152" unit="cn"/>
<= D.4: Height (cm) —>
{/observation>
{/subject0Of2>
<subjectDf2 typeCode="SBJ™>
{ohservation classCode="0BS" moodCode="EVN">
<{code code="22" codeSystem="2, 16.840. 1. 113883. 3. 989 2,1, 1. 19" displayName="lastMenstrualPeriodDate”/>
<value xsi:type="TS" value="20090101"/>
¢<1— D.6: Last Menstrual Period Date —>
¢fobservation?
</subject0f2>
{subject0f2 typeCode="SBJ"»
{organizer classCode="CATEGORY” moodCode="EVN">
¢code code="1" codeSystem="2. 16, 840, 1, 113883, 3.989. 2. 1. 1. 20" displayName="relevantMedicalllistoryAndConcurrentConditions”/>
{component typeCode="COMP™>
{observation classCode="0BS" mecdCode="EVN">
{code code="D. 7. 1. r. 1b” codeSystem="2, 16, 840, 1, 113883. 6. 163" codeSystenVersion="D.7. 1. r.1a"/>
¢l— D.7.1.r.1a: MedDRA Version for Medical Histery #1 —>
¢le=D.7,1.r.1b: Medical History (disease / surgical procedura / etc.) (MedDRA code) #1 ——>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<I— D.7.1.r.2: Start Date #1 ——>
<high value="200801017/>
{I— D.7.1.r,4: End Date #1 —>
{/effectiveTine>
{outheundRelationship2 typeCode="COMP">
Sobservation classCode="0BS" moodCode="EVN">
{code cede="10" codeSyston="2. 16, 840, 1. 113883, 3, 989, 2, 1. 1. 13" displayName="comment /)
<value xsi:type="ED">D.7. L r, 6</value>
{l— D.7. 1. r.5: Comments §1 —>
{/observation?.
</outboundRelaticnship>
{outboundRelationship2 typeCode="EXPL">
{ohservation classCode="0BS” moodCode="EVN™>
<code code="38" codeSystem="2. 16. 840. 1. 113883, 3,089, 2, 1, 1. 19" displayName=" famlyﬂxstnry Fod
{value xsi:type="BL" value="true"/>
<I-- D.7.Lr.6: Family History #1 —>
</observation> .
{/outboundRelationship2>



{inboundRelationship typeCode="REFR™>
{observation elassCode="QBS” moodCode="EVN™>
<code code="13" codeSystem="2. 16, 840, 1. 113883. 3. 989, 2, 1. 1, 18" displayName="continuing”/>
¢value xsi:type="BL" value="true”/> '
Kl== D.7.1.r.3: Continuing #1 —>
</observation>
{/inboundRelationship?
{/ohservation>
<{/eomponent>
{component typeCode="COMP™> .
<observation classCode="0BS" moadCode="EVN™>
<code code="D.7.1.r.1h" codeSysten="2. 16, 840. 1. 113883. 6. 163" cedeSystemVersion="0.7. L.r.1a"/>
¢l-- D.7.1.r. 1a: MedDRA Version for Medical History #2 —>
¢l== D.7.1,r. 1b: Medical histery (disease / surgical procedure / etc.} (MedDRA ecode) #2 —>
<effectiveTime xsi:type="IVL_TS™>
{low value="20000101"/>
(!— D, 7. 1.1.2! Start Date #2 —>
¢high walue="200901917/>
¢te- D.7.1.r.4: End Date #2 —>
feffectiveTime>
<outboundRelationship2 typeCade="COMP™>
Cobservation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3,989. 2. 1, 1. 19" displayName="comment”/>
<value xsi:type="ED™>D. 7. L r, 5¢/value>
¢}=— D.7.1.1r.5: Comments #2 —>
{/observation>
{/outboundRelationship2>
<puthoundRelationship? typeCode="EXPL">
Cobservation classCode="08S" maodCade="BVN">
{code code="38" codeSystem="2. 16. 840, 1. 113883, 3.98%. 2. 1 1. 19" displayName="familyHistory"/>
<value xsi:type="BL" value="true”/>
{l—— D.7.1.r.6: Family Histery #2 —>
</observation?
</outboundRelationship2>
¢inboundRelationship typeCode="REFR™>
<observation elassCods="0RS" macdCode="EVN">
¢eode code="13" codeSystem="2. 16. 840, L. 113883, 3,989, 2. 1. 1, 18" displayName="centinuing”/>
{valua xsi:type="BL" value="true”/>
¢l=— D.7.1.r.53: Continuing #2 —>
¢/ohservation>
</inboundRelationship>
</observation>
{/ccmponent>
<component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN"> .
<code code="18" codeSystem="2. 16,840, 1. 113883, 3.989. 2. 1. 1, 19" displayName="historyAndConcurrentConditionfext™/>
<value xsiitype="ED">D. 7, 2{/value>
¢!—- D.7.2: Text for Relevant Medical History and Concurrent Conditions (net including reaction / event) —>
¢/observaticn>
</compenent>
<component typeCode="COMP™>
{abservation classCode="0BS" meodCode="EVN™>
¢code code="11" codeSysten="2. 16, 840, 1, 113883. 3. 989. 2. L. 1. 18 displayName="conconitantTherapy”/>
Cvalue xsiitype="BL™ value="true”/>
¢l— D.7.3: Concomitant Therapies —>
{/chservation>
¢/component>
{forganizer>
¢/subjectOr2>
{subject0f2 typeCode="SB]"> .
{organizer classCode="CATEGORY” moodCode="BVN™>
¢eode code="2" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1, 1. 207 displayName="drugHistery”/>
<component typeCode="COMP™>
¢substanceAdministration classCode="SBADM” maodCode="EVN™>
{effectiveTime xsi:type="IVL_TS™> '
{low value="20090101"/>
¢l—— D.8,r. 4 Start Date #1l —>
<high value="200%0L0L"/>
¢l-— D.8.r.5: End Date §l —>
</effectiveTime>
{consumable typeCode="CSM™>
{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT™ determinerCode="KIND">
<code code="D, 8, r.2b" codeSystem="TBD-MPID" codeSystemVersion="D.8.r.2a"/>
¢l— D.8.r.2a: MWPID Version Date / Number #1 ——>
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<|— D.8.r.2b: Medicinal Product Identifier (MPID) #l —>
<name>D. 8. r. 1<{/name>
¢l-- D.B.r.1t Name of Drug as Reported 1l —>
{/kindOfProduct>
{/instance0fKind>
</consumable>
<outboundRelationship2 typeCode="RSON™>
<observation classCode="0BS" moodCode="EVN™>
¢code code="19" codeSystem="2. 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" displayName="indication”/>
(value xsi:type="CE” code="D.8.r 6L" codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystemVersion="D.8.r.6a"/>
¢]— D.B.x.6a: MedDRA Version for Indication #1 —>
{l— D.8 r.6b: Indication (MedDRA code) #1 —->
¢/ohsorvation?
{/outhoundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
Cobservation classCode="0BS” moodCode="EVN™>
{code code="29" codeSysten="2, 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" displayName="reaction”/>
<value xsi:type="CE* code="D.8.1.7b" codeSystem="2, 16,840, 1. 113883. 6. 163" codeSystenVersion="D. 8. r.7a"/>
¢!— b.8.r.7a: MedDRA Version for Reaction #1 —> .
<l— D.8.1.7b: Reaction (MedDRA code) #1 —>
{/observation> '
</outboundRelationshin2>
{/substanceAdministration>
¢/compdnent>
{component typeCode="COMP™> -
{substanceAdministration clazsCode="SBAD" moodCode="EVN">
{effectiveTime xsi:type="IVL_TS™»
(low value="200901017/>
¢<I— D.8.r.4: Start Date #2 —
¢high value="200901017/>
¢{I— D.8 1, 5 End Date #2 —>
<feffectiveTime>
<consumable typeCode="CSM™>
¢instance0fKind classCode="INST™>
<kind0fProduct classCade="WMAT" determinerCode="KIND">
<code code="D.8.r.3b" codeSystem="TBD~PhPID" codeSystemVersion="D.8.r.3a"/>
{l=- [.8.r.3a: PhPID Version Date / Number —>
¢!— I8 r, 3b: Pharmaceutical Praduct Identifier (PhPID} H2 —~>
<{name>D, 8, r. 1{/name>
{1— D.8.r.1: Name of Drug as Reported #2 -
</kind0fPreduct>
</instance0fKind>
{/consurable>
<outboundRelationship2 typeCods="RSON">
<observation classCode="0BS" moodCode="EVN™>
{code codes"19" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="indication"/>
Cvalue xsi'type="CE* code="D.8.r.6b" codeSystem="2, 16, 840, 1. 113883. 6. 163" cadeSystenVersion="D. 8. r.6a"/>
<l— D. 8. r.6a: MedDRA Version for Indication #2 —>
¢l— D.8.r.6b: Indication (MedDRA code) #2 —>
¢/observationd
</outhoundRelationshipz>
<outboundRelationship? typeCede="CAUS™>
{observation classCede="0BS" moodCode="EVN">
{code code="29" codeSystem="2, 16, 840. 1. 113883, 3,989, 2, 1, }. 19" displayName="reaction”/>
<value xsi:type="CE” code="D. 8.r.7h" codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystenVersion="D.8. 1. 7Ta"/>
<)~ D.8.r.7a: MedDRA Version for Reaction #2 —>
<!— D, 8. 1.7b: Reaction (MedDRA code) #2 —>
{/observation>
¢/outboundRelationship2>
</substanceAdninistration>
{/component>
<forganizer>
¢/subject0f2>
¢subjectDf2 typeCode="8BJ™>
<chservation classCode="0BS” moodCode="EVN">
{éade code="32" codeSystem="2. 16, 840. I, 113883. 3. 989, 2. 1. 1. 19" displayName="reportedCauseGfDeath”/>
<yalue xsiitype="CE” code="D.9.2.r.1b" codeSystem="2. I6. B40. 1. 113883. 6. 163" codeSystenVersion="D. 9, 2,1, la™>
¢4— D.9,2,r. la: MedDRA Version for Reported Cause(s) of Death #1 ~—>
¢1— D.9,2.1. 1b: Reparted Cause(s) of Death (MedDRA code) #1 —>
{originalText>D. 8. 2. r. 2</originalText> -
== D.9.2,r.2: Reported Cause(s) of Death (free text) #1 -
</valued
</observation>
</subjectOf2>
<subject0f2 typeCode="SBJ">



{obsarvatien classCode="0BS” moodCode="EVN">
<code code="32" codeSyster="2. 16. 840 1, 113883, 3. 989, 2. 1. 1, 19" displayName="repertedCause0fDeath™/>
¢value xsiztype="CE” code="D.9.2.r.1b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="D.5. 2.r. la">
(l~~ D.9.2.r. la: MedDRA Version for Reported Cause(s} of Death #2 —>
¢l 1.9, 2. r Ib: Reported Cause(s) of Death (MedDRA code) #2 —>
{originalText>D. 9. 2. r, 2{/originalTaxt>
¢}— D.9,2.r.2; Reported Cause{s) of Death (fres text) #2 —>
</value>
. <(/observation®
</subject0f2>
{subject0f2 typeCade="SB)">
{observation ¢lassCode="0BS™ mocdCode="EWN™>
{cede code="5" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 197 displayName="autopsy”/>
¢value xsittype="BL” value="true"/>
(== D.9.3 Was Autepsy Done? —> .
{outboundRelationshipZ typeCode="DRIV">
{observation classCode="0BS" meodCode="EVN">
Ccode code="8" codeSystem="2. 16. 840, 1. 113883.3. 989.2. 1. 1 18" displayName="causeOfDeath”/>
¢value xsi:type="CE" code="D.9.4.7z.1b" codeSysten="2. 16. 840. 1. 113883, 6, 163" codeSystenVersion="D. 9. 4.r. 1a">
¢l— D.9.4.r. 1a: HedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
¢l~= D.9.4 1. 1b Autepsy-determined Cause(s) of Death (HedDRA code) #1 —>
CoriginalText>D. 9. 4. r. 2</originalText> '
¢l— D,9.4,1.2: Autcpsy~determined Cause(s) of Death {free text) #1 —>
<{/value>
¢/observatien>
{/outboundRelationship2>
<outhoundRelationship2 typeCede="DRIV">
<ohservation classCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2, 15, 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="causeOfDeath”/>
<value xsi:types"CE” code="D.9.4.r.1b" codeSystem="2.186, 840, 1, [13883. 6. 163" codeSystemVersion="D, 8. 4.T.1a">
{luw D.9.4.r.1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —->
<l— D.9,4. r. b Autopsy—determined Cause(s) of Death {MedDRA code) #2 —>
<originalToxt>D. 9. 4, r, 2{/originalText>
¢<l— D,9,4.r.2: Autopsy—detexmined Cause(s) of Death (free text) #2 —V
<{fvalue> '
{/observation>
¢/outboundRelationship2>
{/observation
</subjectOr2>
(subject0f2 typeCode="SBJ™>
{observation classCode="0B5" moadCode="EVN">
{id root="154ehB89-058b=45f2-a02f-42d4d6£4657F" />
{code code="29" codeSystem="2, 16, 840, 1. 113883. 3. 680 2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
{low value="200901017/>
<l-- E.1i.4: Date of Start of Reaction / Event #1 ——>
<high value="20090102"/>
¢l— E,1i,6: Date of End of Reaction / Event #1 —>
</effectiveTime>
<value xsiitype="CE" code="F.i.2.1b" ccdeSysten="2.16.840, 1. 113883, 6. 163" codeSystemVersion="E.1i.2.1a">
¢!— E.i.2.1a: MedDRA Version for Reaction / Event #1 —>
¢l=~ BE.i.2.1b: Reaction / Event (MedDRA code) #1 —>
{originalText language="E.i.l. lb™)E.i, I, la¢/origiralText>
¢!— E.i.l.la: Reaction / Event as Reported by the Primary Source in Native Language #1 —>
¢1— BE.i.l, Ib: Réaction / Event as Reported by the Primary Source Languzge #1 —>
<{/value> '
<location typeCode="LOC™>
¢locatedEntity classCode="LOCE™
¢loeatedPlace classCods="COUNTRY" determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1.0,3166,1.2.27/>
¢|—- E.i.9: Identification of the Country Where the Reaction / Bvent Occurred #1 —>
{/lacatadPlace>
{/locatedEntity>
¢{/lacation>
<outboundRelaticnship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVYN™>
{code ‘code="30" codeSystem="2. L6. 840, 1. 113883. 2,989, 2, 1, 1. 19" displayName="reactionForTranslation”/>
<value xsi:type="ED"E.1i.1,2</value>
¢]l— B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation §1 -
{/ebservation>
{/outboundRelationship2>
ZoutboundRelationship2 typeCade="PERT">
{ehservation classCode="0BS” mocdCode="EVN")>
' <code code="37" codeSystew="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="ternHighlightedByReporter”/>
¢yalue xsi:type="CE" code="E i.3.1" codeSystem="2.16.840, 1, 113883.3.989,.2, 1. 1.107/>
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¢l== E, i,3.1: Tern Highlighted by the Reporter #1 —
</observationd
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
¢code code="34" codeSysten="2. 16, 840. 1. 113883, 3,089, 2, 1, 1. 19" displayName="resultsInDeath”/>
<value xsiitype="BL" value="true”/>
</— £.i.3.2a: Hesults in Death #1 —>
</observation?
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{cade code="21" codeSystem="2. 16.840, 1, 113883.3.989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
¢value xsiitype="BL" nullFlavor="NI"/>
{]— B, i.3,2b! Life Threatshing #1 —>
¢/observation>
{/euthoundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" maodCode="EVYN">
<code code="33" codeSysten="2. 16. 840, 1, 113882, 3, 689. 2. 1. 1. 19" displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true”/>
¢l—— E.i.3,2c: Caused / Prolonged Hospitalisation #1 —>
</ohservation>
{/outboundRelationship2>
<outhoundRelatienship2 typeCode~"PERT™>
{observation classCode="0BS" moodCode="EVN">
<code cede="35" codeSystem="2. 16, 840. 1, 113883, 3.989.2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsiltype="BL” nullFlaver="NI"/>
¢|— E.i.3,2d: Disabling / Incapﬂcltatlng #1-—>
{/observation>
{/outboundRelationship2>
<outbeundRelationship? typeCode="PERI™>
<ebservation classCode="0BS™ moodCode="EVN™>
{code code="12" codeSystem="2, 16. B40, 1, 113883, 3.989. 2. 1. 1. 18" displayName="congenitalAnomalyBirthDefect”/>
¢value xsi:type="BL" nullFlavor="NI"/>
¢!— E.3.3.2e: Congenital Anomaly / Birth Defect #1 —>
{/ohservation’
</outboundRelationship2> |
<outbeundRelationship? typeCade="PERT™>
{observation elassCode="0B5" moodCode="EVN">
{code code="26" codeSystem="2, 16,840, 1. 113882.3,989.2,1,1,19" dlsplayName— otherMedicallyImportantCendition”/>
<value xsiitype="BL" value="true”/>
¢l-— E.1i.3.2f: Other Medically Important Condition #1 —>
</observationd
¢/outboundRelationship2>
{owtboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<eode code="27" codeSystem="2, 16. 840. 1, 113883..3. 889. 2. 1. 1. 197 displayName="outcome /)
<value xsiitype="CE* code="E.i.7" codeSystem="2.16.840.1. 113883.3.969.2. 1. 1. 11"/>
{l— B.i.7: Outcome of Reaction / Event at the Time of Last Observation #l >
{/cbservationd
{/outboundRelationship2>
CouthoundRelatienship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{code code#”24” codeSystem="2. 16, 840. L, 113883, 3, 989, 2. 1. 1. 197 displayName= med1ca100nf1rmat1onByHealthPrnfess1ona1 0
{value xsiitype="BL" value="true"/>
¢]— B.i.8: Medical Confirmation by Healtheare Professional #l —>
{/observation>
</outboundRelationship2?
<outboundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 98%. 5. 1. 3. 2. 1. 10" displayName="3H1 - BESN"/>
Cvalue xsiitype="CE” code="J2.14.1i" codeSystem="2.16. 840, 1.113883.3,989,5,1,3.2.1,8"/>
<|— @80)2. 14.§ ki - BB #1 —> ‘
</observation)
</wutboundRelationship2>
</observation>
</subject0f2>
{subject0f2 typeCede="SBJ">
{cbservation ¢lassCode="0BS" mooadCode="EVN">
<id root="2baa28d6-cOeB-4eBc-93e9-5b860b3142207/>
Ccode code="29" codeSystem="2. 16. 840. 1. 113883, 3. 980. 2, 1. i. 18" displayName="reaction”/>
{effectiveTime xsi!type="IVL_TS">
<low value="20080101"/> .
¢<{— EB.i.4: Date of Start of Reaction / Event #2 -=>
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{width value="24" unit="E. i.6b"/>

¢l— E.i.6a’ Duration of Reaction / Event (number) #2 —>

¢l— B.i, 6b: Duraticn of Reactien / Event {unit) #2 —>
<{/effectiveTime>

{value xsi:type="CE" code="E.i.2.1b" codeSysten="2.16.840. 1. 113883, 6. 163" codeSystemVersion="E. 1. 2. 1a™>.

¢I== E.i.2.1a! YedDRA Version for Reaction / Bvent #2 —>
{l— B.1i.2.1b: Reaction / Event (MedDRA code) #2 —->
CoriginalText language="E.i. 1. 1b™E. 1. L. la</originalText>

¢)— E.i.1.1a: Reaction / Event as Reported by the Primary Seurce in Native Language #2 —>
¢{1-- E.i. L. 1b: Reaction / Event as Reported by the Primary Source language #2 ——>

{/value>
¢location typeCode="LOC>
KlocatedEntity classCode="LOCE™>
¢lacatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="F.1i.9" codeSystew="1.0.3166.1,2.2°/

¢le= E.i.9! Identification of the Country Where the Reaction / Event Oceurred #2 —->

</locatedPlace>
{/locatedBntity>
&flocation> ,
<cutboundRelationship? typeCode="PERT™>
<ebservation classCode="CBS” mocdCode="EVN">

<code code="30" codeSystem="2. 16. 840. 1. 113883, 3. 988. 2. 1. 1. 13" displayName="reactionForTranslation”™/>

<value xsi:type="ED"JE. 1. 1.2<{/value>

¢!— E i.1.2: Reaction / Event as Reperted by the Primary Source for Translation #2 —

¢/observation>
{/outhoundRelatiaonship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCade="EVN">

{code code="37" codeSystew="2. 15, 840, |, 113883, 3. 989. 2. 1. 1. 18* displayName="ternHighlightedByReporter”/>
(value xsi:type="CE" code="E.i.3.17 codeSystem="2, 16.840. 1. 113883, 3,989.2.1.1. 10"/>

¢l=- E.i.3.1:Term Highlighted by the Reporter #2 —>
¢/ohservationd
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN™>

<code code="34" codeSysten="2. 16. 840, 1. 113883, 3.989. 2, 1. 1. 19"

{value xsi:type="BL" value="true”/>
¢l—— E.1i.3.2a: Results in Death #2 —>
{/observatian>
</outboundRelaticnship2>
<cutboundfelationship? typeCode="PERT™>
{chservation classCode="0B5" moudCode="EVN™>

<code code="21" codeSystem="2. 16, 840. 1,113883.3.989.2.1.1.197

<value xsi:type="BL" nullFlaver="NL"/>
"¢l— E.i.3,2b: Life Threatening #2 —>
{/observation>
</outbhoundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" meodCode="EVN">

{code code="33" codeSystem="2. 16, 840. 1, 113883. 3. 989. 2. L. 1. 19"

{value xsiitype="BL" value="true™/>
¢l=— E.i.3.2¢: Caused / Prolonged Hospitalisation #2 ~->
{/chservation>
{fouthoundRelationship2> -
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

{code code="35" codeSystem="2, 16.840. 1, 113883, 3.989.2. 1. 1. 197

¢value xsi:type="BL" nullFlaver="NI"/>
¢|— B.1i.3.2d: Disabling / Incapacitating #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelatianship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

displayName="resultsInDeath”/>

displayame="islifeThreatening />

displayName="requiresInpatientHespitalization™/>

disglayName='resu1tsInFersistentOrSignificantDisébility"/>

{code code="12" codeSystem="2. 16, 840, 1. 113883, 3, 089.2.1.1.18" displayName="congenitalAncmalyBirthDefect”/>

¢value xsi:type="BL" nullFlavor="N1"/>
l== £.1i.3.2e: Congenital Anomaly / Birth Defect #2 —>
{/observation> ’
<foutboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN">

{code code="26" codeSystem="2, 16, 840, I. [13883. 3, 989, 2. 1. 1. 197 displayNeme="cther¥edical lyIuportantCondition”/>

¢value xsi!type="BL" values"true”/>
¢l— E.1i.3.2f: Other Medically Impertant Condition #2 —>
{/chservation>
¢/outboundRelationship2>
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{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="27" codeSystem="2. 16. 840, 1, 113883, 3.689. 2. 1. 1. 19" displayName="outcome”/>
<value xsiitype="CE" code="F.1,7" codeSysten="2. 16. 840. 1. 113883, 3,980.2. 1. 1. 11"7/>
{l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 980. 2. 1. 1, 19" displayName="medicalConfirmationByHealthProfessional™/>
{value xsi:type="BL" value="true"/>
¢l~= B.i.8: Medical Cenfirmstiion by Healthcare Professional #2 —>
{/observaticn> '
¢/outboundRalationship2>
{outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVNT>
¢eode code="11" codeSystem="2, 16, 840. 1. 113883. 3. 98%. 5. L. 3. 2. L. 10" displayName="3K50 - BE&n"/>
¢value xsiitype="CE” code="]2.14,1" cedeSysten="2.16.840. L. 113883, 3,989.5.1,3,2. 1.8"/>
<l— @eajz. 14. i F4p - BEl 42 — :
{/obssrvation>
</outboundRelationship2>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ™>
{ohservation classCode="0BS” moodCode="EVN">
{id root="3a8626ch-9f1b-4ea8-BaOf~e0ff34430adf” />
{code code="29" codeSystem="2, 16. 840, 1, 113883. 3.589. 2. 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:types"IVL_TS™
Cwidth value="24" unit="E.i.6b"/>
<|— E.i.6a’ Duration of Reaction / Event (number) #3 -->
¢!-— E. i.6b: Duration of Reaction / Event {(unit) #3 —>
<high value="20101201"/>
¢l~— B.1.5! Date of End of Reaction / Event #3 —>
{feffectiveTine)>
<value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16, §40. 1. 113883. 6. 163" cndeSystemVersion="E.i.2.1a">
¢l E.i.2.12: MedDRA Version for Reaction / Event #3 —> .
€l-- B.1i.2.1b: Reaction / Event (MedDBRA code) #3 > :
<eriginalText language="E, i, 1, 1b"JE.i. L. la{/originalText>
{!— E.i. L. la: Reaction / Event as Reported by the Primary Source in Native Language #3 -—>
¢!-= E, i. [. Ib: Reaction / Event as Reported by the Primary Saurce Language #3 —>
</value>
<location typeCode="LOC™>
¢locatedEntity classCode="LOCE™
{loeatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSystewm="1,0.3166.1,2.27/>
¢{l—— E.1.9: Identification of the Country Where the Reaction / Event Occurred #3 —>
¢/locatadPlace>
{/lacatedEntity>
</location?
{outboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN™>
{code code="30" codeSyster="2. 16, 840, 1. 113883, 3,989, 2, 1, 1. 19" displayName="reactionPorTranslation”/>
{value xsi:type="ED">E. i.l.2¢{/value>
¢!— E.1i.1.2: Reaction /.Event as Reported by the Primery Source for Translation #3 ~=>
¢/observation?
<foutboundRelationship2>
<outbeundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="E¥N™>
Ccode code="37" codeSystem="2. 16, 840, 1. 113883, 3,989. 2. 1. 1, 19" displayName="ternHighlightedByReporter”/>
¢value xsi:type="CE" code="E.1.3.1" codeSystem="2, 16, 840. 1. 113883.3.989.2. 1, L 10/>
¢l— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/obsexvationd>
</outboundRelationshinZ>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. L. 1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢f~— E.i.3.2a: Results in Death #3 —>
</vubgervation>
{/outboundRelationship2>
<cutboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
¢code code="21" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢!-- E.i.3.2b: Life Threatening #3 --> .
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{/observation>
</outbhoundRelat icnship2>
{outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS"™ moodCode="EYN™>
{code code="33" codeSystem="2. 16, 840, 1, 113883, 3. 989 2,1.1.19" displayName="requiresInpatientHospitalization”™/>
<value xsi:type="BL” value="true”/>
¢l-- E.1i.3.2¢: Caused / Prolenged Hospitalisation #3 -=>
{/abservation
<foutboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" wmoodCode="EVN">

¢eode code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 197 displayName="resultsInPersistentOrSignificantDisability”/>

{value xsi:type="BL” nullFlaver="NI"/>
¢]l— BE.i.3. 2d: Disabling / Incapacitating #3 —>
{/chservation> )
{/outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2.16. 840. 1. 113883, 3. 989 2.1 1. 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsiitype="BL" nullFlavor="NI"/>
¢l— B.1.3.2e: Congenital Anomaly / Birth Defect #3 -—>
{/observation®
¢/outboundRelationship2>
CoutbotndRelaticnship? typeCode="PERT™>
{ebservation classCode="0BS" mocdCode="EVN™>
{code code="26" codeSysten="2. 16, 840, 1, 113883, 3. 989.2. 1. 1. 19" displayName="otherMedicallyImpertantCenditicn™/>
Cvalue xsi:type="BL" value="true”/>
¢1— E.i,3.2f: Other Medically lmportant Condition #3 —>
{/chservation>
{/outhoundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<gode code="27" codeSysten="2. 15, 840, 1. 113883, 3. 989, 2. L. 1. 197 dlspleyName- outcome” />
<value xsi!type="CE" code="E.i.7" codeSystew="2.18. 840, 1. 113863.4.989,2. 1. L. 11°/>
¢!— E.i,7: Outcome of Reaction / Event at the Time of Last Observation #3 ~—>
{/ohservation>”
¢/outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>
¢code code="24" codeSysten="2, 16, 840. L. 113883, 3, 980. 2. 1, 1. 19” displayName="" medicalConfirmationByHeal thProfessional”/>
¢value xsittype="BL™ value="true”/>
¢!— E. i, B8: Medical Confirmation by Healthcare Profess1ona1 #3 —>
{/abservation>
{/outboundRelaticnship2>
CoutboundRelationship? typeCode="PERT">
{observation classCode="0BS" maodCode="EVN™>
<code code="11" codeSystem="2. 16. 840, 1. 113883, 3. 989.5. 1. 3.2, 1. 10" displayName="32fn - BEgn” >
<value xsi!type="CE" code="]2,14.1" :adeSystem='2.16.340.l.113883.3.989.5.1.3.2.1.8'/)
<l 8@aJ2. 14. i K& - BEw #3 —>
{/observation>
</nuthoundRclat1onsh1p2)
{/cbservatian>
{/subject0f2>
¢subjectOf2 typeCade="SB]™>
{observation classCode="0BS"™ mooadCode="EVN™>
{id reot="2e99840f-08bd-499¢-80Ff-dd8415F4f8a5" />
<code code="29" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="SXPR_TS™>
Ccamp xsiitype="IVL_TS"> ‘
<lew value="200901017/>
¢1— EB.i.4: Date of Start of Reaction / Event #4 —>
<high value="201012017/
¢l-- B.1,5: Date of End of Reaction / Event #4 -->
{/comp>
{comp Xxsi:type="IVL_T5" aperater="A">
<width value="24" unit="E. i.6b"/>
¢|— EB.i.6a: Duraticn of Reacticn / Bvent (number) #4 -=>
¢— B, i.6b: Duration of Reaction / Event (unit) #4 -->
</conp>
¢/effectiveTimed
<value xsi:type="CE" code="E.i.2.1b" codeSystem="2.16, 840.1.113883, 6, 163" codeSystenVersion="E. i. 2. 1a™>
¢}~ E.i.2.1a: MedDRA Version fer Reacticn / Event #4 —>
¢<]— E.i.2.1b: Reaction / Event (HedDRA code} #4 —>
<eriginalText language="E.1i. L. 1b">E. i, 1. la{/originalText>
¢l~ E.i.l.1a: Reaction / Event as Reported by the Primary Source in Native Language f#4 —>
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¢!— E.i.1.1b! Reaction / Event as Reported by the Primary Source Language {4 —>
</value>
{location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
{lacatedPlace classCode="COUNTRY” determimerCode="INSTANCE™>
{code code="E.i.9" codeSystem="1.0.3166.1.2.27/>
¢l— B, 1i.9: Identification of the Country Where the Reaction / Event Qccurred #4 -—>
</locatedPlace)>
</locatedEntity>
</locationd
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code cade="30" codeSystem="2, 16. 840, 1. 113883, 3,989.2. 1. 1. 19 displayName="" reactionForTranslatlon >
<value xsi:type="ED7DE, i, I, 2¢/value>
¢!— E.i.1.2: Reaction / Event as Reported by the Priwary Source for Translation 4 ~—>
{/observaticn>
¢/outboundRelationship2>
{outboundRelationship? typeCede="FERT™>
{ohservation classCode="0BS" moodCode="EVN">
Ccode code="37" codeSystem="2, 16, 840 1. 113883, 3, 989, 2, 1, 1, 19" displayName="ternHighlightedByReporter”/>
{value xsiitype="CE” code="E.i.3,1" codeSystem="2. 16.840. 1, 113883, 3, 98%. 2. 1. L. 10"/>
¢l— E.i.3. 1:Term Highlighted by the Reporter #4 —>
{/chservation>
</outboundRelaticnship2>
¢outbaundRelationship? typeCode="PERT™>
{observation classCode="0B5" moodCade="BVN™>
<code code="34" codeSysten="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1, 19" displayName="resultsInDeath”/>
{value xsi!type="BL" value="true”/>
¢{!— B.i.3 2a; Results in Death #4 ——>
{/observation>
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
Ccade code="21" codeSysten="2. 16. 840. 1. 113883, 3, 989, 2, 1, 1, 19" displayName="isLifeThreatening”/>
<value xsiitype="RL" nullFlaver="NI"/>
{l— B.i.3.2b: Life Threatening #4 —>
{/observation> . ’
</ottboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. 1. 1. 197 displayName="requiresInpatientHospitalization™/>
<value xsi:type="BL" value="true”/>
{l— E.1i.3.2¢: Caused / Prolonged Hospitalisation #4 —>
{/cbservation>
</outhoundReletionship2>
<outboundRelationship? typeCode="PERT™>
Cobservation classCode="0R5" moodCode="EVN™>
<code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. L. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi!type= "BL” nullFlaver="NI"/>
<|— B.i.3.2d: Disabling / Incapacitating #4 =->
{/observation>
</outboundRalationship2>
<outboundRelationship? typeCode="PERT" >
<observation classCode="0B3” moodCode="EVN™>
{code code="F2" codeSysten="2. 16. 840. 1. 113883, 3. 989, 2, 1 1, 19" displayNamo="congeni talAncmalyBirthDefect”/>
{value xsi:type="BL" nullFlaver="NI"/>
" ¢|— B.i.3.2¢: Congenital Anomaly / Birth Defect #4 —>
{/vbservation>
¢/outboundRelatjonship2>
{outboundRelationship? typeCode="PERT">
Lobservation classCode="0BS" mocdCode="EVN™)>
{code code="26" codeSystem="2, 16. 840. I. 113883, 3. 989. 2. 1. 1. 19" displayName=" otherMedical1yImpnrtantCnnd1t1nn />
{value xsi:type="EL” value="true”/>
¢l== B, i.3.2f: Other Medically Importent Condition 4 —>
{/observationd’
</autboundRelationship2>
{outbouridRelationship2 typeCode="PERT™> .
{chservation classCode="0BS" moodCode="EVN">
<code code="27" codeSystew="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1, 197 displayName="outcome”/>
<value xsittype="CE" code="E.i.7" codeSystem="2, 16, 840, 1, 113883. 3. 988. 2. 1. L. 11*/>
¢l— E, i, 7: Outcome of Reaction / Event at the Time of Last Observation #4 —>
{/observation>
</outboundRelationshipZ>
CouthoundRelationship? typeCode="PERT">
{chservation classCode="0BS" moodCode="EYN™>
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¢code code="24" codeSysten="2. 16. 840, 1. 113883, 3, 989. 2, 1, 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true"/> :
¢l— E.i.8: Medical Confirmation by Healthcare Professienal #4 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS* moodCode="EVN">
<eode code="11" codeSysten="2. 16, 840. 1. 113883, 3. 989. 5. 1. 3. 2. L. 107 displayName="341 - EEn"/>
¢yalue xsiitypes"CE” code="J2. 14. 1" codeSystem="2. 16,840, 1. 113883.3.980.5.1.3.2. 1. 8" />
{I-- @eaaJ2. 14. 1 K& - BEE #4 —>
¢/observation?
</outboundRelationship2
{/observation>
{/subjectDf2>
<subject0f2 typeCade="SBJ">
{observation classCode="0BS" moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f0ddbTeabd" /> .
<code code="29" codeSystem="2. 16. 840, 1. 113883. 3. 89, 2. L. 1, 19* displayName="reaction”/>
CeffectiveTime xsitype="IVL_TS™>
{low value="20090101"/>
¢l=— E.1i.4: Date of Start of Reaction / Event #5 —
</effectiveTime> .
<value xsi:type="CE” code="E.1.2.1b" codeSystem="2.16,840, 1, 113883. 6. 163" codeSystemVersion="E. i. 2. la™>
¢lu= B i 2 la: MedDRA Version for Reactian / Event #5 —>
¢}— B.i.2.1b: Reaction / Event (MedDRA code) #5 —>
{originalText language="E.i 1. Eh™>B. i I, la¢/originalText>
{1— E.i.l.la: Reaction / Event as Reported by the Primary Source in Native Language #5 -->
¢1—— E.1i.l.1b: Reaction / Event ms Reported by the Primary Source Language #5 -->
</value> ‘
<location typeCode="LOC™> .
{lotatedEntity classCode="LOCE™
¢lacatedPlace ¢lassCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E,i.9" codeSystew="1. 0. 3166.1,2.27/>
¢l~=- E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
</locatedPlace?
{/locatedEntity> '
¢/location? :
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="30" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2, 1, 1. 19" displayName="reacticnForTranslation”/>
¢value xsi:type="ED"DE.i. 1, 2¢/value> .
{l—- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 —>
</observation>
</outhoundRelationship2>
{cutboundRelationship? typeCode="PERT"™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="37" codeSystem="2. 6. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="ternHighlightedByReportor™/>
<value xsi:type="CE" code="E.1i,3.1" codeSystem="2.16.840. 1. 113883, 3.989.2. 1. 1. 10°/>
¢]— B.i.3, 1:Term Highlighted by the Reporter 5 —>
{/cbservation>
</vuthaundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCade="EVN">
{code code="34" codeSystem="2. 16. 840. 1, 113883, 3. 589, 2, L, 1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL* value="true”/>
<!— B.i.3.2a: Results in Death #5 -->
{/observation>
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="21" codeSystem="2. 16. 840. 1. 112883, 3. 089, 2. 1. 1. 19" displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlaver="NI"/>
<|-~ E.1i.3.2h: Life Threatening #6 ——>
</observationd
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{ehservation classCode="0BS" moodCode="EVN")
<code code="33" codeSysten="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 18" displayName="requiresInpatientHospitalization™/>
<value xsiltype="BL” value="true”/>
¢l-— E.i.3.2c: Caused / Prolonged Hospitalisaticn #5 —>
</observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
Cchservation classCode="0BS" moodCode="EVN™>
¢code code="35" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>

.
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<value xsiitype="BL” nullFlavor="NI"/>
<l— E.i.3,2d: Disabling / Incapacitating #6 —>
{/observation?
</outboundRelationship2>
<outhoundRelationship? typeCodes”PERT™>
<observation classCode="0BS” moodCode="EWN">
<code code="12" codeSystem="2. 16. 840, 1, 113883. 3. 989, 2. L. 1, 19" displayName="congenitaldnamalyBirthDefect”/>
<value xsi:type="BL" pullFlaver="NI"/>"
(}—- E.i.3.2e: Congenital Ancmaly / Birth Defect #5 —>
</observation)
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16. 840. 1. [13683, 3,989, 2. 1. 1. 197 displayName="otherMedicallylzportantCondition™/>
<value xsiitype="BL” value="true”/>
¢le~ E.i.3.2f: Other Medically Important Conditfion #5 —>
</observation> ’
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCede="0BS" moodCode="EWN">
¢code code="27" codeSystem="2, 16, B40. 1. 113883. 3. 989, 2. 1, 1, 19" displayName="outcome”™/>
{value xsi:type="CE” code="E.i.7" codeSystem="2. 16.840.1.113883,3.989.2.1.1.11"/>
<l=~ E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
</observationd
{/outboundRelationship2>
<outboundRelatienship? typeCede="PERT™>
<chservation classCode="0BS" moodCode="EVN">
¢code code="24" codeSystem="2, k6, 840, 1. 113883. 3, 989,2,1,1,19" dxsplayNarue- medicalConfirmationByHesl thProfessional”/>
<value xsi:type="BL" value="true”/>
{l-- E.1i,B: Medical Confirmation by Healthcare Professmnal #5 —
</obsarvation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observaticn classCode="0BS" moodCode="EYN™>
leode code="11" codeSystem="2, 16. B40. 1. 113883. 3, 889, 5.1, 5. 2. 1. 10" displayName="3j240 - EE&D />
<value xsiitype="CE” code="J2.14.1" codeSystem="2. 16,840, 1. 112883.3.989.5.1.3.2. 1.8"/>
I~ @BRY2. 14.1 34N - BEXN #5 —> ’
</observation>
</outboundRelationship2>
{/observation>
{/subjectDf2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN™>
¢id root="1f927283-10b6-4334-9d43-e925640£b18F" />
{code code="29" codeSystem="2. 16. 840, 1, 113883. 3. 989, 2, 1, 1, 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_T5">
. <high value="20080101"/>
<!-- E. i, 4: Date of Start of Reaction / Event #6 —>
{/effectiveTime> .
Cvalue xsiitype="CE” code="E. i.2. 1b" codeSystem="2.16.840. L. 113883, 6. 163" codeSysterVersion="E.i.2.1a™>
¢l-- E.i.2 la: MedDRA Version for Reaction / Bvent #6 —>
{lw= BE.i.2. 1lb: Reaction / Bvent (MedDRA code) #6 —>
CoriginalText language="E, i.l.lb"JE. i. 1. la{/originalText>
<l— B.i. . la! Reaction / Event as Reported by the Primary Source 1n Native Language §8 =-=>
¢l— E.i.1. lb: Reaction / Event as Reported by the Primary Source Language #6 ——>
¢/value>
<location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
¢logatedPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="E: i.9" codeSystem="1,0.3156.1.2.27/>
¢l— B.i,9: Identification of the Country Where the Reaction / Event Occurred #6 —>
{/locatedPlace>
{/locatedEntity>
" ¢/location’
{outboundRelationship? typeCode="PERT">
{observation ¢lassCode="0BS" moodCode="EVN">
<code code="30" codeSystem="2.16.840. 1. 113883. 3, 988. 2. 1. 1. 19" - displayName="reactionForTranslation”/>
<yalue xsi:type="ED7E.i. 1. 2{/value>
<{!— B.i.1.2: Reaction / Event as Reported by the Primary Source for Translatien #6 —>
{/observation>
</outboundRelationship2>
<outbbundRelationship? typeCode="PERT">
{observation classCeds="0BS" moodCode="EVN"™>
<cods code="37" codeSystem="2. 16, 840. 1. 113883, 3, 989, 2, 1. 1, 19" displayName="termilighlightedByReporter”/>
Svalue xsi:type="CE" code="E.i.3.1” codeSystem="2, 16.840. 1. 113883, 3. 989. 2. 1. 1. 10"/>
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{I— B.i,3, 1:Term Highlighted by the Reporter #6 -—>
{/ohservatiand
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
¢obgervation classCode="0BS” moodCode="EYN">

¢code code="34" codeSystem="2. 16, 840. L. 113883, 3, 989. 2. 1. 1. 19” displayName="resultsInleath”/>

¢value zsi'type="BL" value="trues"/>
<I— B.1.3.2a: Results in Death #6 —>
{/chservation?
¢/onthoundRelationshipZ>
¢ortboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="E¥N">

{code code="21" codeSystem="2, 16. 840. 1. 113883, 3,989.2.1.1. 197 displayName="isLifeThreatening”/>

<value xsi:type="BL” nullFlavor="NI"/>
¢]-- E.i.3.2b! Life Threatening #6 —>
{/observation>
</outboundRelationshipn2>
CoutboundRelationship? typeCode="PERT™>
<ohservation classCede="0BS" moodCode="EVN">
{code code="33"
{value xsiltype="BL" value="true”/>
¢l-— B i.3.2c: Caused / Prolonged Hospitalisation HE —=>
{/observation’
</outboundRelationship2>
<outboundRelationship2 typeCode="FERT">
{observation elassCode="0B5" mocdCode="EVN">
{code code="35" codeSysten="2. 16, 840, 1. 113883. 3. 989, 2 1.1.197
<value xsi!type="BL" nullFlavor="NI"/>
¢l— E.i.3,2d: Disabling / Incapacitating #6 —>
{/chservation>
¢/outboundRelat ionship2>
¢outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode=TEVN™>

Ccode code="12" codeSysten="2. 16, 840, 1. 113883.3.989. 2. 1. 1. 13"

{value xsi:type="BL" nullFlavor="NI"/>
¢l— E.i.3.2e: Congenital Anemaly / Birth Defect #6 —>
{/ocbservation?
</outboundRalationship2>
<outhoundRelationship? typeCade="PERT™>
{observation classCode="0BS” moodCode="EVN™>

¢code code="26" codeSysten="2. 16,840, 1, 113883.3.989,2, 1. 1. 19"

<value xsiitype="BL" value="true”/>
{l— E.1i.3. 2f: Other Medically Important Condition #6 —>
{/observation> .
</outhoundRelationship2> )
{outbeundRelationship2? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>

{code code="27" codeSystem="2, 16, 840.1, 113883. 3.989. 2. 1. 1. 19"

codeSystem="2. 16. 840, 1. 113883, 3. 988. 2, 1. 1, 19"

displayName="TequiresInpatienfHospitalizaticn”/>

displayName="resultsInPersistentOrSignificantDisability”/>

displayName="congenitalAnomalyBirthDefest”/>

displayName="otherMedicallyImportantCondition®/>

displayName="outcome”/>

<value xsi:type="CE" code="E.i.7” codeSystem="2.16.840, ], 113883.3.889.2.12. 1. 11/>
¢l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 —>

{/observation>
</outboundRelationship?>
¢outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>

{code code="24" codeSystem="2. 16, 840, 1. 113683. 3. 98¢, 2, 1, 1,197

{value xsiitype="BL™ value="true”/>

displayName="medicalConfirmationByHealthProfessional”/>

¢l— E.i.8: Medical Confirmation by Healthcare Professional #6 ——>

{/observalion>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="OBS" moodCode="EVN™>

<code code="11" codeSystem="2. 16, 840, 1, 113883. 3. 989, 5. 1. 3. 2. L. 10” d].splayName-—'ﬂEin Bmm s

<value xsi:type="CE" codes"]J2, 14.i"
<l-- @88J2. 14,1 XM - BEE #6 —>
{/observatian>
{/outboundRelationship2>
{/observation>
</subjectOf2>
{subject0f? typeCode="SB]">
{ohservation classCode="0BS" moodCode="EVN">
<id root="e0342569-38be—423f-b6bb-celdbe279d8e” />

codeSystem="2, 16. B40, 1. 113883, 3,989, 5.1.3.2. 1.8"/>

<eode code="28" codeSysten="2. 6. B4D, 1, 113883, 3. 989. 2. 1. 1. 19" displayName="reaction”/>

<effectiveTime xsi:type="IVL_TS™>
{width value="24" unit="E.i.6b"/>
¢!— B, i.6a: Duration of Reaction / Event (number) #7 —>
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¢|— E.i.6b: Duration of Reaction / Bvent (unit) #7 —>
</effectiveTime> :
Cvalue xsittype="CE" code="E, i, 2.1b" codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystewVersion="E. i.2. 1a"™>
¢1— E.1i.2.1a: HedDRA Version for Reaction / Event #7 —>
{l— E.1i,2.1b: Reaction / Event (MedDRA code) #7 ——>
CoriginalText language="E. 1.}, 1b™E. i. 1. la</originalText>
¢l— E.i.1.1a: Reacticn / Event as Reported by the Primary Source in Native Language K7 -—>
¢l— E.i.l.1b: Reaction / Event as Reported by the' Primary Scurce Language H7 -~>
</value>
<location typeCode="L0C™>
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE">
<code code="E, i.9" codeSystem="1.0, 3166, 1.2.2"/>
¢|— E.1.9: Identification of the Country Whera the Reaction / Event Occurred #7 —>
¢/locatedPlace>
{/locatedBEntity>
{/location>
{outhoindRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode®"EVN™>
<code code="30" codeSystem="2. 16. 840. 1. 113883, 3, 989.2. 1.1, 19" displayName="reactionForTranslation”/>
Cvalue xsi:type="ED">E i.1l.2¢/value
<|— B.1.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 —>
{/observaticn>
</outboundRelatjonship2>
<outboundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN™> )
(code code="37" codeSysten="2. 16. 840. 1. 113883, 3, 989. 2. L. 1. 197 displayName="terzHighlightedByReporter”/>
<value xsi:type="CE" code="E.1,3.1" codeSysten="2. 16. 840,1, 113883.3.989.2.1.1.10"/>
¢3— B.i.3 1:Term Nighlighted by the Reporter #7 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16.840. 1, 113883, 3. 989. 2. 1. 1. 19" displayName="resultsInDeath”/>
{value xsi!type="BL" value="true"/>
¢!— E.i.3.2a: Results in Death #7 —>
{/observation> ' '
¢{/euthaundRelationship2>
CoutbotndRelationship? typeCede="PERT*>
{ohservation classCode="0BS" moodCode="EVN"> ) . .
<code code="21" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayNane="isLifeThreatening™/>
<value xsi:type="BL” nullFlavor="NI"/> ’
¢]-— B.i.3.2b: Life Threatening #7 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="33" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 197 displayName="requiresInpatientHospitalization™/>
<value xsi:type="BL” value="true"/>
¢l— E.i.3.2c: Caused / Prolonged Hospitalisation §7 —>
</observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observatior classCode="0BS" moodCode="EVN™>
{code code="35" codeSystem="2. 16,840, 1, 113883, 3, 989.2, 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavor="NI"/> )
¢l— E, i.3, 2d: Disabling / Incapacitating #7 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> \
{ohservation elassCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16,840, 1, 113883, 3, 089, 2. 1. 1. 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsi!type="BL" nullFlavor="NI"/>
¢]— B.1i.3 2e: Congenital Anomaly / Birth Defect #7 —>
¢/ohservation>
</outbotndRelationship2>
<putboundRelationship? typeCode="PERT">
Cobservaticn classCodev"0BS” moodCode="EVN™>
{code code="26" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="otherMedicallyImportantCondition™/>
<value xsi:type="HL" value="true"/>
<l— B i.3.2f: Other Medically Important Condition #7 ~—>
{/observationd '
{/cutboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moedCode="EVN">
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¢code code="27" codeSystew="2. L6, 840, 1, 113883, 3. 085. 2. 1. 1. 19" displayName="outcome™/>
(value xsiitype="CE* code="E.i.7" codeSysten="2.16.340. 1 113883.3.989.2. 1. 1. 117/>
¢!— B.i.7: Outcome of Reaction / Event at the Time of Last Observation §7 —->
{/ohgervation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™> '
{observation classCode="0BS" moodCode="EVN™>
<cede eode="24" codeSystem="2.16. 840. 1. 113883, 3,989, 2, 1, 1. 19" displayName="nedicalCenfirmationByHealthProfessienal™/>
<value xsi:type="BL" value="true"/>
¢l=~ E.i.8: Wedical Confirmation by Healthcare Professional #7 —>
{/observation>
¢/outboundRelationship2>
{outheundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS” moodCode="EVN™>

<code code="11" codeSystem="2, 16. 840 1. 113883, 3. 989. 5. 1. 3.2, 1, 10" displayName="3k4n - BESN"/>
{value xsiitype="CE” code="]J2.14.i" codeSystem="2, 16.840. 1. 113883. 3, 989. 5. 1. 3. 218/
<l-~ @80)2. 14. 1 R& - B 87 —>
</dbgervation>.
</outboundRelationship2>
{/observation?
{/subject0fz>

{subjeet0f2 typeCoda="SBJ™>
{ohservation classCode="CBS” moodCode="EVN™>
<id root="al5be092-80T0—426d-af04~E863263443e07/>
{eode code="29" codeSystem="2. 16.B40. I, 113883, 3. 989, 2. 1. 1, 19" displayName="reaction”/>
{effoctiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS™>
<lew value="20090101%/>
¢l-- E.i.4: Date of Start of Reaction / Event #8 -—>
<width value="24" unit="E, 1i.6b"/>
¢!— B.i,6a: Duration of Reaction / Event (number) #8 —>
¢!— BE.i,6b: Duration of Reactian / Event (unit} #8 —>
</comp>
<comp Xsi:type="IVL_TS" operator="A">
<high value="201012017/>
¢l— E.i.5: Date of End of Reaction / Event #8 —>
{feonp>
{feffectiveTime>
¢value xsiltypes"CE” code="E.i.2.1b" codeSystem="2. 16.840, i, 113883. 6. 163" codeSystemVersion="E.i.2.1a"™>
<l—— E.i,2 1a: MedDRA Version for Reaction / Event #8 —>
¢l-- E.i.2.1b: Reaction / Event (MedDRA code) #8 —>
¢originalText language="E. i, }. 1b™>E. i. 1. la{/eriginalText>
¢{I— E.i.1,1a: Reaction / Bvent as Reported by the Primary Source in Native Language #8 —>
¢lew E.i.1.1b¢ Reaction / Event as Reported by the Primary Source Language #3 —>
</value>
<location typeCode="LOC™>
{locatedEntity classCode="LOCE™> -
(locatedPlace classCode="COUNTRY™ determinerCode="INSTANCE™>
<code code="E.i.9" codeSystem="1.0.3166.1.2.2"/>
¢{|— E.i,9: Identification of the Country Where the Reaction / Event Occur:red H —>
{/lacatedPlace>
{/lacatedEntity>
{/location>
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="30" codeSystem="2.16840.1. 113883, 3.989.2.1.1.197 dlsplayName— reactionFarTranslation”/>
Cvalue xsi:type="ED"JE.i. L 2¢/value>
{l== E.i.1.2: Reaction / Event as Reported by the Primary Seurce for Translation #8 —=>
</observatian® '
{/outboundRelationship2> .
<eutboundRelationship? typeCode="PERT"> :
{ehservation classCode="0BS" moodCode="EVN">
<code code="37"" codeSystem="2. 16, B40. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="ternHighlightedByReporter”/>
¢value xsiitype="CE” code="E.i.3.17 codeSystem="2. LG, 840. 1. 113883, 3.589.2. 1. 1. 10"/>
¢{I— B.i.3, 1:Term Highlighted by the Reporter #8 --> .
{/observation>
</outboundRelationship2> )
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="restltsInDeath™/>
(value xsi:type="BL" value="true”/»
¢l—- B.i.3.2a: Results in Death #8 -->
{/observation>
</cutboundRelationship2>
{outboundRelationship? typeCode="PERT™>
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{observation classCode="0BS” mcodCode="EVN™>
<code code="21" codeSystew="2. 16. 840. 1, 113883, 3, 980. 2. 1. 1. 19" displayName="isLifeThreatening™/>
¢value xsi!type="BL” nullFlaver="NI"/>
¢l—- E.i.3.2b:. Life Threatening #8 —>
</observation>
</outhoundRelationship2>
<otrthoundRelationship? typeCode="PERT">
{abservation classCode="08S" moodCode="EYN™> .
<code code="33" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="requiresInpatientHospitalizatien”/>
Cvalue xsi:type="BL” value="true"/>
¢!— B.i.3.2c: Caused / Prolonged Hospitalisation #8 —>
{/observation> .
</outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode=“0BS" moodCode="EVYN™>
{code code="35" codeSystem="2, 16, B40. 1. 113883. 3. 989. 2. 1, 1, 18" displayName="resultsInPersistentOrSignificantDisability”/>
" ¢value xsiitype="BL” nullBlavor="HI"/>
¢l== E.i,3.2d: Disabling / Incapacitating #8 —>
</observation> :
</outboundRelaticnship2>
{outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS™ moodCode="EVN™>
¢eade code="12" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19* disployName="congenitalAnomalyBirthDefect™/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l=-- E.i.3.2e: Congenital Ancmaly / Birth Defect H#8 ——>
{/observation’ ’
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{eode code="26" codeSystem="2, 16, 840, 1. E13883. 3. 989. Z. L, 1, 19" displayName="otherMedicallyImportantCondition”/>
{value xsi:types"BL” value="true”/>
¢l== E.i.3.2f: Other Medically Inportant Condition #8 —>
{/observation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moddCode="EVN™>
¢code code="27" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayNeme="outcoms”/>
Cvalue xsi:type="CB” code="E.i.7" cadeSystem="2.16. 840. 1, 113883, 3,989, 2.1.1.117/>
¢l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —>
<fobservatian> '
</outboundRelationship2> .
{outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN"> ,
Ccode code="24" codeSysten="2, 16,840, 1. 13883, 3, 989. 2. L. 1. 19" displayName="medicalConfirmationBylealthProfessional”/>
{value xsi:type="BL" value="true”/> .
¢|— B.i.8: Modical Confirmation by Healtheare Professional #8 —>
{/chservation>
</outboundRelationship2>
<putboundRelationship? typeCode="PERT™>
{observation classCede="0BS" moodCods="EVN™>
<eode code="11" codeSystem="2, 16, 840. L. 113883, 3. 989, 5, 1. 3. 2. 1. 107 displayName="3f#n « BE4"/>
Cvalue xsiitype="CE” code="J2.14,i" codeSysten="2. 165, 840. 1. 113883.3.989.5.1.3.2. 1.8"/>
{|— @@8J2. 14. i k40 - BEAN #8 —>
{/ohservation)>
</outboundRelationship2>
{/observation>
</sub jectOf2> -
{subject0f2 typeCode="5BJ">
{organizer classCode="CATEGORY” moodCode="EYN™>
¢eode code="3" codeSysten="2. 16, 840, 1, 113883. 3. 989. 2. L, 1. 20" displayName="testsAndProcedureshelevantToThelnvestigation™/>
{component typeCode="COMP“> ) '
{abservation classCode="0BS" mooadCode="EVN™>
<code code="F.r.2 2b" codeSystem="2. 16, 840, 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a">
¢l-= F.r. 2.2a! MedDRA Version for Test Name #I —>
¢{l— F.r.2,2b: Test Name (MedDRA code) #1 ~—>
CoriginalText)F, r. 2. 1{/originalText>
{l— F.r.2.1: Test Name (free text) #1 -->
<feodel
{effectiveTinme value="200901017/>
¢l— F.r.1: Test Date #1 >
<value xsi:type="IVL_PQ™>
{center value="10" unit="mg/di"/>
{I— P.r.3.2: Test Result (value / qualifier) #1 —>
¢l— B, r, 3 3: Test Result (unit) #1 —>
</value>
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{interpretationCode code®F.r.3.1" codeSystem="2.16. 840, 1. 113883, 3,989.2. 1. 1. 127/>
{l— F.r.3.1: Test Result {code) #1 ~—>
(referenceRange typeCode="REFV">
<observationRange classCode="08%" moodCode="EVN.CRT™>
<value xsi:type="PQ” value="40" unit="mg/d1"/>
¢1— F.r.4: Normal Low Yalue f#i1 —>
(interpretationCode cede="L" codeSystem="2.16, 840, 1, 113883. 5. 83°/>
{/cbservatisnRange>
</referenceRange>
{refercnceRange typeCode="REFY™>
{observationfange classCode="0BS  moedCede="EVN, CRT™>
<value xsiitype="PQ" value="110" unit="mg/d1"/>
{l— P, r.5: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2, 16, 840. 1. 113883. 5. 837/>
¢/observationRange>
{/referenceRange>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystem="2. 15. 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="comment”/>
Cyalue xsi:type="ED")F.r.6</value>
<l~- F.r.6: Comments (free text) #1 —>
{/obsexvation> .
¢/outboundRelationship2>
{outhboundRelationship2 typeCode="REFR™>
{obgervation classCode="0BS" mocdCode="EVN"> s
<code code="25" codeSystem="2. 16. 840, 1, 113883. 3, 989, 2. 1, 1. 197 displayName="moreInformationdvailable”/>
{value xsi!type="BL™ value="truc”/>
¢|—F.x.T: More Information Available H1 -=>
{/observation>
</outboundRelationship2>
{/observation>
</component> .
{component typeCode="COMP™>
{observation classCode="0BS* moodCode="EVN™>
{code code="F.r.2. 25" codeSystem="2. 16.840. 1. 113883. 6. 164" codeSystemVersion="F. 1.2, 2a™>
<l-— F.r. 2. 2a: MedDRA Version for Test Name H2 ——>
¢l— F.r,2. 2b: Test Name (MedDRA code) H2 —>
{originalTextdF. r.'2. t¢/eriginalText>
{l— P.r.2.1: Test Name (free text) #2 —>
</coded
{effectiveTime value="20090101°/>
<l— F.r.1: Test Date #2 —>
(value xsi:types"IVL_PQ™>
<low nullFlavor="NINF"/>
<high value="106“ unit="mg/dl” inclusive="false”/>
</value>
<l— F.r.3.2: Test Result (value / qualifier) #2 —>
{Ju= F.r.3.3: Test Result (unit) #2 —
A— LT 10 mg/dl #2 —>
{/obgervation>
{/component>
{component, typeCode="COMP">
{ohservation classCede="0BS™ moodCode="EVN™>
¢coda code="F.r, 2.2b" codeSystem="2, 16. 840, 1. 113883, 6, 163" codeSystemVersion="F.r.2.2a">
{lw= F,r 2.2a: MedDRA Version for Test Name #3 —>
{I— F.r.2.2b: Test Name (MedDRA code} #3 ——>
<originalText>F, r. 2. 1</originalText>
{l— R.r.2 1: Test Name (free text) #3 —>
{/code>
LeffectiveTime value="200901017/>
{l~— F.1. 1! Test Date #3 -->
<value xsi:type="IVL_PQ™> —
<low nullFlaver="NINF"/>
<high value="10" unit="pg/dl” inclusive="true”/>
</value>
<l— F.r.3.2: Test Result (value / qualifier) #3 —>
&l=~ F.r.3.3! Test Result (unit) #3 —>
<}~ LE 10 mg/dl #3—>
</observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
¢code code="F.r. 2. 24" codeSysten="2. 16.840. 1, 113883, 6. 163" codeSystemVersion="F.r. 2. 2a™>
¢l— P.r.2 2a: MedDRA Version for Test Name #4 —>
¢l— F.r.2 2b: Test Name (MedDRA code} #4 —>
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(eriginalText>F, r, 2, 1¢/original Text>
¢l— F.r.2 1: Test Name (free text) #4 —>
</eode>
<effectiveTime value="200901017/>
¢I— F.r.1: Test Date 4 —>
Cvalue xsi:type="IVL_PQ™>
<low value="10" unit="mg/dl” inelusive="false”/>
<high nullFlavar="PINF"/>
¢/value>
<l-- F.r.3.2: Test Result (value / qualifier) k4 —>
{l— F.r.3,3: Test Result (unit) #4 —>
== GT 10 ng/dl #4 —>
{/observation>
{/component’
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="F.r.2. 20" codeSysten="2. 16.840. 1, 113883, 6. 163" codeSystemVersion="F.r. 2, 2a™>
¢l~— B, r.2. 2a: WedDRA Version for Test Name $5 —> ,
{l-- B.r.2 2bi Test Name (ModDRA code) HS —>
{originalText>F. r. 2, 1<{/original Text>
{{— F.r.2.1: Test Name (free text} #5 —>
{/coded
LeffeetiveTine value="20090101%/>
¢l— F.r.1: Test Date #5 —>
{value xsiitype="IVL_PQ™>
¢low value="10" unit="mg/d1” inclusive="true"/>
<high nullFlaver="PINF"/>
{fvalued '
¢l— F.r.3.2; Test Result (value / qualifier) #5 —>
¢<!— F.r, 3.3 Test Result (unit) #5 —>
(!— GE 10 mg/dl H#5 —>
{/observation>
</component>
Scomponent typeCode="COMP">
{observation c¢lassCode="0BS™ moodCode="EVN">
¢code code="F.r.2.2h" codeSysten="Z. 16. 840. 1, 113883. 6. 163" codeSystemVersion="F.r. 2. 2a™>
¢lew F,r.2 2a: MedDRA Version for Test Name #8.—>
¢l— F.r. 2. 2b: Test Name (ModDRA code) H6 —>
{originaiText>F. r. 2. 1¢/originalText>
¢!— F.r.2,1: Test Name (freec text) #6 —>
</coded
{effectiveTime value="20090101"/>
<l-- F.r.1: Test Date #6 —>
{value xsi:type="ED"JF.r.3.4¢/value>
¢l— F,r.3.4: Result Unstructured Data (free text) #6 —>
{/observation>
</component?
</organizer>
{/subjectdf2>
{subject0f2 typeCode="SBJ">
Corgenizer classCode="CATEGORY” moodCode="EVN™>
¢coda code="4" codeSystem="2. 16, 840, 1. 113883, 3, 080, 2. 1, 1. 20" displayName="drugInformation”/>
{l== 6.k Drug{s) Information (repeat as necessary) #1 -->
{compohent typeCode="COWP™>
¢substanceAdministration classCode="SBADM™ moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-0c30-67671b0efIed” />
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
<kind0fPraduct classCode="MMAT" determinerCode="KIND">
<code code="6.k. 2. 1. 1b* codeSysten="TBD-MPID" codeSystemVersion="G.k.2.1.1a"/>
¢4— 6.k 2, 1. 1a: MPID Version Date / Number #1 —>
¢1— G. k.2. 1. 1b: Medicinal Product Identifier {MPID) #1 —>
{name>G, k. 2. 2{/nane>
¢~ G.k.2. 2! Medicinal Product Name as Reported by the Primary Source #1 —>
{asisnufacturedProduct classCede="MANU">
<gubjectOf typeCode="SBJ">
<approval classCode="CNTRCT” meodCode="EVN">
<id extension="G.k. 3.17 root="2. iG. 840. 1. [13883, 3,989, 2, 1.3.4"/>
¢l— 6.k 3. 1! Authorisation / Application MNumber 1 —>
<author typeCode="AUT™>
(territorialAuthority classCode="TERR"> .
{territory classCode="NAT" determinerCode="INSTANCE™>
{code code="G, k. 3.2 codeSystem="1. 0. 3166, 1.2.2"/>
{l— 6.k 3.2: Country of Authorisation / Applicatien $1 —>
{/territory?
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{/territorialAutherity>
{/author>
{pertinentinformation typeCode="PERT™>
<policy classCode="POLICY" moodCode="EVN™>
{code code="J2.5.k" codeSysten="2. 16. 840, 1. 113883.3.989. 5.1, 3,2, L. 4"/>
<1— 888]2.5.k: —MBERASTOY A/ENE #l —
</pelicy>
</pertinentInformation>
{/approval
</subjectOf>
{subjectOf typeCode="SB]">
{characteristic classCode="0BS" moodCode="EVN™>
Ceode code="1" codeSystem="2. [6. 840. 1. 113883. 3. 89,5, 1. 3,2, 1, 10" displayName="3fERAHF ORRE ",
¢value xsi:type="CE” code="J2.4.k" codeSystem="2. 16.840.1.113883.3,989.5.1.3.2. 1.3 Wl
<i-- 888J2. 4. k: FEEHFORRILE #1 —>
</characteristic>
</zub ject0f>
¢/asManufacturedProduct>
¢asSpecializedKind classCode="GEN™
{generalizedMaterialKind classCode="MAT" determinerCodes"KIND™>
{code>
CoriginalText>J2. 12</originalText>
<I—- @8J2.12: RBMEAF —
¢/caded .
{/gencralizeddaterialKind>
</asSpecializedKind>
{ingredient classCode="ACTI™>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b7/>
<l— G.k. 2.3, 1. 3a: Strength (nusher) #i-1 —>
¢l—= G.k.2.3.r.3b: Strength (unit) #1-1 —>
{denominator value="17/>
</quantity>
{ingredientSubstance classCode="MMAT™ determinerCode="KIND">
Scode code="G.k. 2 3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2. 3.r.2a"/>
<l— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #l-1 —>
¢l— G. k.2, 3, 1.2b: Substance / Specified Substance TernID §1-1 —
. <nameXG. k. 2. 3. r. 1</name>
¢<I— G.k.2.3.r. 1 Substance / Specified Substance Name #1-1 —>
</ingredientSubstance>
<{/ingredient>
{ingredient classCode="ACTI">
" quantity>
¢numerator value=”10" unit="G.k.2. 3 r,3b"/> ,
{1— G.k.2.3.r.3a: Strength (number) #1-2 -=>
¢l-- G.k.2.3.r 3b: Strength (unit) #1-2 —>
<denoninator value="17/>
¢/quantity>
(ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G. k.2, 3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
¢l— 6,k 2.3, r.2a Substance / Specified Substance TermID Version Date / Number #1-2 —>
¢l=- G.k.2.3.r.2b: Substance / Specified Substance TermID H1-2 —>
<name>G. k. 2. 3. r. k</neme>
¢l— G.k.2.3.r.1: Substance / Specified Substance Name #1-2 —>
</ingredientSubstance>
{/ingredient>
</kind0fProduct>
{subjectOf typeCode="SBI™>
<productBvent classCode="ACT" moodCode="EYN">
<code code="1" codeSystem="2. 16, 840, 1, 113883, 3, 989.2. L. 1. 18* displayName="retailSupply”/>
{performer typeCode="PRF">
<assignedBntity classCode="ASSIGNED™>
<representedOrganization classCode="0RG" determinerCode="INSTANCE">
<addr> . -
{eountry>G. k. 2. 4{/country>
¢1— 6.k.2.4: Identification of the Country Where the Drug Was Dbtalned #1 =l
{/addr>
{frepresentedOrganization>
{/assignedEntity>
</performer?
</productEvent>
{/subject0f>
<subjectOf typeCode="SBJ">
CohservationBvent classCode="0BS” moodCade="EVN™>
<code code="2" codeSystem="2, 16. 840. L. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="—AXFERGDAFER"/
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Reaction #1 —>

Reaction #1 —>

Reaction #2 —>

Reaction #2 —>

Reaction #3 —-)

Reaction #3 —>

Reaction #4 —>

Reaction #4 ——>

<value xsi:type="CE" che='J2.6.k' codeSystem="2. 16, 840. 1. 113883, 3. 989,5, 1, 3, 2, 1.5"/>
<1— 888J2. 6.k —RAERSOAZER #1 —
{/ubservationEvent>
</subjectdf>
. {/instance0fKind>

</consumable>
<outhoundRelationshipl typeCode="SAS">

<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l— G.k.9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Brug #1,

¢l—— 6.%.9.4.3. 1h: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

<actReference classCode="0BS” moodCode="BYN™>
<id root="154cb8B9-G58b~45F2-a02f-42d4d6F4667E />
{/actReference>
{/autbeundRelationshipl>
<outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. %k 9.1i.3.2b"/>
¢i— .k 9.1.3. 2a! Time Interval hetween Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #1 —-

¢l— 6. k.9,i.3,2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit} Drug #1, Reaction #1 —>
{actReference classCoede="0BS" moodCode="EVN™>
<id root="154ebB89-958b-45f2-n02f-42d4d6F46571" />
{/actRefercnce>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAS"™>
{pauseQuantity value="10" unit="G.k. 9.1i.3.1b"/>
¢l— G,k 9,i.3, la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

¢'— 6.k 9.1, 3. 1b: Time Interval between Beginning of Drug Administration and Stert of Reaction / Event (unit) Drug #1,

<nétReference classCode="0BS" moodCode="EVN™>
<id reot="2baal8d6-cOe8-4e6c-93e9-5b860b3142207 />
{/actReference>
{foutboundRelationshipl> )
<cutboundRelatienshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9,1i.3,2b"/>
¢l— G,k 9.i.3, 2a: Time Interval hetween Last Dose of Drug snd Start of Reaction / Event (rumber) Drug #l, Reaction #2 —

¢I-- 6.k 9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #2 —
CactReference classCode="0BS" moodCode="EVN">
<id reot="2haa28d6-cYe8=debe-93e9-5bB60b3142207 />
{/actReference>
{/outboundRelationshipl>
<outbaundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
¢l— 6.k.9.1.3. lat Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug #1

¢l=—— 6.k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

CactReference classCode="0BS" moodCode="BYN">
{id reot="328626ch-0f1b-4eaB-8a0f-e0ff34430adf™/>
{/actReference>
</outhoundRelationshipl>
{outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k. 9,1i,3,2b"/>
¢!~ G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #3 --

¢!— G.%.9.1.3.2h: Time Interval between Last Dogse of Drug and Start of Reaction / Bvent (unit) Drug #1, Reaction #3 —>
CactReference classCode="0BS" moodCode="EVN™>
<id rapt="3a8626cb~9f1b-4ea8-8a0f—e0Fff34430adf” /> .
{/actReference>
</outboundRelationshipl®
¢outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.10"/>
¢)— G.X%.9.1.3. la: Time Interval between Beginning of Drug Admwinistration end Start of Reaction / Event (number) Drug #1

¢l-- 6. k. 9.i.3. Ib: Time Interval between Beginning of Drug Administratien and Start of Reaction / Event (unit) Drug #1,

<actReference classCode="0BS" moadCode="EVN™>
<id root="2e99840f-08bd~190:-80Ff-dd8415F4F8a5"/>
<{/actRefershce>
</outhoundRelationshipl>
{cuthoundRelationshipl typeCode="SAE™>
<pauseQuentity value="10" unit="G.k.9.i.3.2b"/> -
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Reaction #5 —>

Reaction H5 —>

Reaction #6 -5

Reaction #§ —>

Reaction #7 —>

Reaction #7 —>

Reaction #8 —>

Reaction #8 —>

¢l-- 6.k.9.1.3.2a¢ Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug ¥1, Reacticn %4 —

<actReferenca classCoda— 0BS” moodCode="BEVN™>
<id root="2e59840f-08b4~499c-B0f{-dda416f4f8a5"/>
{/actReference>
¢/outboundRelationshipl>
{outboundRelationshipl typeCode="" ShS >
<pauseQuantity valve="10" unit="G.k.9.1.3.10%/>
¢l— G.k.9.1.3. 1la; Time Interval botween Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

<!— G.Kk.9.i.3. Ib: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug #1,

¢actReference classCode="0BS" moodCode="EVN™>
<id roct= 107lDG4c—cfl0-4a3b—8321"34f9ddh75a5d />
{/actReference>
(/outboundRelationshipl> .
<outboundRelationshipl typeCode="SAE">
¢pauseluantity value="10" unit="G.k.9.i.3.2b"/>
¢l— G.k.9.1,3.2a; Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #1, Reaction #5 —

¢I— . k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reactien / Event (unit) Prug #1, Reaction #5 —
<actReference classCode="0BS™ moodCode="EVN™>
¢id reot="1071064c-cf10~4a3b-83c1-34f9ddbTeabd” />
{/actReference>
</outboundRelationshipl>
{outhoundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l— .k.9.1i.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

<l~~ G,k.9.1.3.Ib: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit} Drug 1,

<actReference classCode="0BS" meadCode="EVN™>
<id root="1f927283-10b6-4334-8d143-e925640Lb1BE™/>
{/actReferente)
</outboundRelaticnshipl>
CoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
<I— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #5 —

¢}— G. k. 9,i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction 6 —>
{actReference classCode="0BS" moedCode="EVN">
<id reot="1£027283~10b6-4334-9d43-e925640fb18E"/>
</actReference>
¢/outboundRelationshipl>
¢outboundRelatienshipl typeCode="SAS™>
{pauseQuantity value=”10” wnit="G.k.9.1i.3.16"/> '
¢l— 6.k 9, i.3. 12t Time Interval between Beginning of Drug Administration and Start of Reactien / Event (bumber) Drug #1,

¢l— 6.k.9. 1.3 1b: Time Interval between Beginning of Drug Administration and Start of Resction / Event (unit) Drug #1,

CactReference classCode="0BS” moadCode="EVN™>
<id rost="e0342969-38he—423f-b6bb-cel4bc279d8e"/>
{/actReference?
</outboundRelationshipl> .
{outboundRelationshipl typeCode="SAE™>
(pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢I— G.k.5. 3.3 2a: Time Interval between Last Dese of Drug and Start of Reaction / Event (number) Drug #1, Reaciion #7 —

¢I— G.k.9.1. 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Eveat (unit) Drug #1, Reaction 7 —>
{actReference classCode="0BS” mocdCade="EVN">
<id root= aOEd2969—385e—423f—b6&b—ce14bc279d83'/>
¢/actReferencer
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<peuseQuantity value="10" wnit="G.k. 9.1.3.1b"/>
¢le= ¢.k.9,i. 3.1a: Time Interval between Beginning of Drug Adninistration amd Start of Reactisn / Event (number) Drug #1,

¢<l— G.k.0.4i.3. 1b: Time Interval between Beginning of Drug Administration aznd Start of Reaction / Event (unit) Drug #1,

<actReference classCode="0BS* moodCode="EVN™>
¢id root="alshe092-80T0-426d-af04-6863263443e07 />
{factReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
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<pauseQuantity value="10" unit="0.k.9.1.3.2b"/>
¢l— 6.k 9.i.8,2a Time Interval between Last Dose of Drug and Start of Reaction / Bvent {number) Drug #1, Reaction #8 —

>
¢l~— G.k.9.1i.% 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #8 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="al5be082-8070-426d~af04-6863263443e07/>
{/actReference>
</outboundRelationshipl>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{cade code="B" codeSysten="2. 16. 840, 1, 113883.3.989. 2. 1. 1. 19" displayName="blinded"/>
<value xsiitype="BL" value="true”/>
{}— G.% 2.6: Investigational Product Blinded #1 —> )
{/observation? '
</outboundRelationship2> ' .
<outbeundRelationship? typeCode="COMP™>
. ¢!— G.Xk 4.r: Dosage and Relevant Information (repeat as necessary) #l-1 —>
’ <substanceAdministration classCode="SBABM" moodCode="EVN™>
<text>G k. 4. r. 8{/text>
t== G.k.4.r.8: Dosage Text #I-L —>
CeffectiveTime xsittype="SXPR_TS™>
{comp ¥si:type="PIVL_TS™>
<period value="10" unit="G k.4.r.37/>
{— G,k 4.r,2: Nunber of Units in the Interval ¥1-1 —>
¢}— G.% 4.r.3: Definition of the Time Interval Unit #1-1 —>
</comp>
Seomp xsi:type="IVL_TS® operator="A"> .
Clow value="200801017/> '
¢l— G.k 4.r.4: Date and Time of Start of Drug H1-1 —>
<high value="200901017/>
¢I— G.k 4,1,5: Date and Time of Last Adwinistration #1-1 —>
{/comp>
<eomp xsiitype="IVL_T5” operatar="A">
<width value="4" unit="G.k.4.r.6b"/>
¢!= G.k.4.r.6a: Duratien of Drug Administration (number) #1-1 —>
({— G. k. 4.r.6b: Duration of Drug Administration (unit) #1-1 —>
</comp> '
{/effectiveTime> :
{routeCode cade="G.k.4.r.10.2b" codeSystem="2. 16, 840. 1. 113683, 3, 989, 2, 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a™>
¢<1— G. k.4, 1. 10. 2at Route of Administration TermlD VYersion Date / Number #1-1 —>
¢1— 6.k, 4.r. 10.2b: Route of Administratien Ternll #1-1 —>
<originalText>G, k. 4, r. 10. 1{/origifialText>
{l=~ G.k.4.r.10.1: Route of Administration {free text) #1-1 —=>
{/routeCode>
' ¢doseQuantity value="10" unit="G. k.4.r.16"/>
¢i—- G.k. 4.1, la Dose (number) #1-1 —>
{le- G.k.4.r. 1b: Dose (unit) #1-1 —>
{consumable typeCode="CSU">
{instance0fKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNunberText>G. k. 4. r. 7</lotNumberToxt>
¢— G k. 4.r. 7! Batch / Lot Number #1-1 — .
{/productInstancelnstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
<fornCode code=*G.k.4.r.9.2b" codeSysten="TBD-DoseForn” codeSystemVersion="G. k. 4. r.9.2a">
{l— G,k 4. 1.9, 2a; Pharmacevtical Dose Form TermID Version Date / Number #1-1 —>
¢l— G,k 4,1,9, 2b Pharmaceutical Doze Form TermID #1-1 —>
{originalTextdG. k. 4.r. 9. 1</originalText) '
<l== G.k. 4.1.9.1: Pharmageutical Dose Form (free text) #1-1 —>
{/formCode>
</kind0fProduct> '
</instarice0fKind>
</consumable>
<inboundRelationship typeCode="REFR™>
{ohservation classCode="0BS" moaodCede="EVR">
{code code="28" codeSystem="2. 16, 840. 1, 113883, 3. 989, 2. 1, 1, 19” displayName="parentRouteOfAdministration”/>
¢yalue xsiitype="CE" code="G.k: 4.1, 11, 2b" codeSystem="2. 16. 840. 1. 112883, 3. 989, 2, L. 1, 14" codeSystenVersion="G.k. 4.1.
11, 2a™>

<l— G.k. 4. 1.11,2a: Parent Route of Administration TermID Version Date / Number #1-1 ~->
<}— G.k, 4, r 11.2b* Parent Route of Administration TermID #1-1 —>
CoriginalText>G. k. 4. r. 11, 1{/originalText>
{l— G.k.4.r. 11, 1: Parent Rorte of Admmstratmn (free text) #1-1 —>
</value>
</observation>
</inboundRelationship>
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</substanceAdministraticn?
{/autboundRelaticnship2>
<outboundRelationship2 typeCade="COMP">
¢1—- G, k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
¢substanceAdministration classCode="SRADM” moodCode="EVN">
<text>G, k. 4. 1, 8</text>
<!~ G. k. 4.1.8: Dosage Text §l1-2 —>
CaffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>
¢— G.k. 4.1, 2; Number of Units in the Interval #1-2 ——>
¢3— G.k.4.r.3: Definition of the Time Interval Unit #1-2 —>
{/comp?
<comp xsiitype="IVL_TS" operator="a">
<low value="200901017/>
{|— 6.k 4. r.4: Date and Time of Start of Drug #1-2 ~—>
<high value="200901017/> .
¢l— G,k 4.1, 5: Date and Time of Last Admmstratmn #1-2 —>
{/comp>
{feffectiveTine>
<routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16, 840. 1. 113883. 3. 989 2. 1.1, 14" codeSystemVersion="G, k. 4. r. 10. 2a™>
¢!— G.l.4.r.10.2a: Route of Administration TermID Version Date / Number #1-2 —>
¢l— G, % 4. r. 10, 2b: Route of Administration TermID #1-2 —>
<originalText>G, k. 4. r. 10. 1{/originalText>
¢l~— G.k.4.r.10.1: Route of Administration (free text) #1-2 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r. Lb"/>
<!— G k. 4.r.1a Dose (number) #1-2 —>
<}— G.k.4.r.1b: Dose (unit) #1-2 -->
{consumable typeCode="CSH™> §
{instanceOfKind classCode="INST">
<{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
. {lotNumberText>G. k. 4. r, 7</LotNumberText>
¢l— 6.k, 4,r, 7: Batch / Lot Number #i-2 —>
{/productinstancelnstance>
<kindOfProduct classCode="WHAT" determinerCode="KIND™>
<fornCode code="G,k.4.r.9.2b" codeSystem="IBD-DoseFarn” codeSystenVersion="G.k 4.r.9. 2a">
¢l G.k.4.r.9.2a’ Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
<]— ¢.k.4.r. 9 2b: Pharmaceutical Dose Form TermID Hi-2 —>

<originalText>G. k. 4. x. 9. 1</original Text>
{l— 6.k, 4.1,9.1: Pharmaceutical Dose Form (free text) #1-2 —->
</fornCode>
{/kind0fProduct> X
</instanceOfKind>
</consumable>

{inboundRelationship typeCode="REFR™>
{¢hservation classCode="OBS” moodCode="EVN™>
{code code="28" codeSystem="2. 16. 840. L. 113883. 3,989, 2, 1. 1. 19" displayName="parentRoute0fAdninistration™/>
¢yalue xsi:type="CE" code="G.k.4.r.11. 2" codeSystem="2. 16.840. 1, 113883, 3. 989, 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a">
¢!— G.k. 4.1, 11, 2a: Parent Route of Administration TermlD Version Date / Number #1-2 —»
<]— G.k.4.r.11.2b: Parent Route of Administration TermlD §1-2 —> .
CoriginalText>G. k. 4. r. 11, 1{/originalText>
¢l— G.k.4.1.11. I; Parent Route of Administration (free text) #1-2 —>
¢fvalued ‘
{fobservation>
</inboundRelationship>
{/substanceAdninistration>
</outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
¢}—— G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-3 -=>
{substanceAdministration classCode="5BADH" maedCode="EVN">
{text>G, k, 4, r. B/ textd
<l G.K 4.r.8: Dosage Text #1-3 —>
{effectiveTime xsiltype="SXPR_TS™>
{cottp xsittype="PIVL_TS™>
' {period value="10" unit="G.k.4.r.3"/>
¢lw= G.k.4.r.2: Number of Units in the Interval #1-3 —
¢<|— G.k.4.r.3: Definition of the Time Interval Unit #1-3 —>
</eomp?
{comp xsi:type="IVL_TS" operater="a">
<low value="200901017/>
|- G.k.4.r.4: Date and Tine of Start of Drug #1-3 ——>
<width value="4" unit="G. k. 4.1.6b6"/>
¢]— G.% 4.r.6a: Duration of Drug Administration (number) #1-3 —>
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{l== G.k 4.r.6b: Duration of Drug Administratien (unit) #1-3 —>
{/comp>
{/effectiveTine>
<routeCode code="G, k. 4. r. 10. 26" codeSystem="2. 16, 849, 1, 113883, 3,989, 2. 1, 1, 14" codeSystenVersion="G. k. 4. r. 10. 2a™>
¢l— G.k.4.1.10.2p: Route of Administration TermID Version Date / Number #1-3 —>
¢|— G.k.4.1.10,2b: Route of Administration TeramlD #1-3 —>
<originalText>G. k. 4. r. 10. 1<{/originalText>
{!— G.k.4.r.10.1: Route of Administration (free text) #1-3 —>
{frouteCode>
<doseQuantity value="1¢" unit="G.k.4.1.1b"/>
{l== . k. 4.r. 12 Dose (number) #1-3 —>
<l— G.k.4.1. 1b% Dose (unit) #1-3 —>
<consumable typeCode="CSW">
{instance0fKind classCode="INST">
<productInstancelInstance classCode="MMAT" determinerCode="INSTANCE">
¢lotNumberText)G. k. 4. r. 7</lotNumberText>
1=~ G, k. 4.x.7: Batch / Lot Number #1-3 —>
{/productInstanceInstance>
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. % 4.r.9.2b" codeSysten="TBD-DoseForn” cedeSystemYersion="G.k.4.r. 9. 2a™>
€¢l— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 ——>
¢]— G.k.4.r.9.2b: Pharmaceutical Duse Form TermIl #i-3 ——>
{original Fext>G, k. 4. r. 9, 1</originalText>
{l— G.k.4.r.9. 13 Pharmaccutical Dose Form (free text) #1-3 ~—>
{/formCode>
</kind0fProduct>
{/instance0fKind>
{/consunmable>
¢inboundRelationship typeCode="REFR™>
<observation classCede="0BS" moodCode="EVN">
<gode code="28" codeSystem="2. 16, 840, 1, 113883, 3,989, 2, 1, 1, 19" displayName="parentRouteOfAdministration™/>
<value xsittype="CE” code="G.k.4.r.1l.2b" codeSystem="2: 16.840. 1. 113883. 3. 989. 2. 1. 1. 14 codeSystenVersion="G.k 4.r.
11, 2a™> ; :
. . <l=- G.k.4.r. 11, 2a: Parent Route of Administration TermIP Yersion Date / Number §1-3 —>
¢{l— G.k. 4,1 11, 2b; Parent Route of Administration TermlD H1-3 —>
<originalText>G. k. 4. r. 11. 1</originalText>
{|— 6. k.4.r.11. 1 Parent Route of Administratien (free text) #1-3 —>
{/value>
</observation>
¢/inboundRelationship>
{/substanceAdministration> -
</outboundRelationship2> '
<ortboundRelationship? typeCode="COMP™>
¢l~~ G, k.4.r: Dosage and Relevant Information (repeat as necessary} Hi-4 —>
{substanceAdministration classCode="SBADM® mocdCode="EVN">
<text>G. k. 4. r. B{/text>
' ¢|— &k 4. 1.8: Dosage Text Hl-d -~
CeffectiveTime xsi:type="SXPR_T5">
{comp xsi:type="PIVL_TS"> r
<period value="10" unit="G.k.4.r.3°/>
¢l== G.k,4.1.2: Number of Units in the Interval #1-4 —>
<l— G.k 4.1.3: Definition of the Time Interval Unit #l1—4 —>
</comp?
{comp x5i:type="IVL_TS” operator="A"> .
(width value="4" unit="G.k.4.r.6b"/>
€l— G.k. 4, r.6a: Duration of Drug Adninistration (number} #1-4 —>
¢l== G.k.4.1.6b: Duration of Drug Administration {unit) #1-4 —>
<high value="20090101%/>
¢]— G.k.4.r.5: Date and Time of Last Administration #1-4 —>
{/comp?
. &feffectiveTime> .
{routeCode cade="G, k. 4, r. 10, 2b” codeSystem="2. 16. 840. 1. 113883. 3. 980. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r. 10.2a™>
] G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number H1-4 —>
¢l~- G. k. 4.r.10. 2b: Route of Administration TermIP #1-4 —>
LoriginalText>G. k. 4. . 10. 1</originalText>
¢1— G, k.4,r 10, 1: Route of Administration {free text) #1-4 ——>
{/routeCode’
<doseQuantity value="10" unit="G.k.4.r, Lb"/>
{!=- G. k. 4.r. la Dose (number) Rl-4 —>
!~ G.k.4.1.1b: Dose {unit) #1-4 —>
<consumable typeCode="CSH™>
<instenceOfKind classCode="INST™>
{productInstancelnstance ¢lassCode="YMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNunber Text>
<l— G.k.4.r.7: Batch / Lot Nusher §I-4 -—>
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{/p¥oduct Instancelnstance>
{kind0fProduct classCode="MMAT" determinerCode="KIND™>

(fornCode code="G. k. 4. 1. 9. 2b” codeSysten="TBD-DoseForm” codeSystemVersion="G.k.4.r.9. 2a™>
¢1— G.k 4.1 9.2 Pharmaceutical Dose Form TermID Version Date / Number #l-4 ==
¢1— G.k.4,r.9.2b: Pharmaccutical Dase Form TermID #1-4 —>

CoriginalText>G. k. 4. r. 8. [{/originalText?
¢l G. k. 4.r.9.1: Pharmaceutical Dese Form (free text) #1-4 —>
¢/ fornCode>
</kind0fProduct>
</instanceOfiind?
{/consumable’>
{inboundRelationship typeCode="REFR™>
{ohservation classCode="0BS™ moodCode="EVN">
(code code="28" codeSystem="2, 16, 840, 1, 113883, 3, 989. 2. 1. 1. 9" displayName="parentRoute0fAdministration™/>
<value xsi:type="CE" code="6.k.4.r, 1L 2b" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r.
11, 2a™> .
{l— G.k,4,r.11.2a: Parent Route of Aduinistration TermID Version Date / Numher #1-4 —>
{|— G.k.4.r. 11, 2b: Parent Reute of Administration TermID $1-4 —>
CoriginalText?G. k. 4. r. 11, I</originalText>
¢l-- G, k. 4.1, 1L F Parent Route of Administration (free text) #1-4 —>
<{fvalue>
</observation>
</inboundRelationship> ) '
¢/substanceAdninistration’
{/outboundRelatiocnship2>»
¢outhoundRelationship? typeCode="COMP™>
{}— G,k.4. 1! Dosage and Relevant Information (repeat as necessary) #1-5 —>
{substanceAdministration classCode="SBADM™ meodCode="EVN™>
CtextdG. k. 4. 1. 8{/text>
¢l-- G.k.4.r,8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsittype="IVL_T8™>
<low value="200801017/>
<l== G.k. 4.r.4: Date and Time of Start of Drug #1-5 -—>
<high value="20000101"/>
{l-= G.k 4.7.5: Date and Time of Last Administration #1-5 —>
{/comp>
<comp xsi:type="IVL_T5" cperator="A">
¢width value="4" unit="G.k 4.r.6b7/>
¢!— G.k.4.r, 62: Duration of Drug Administration {number) ¥1-5 -->
{}— G.k.4.r.6b: Duration of Drug Administration (unit) &1-6 —>
</comp>
/effectiveTime>
¢routeCode code="G. k. 4.r.10.2b" codeSystem="2, 16,840, 1. 113883, 3,989. 2, 1. 1. 14" codeSystemVersion="(. k. 4.1.10.2a™>
(l=- G. k.4.r. 10. 2a: Route of Adwinistration TernID Version Date / Number #i-5 —>
¢{— G.k 4.r.10.2b: Route of Adnministration TernID #1-5 -—>
. {originalText>G. k. 4, r. 10. 1<{/originalText>
¢i== G k.4.r.10.1: Route of Administration (free text) HI-5 —>
<{/routeCode>
<doseQuantity value="10" unit="G.k. 4.r.1b"/>
<t— G,k 4.r. 1a Dose (number} #1-5 —>
(I~ G.k.4.r. 1b: Dese (unit) ¥1-5 —>
{consumable typeCode="CSW">
{instance0fKind classCode="INST">
¢productInstancelnstance classCode="MMAT" detcrminerCode="INSTANCE™>
<lotNunberText>G. k. 4. r. 7</lotNunberText>
{le- G.k.4.r.7: Batch / Lot Number ¥1-5 —>
{/productInstancelnstance> )
<kindOfProduct classCoda="MMAT" determinerCode="KIND">
<formCode code="G. k. 4. 1.9, 2h" codeSystem="TBD-Doseforn” codeSystemVersion="G.k.4.1.9.2a">
¢)— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Pate / Number #1-5 —>
¢1== G.k, 4.1.9.2h: Pharmaceutical Dase Form TermID #1-5 —>
<originalText>G. k. 4. 1, 9, 1{/criginalText>
¢l-— G.k.4.r.9.1: Phermaceutical Dose Form ,(free text) #i-5 —>
{/TornCode> .
</kind0fProduct>
¢/instance0fKind>
¢{/consumable>
<inhoundRelationship typeCode="REFR™>
{chservation classCode="ORS" moodCode="EVN™>
<code code=”28” codeSysten="2. 16, 840, 1, 113883, 3. 989. 2. 1. L. 19" displayName="parentRoute0OfAdministration”/>
¢value xsiitype="CE” code="G.k.4.r. 1L 2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. Z. L. 1. 14" codeSystenVersion="6.k. 4.,
11.2a™ ’
<t— G k. 4.7, 11.2a: Parent Route of Administration TermID Version Date / Number £1-5 —>
¢}— G.k.4.1.11.2b: Parent Route of Administration TernID #1-5 —>
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<originalText>G. k. 4. r. 11. 1{/original Text>
{!— G,k 4.r. 11.1: Parent Route of Administration (free text} #1-5 —>
{/value>
</cbservation>
{/inboundRelationship?
<{/substanceAdninistration>
</outbsundRelaticnship2>
<outboundRelationship? typeCode="COMP™>
<)— G.k.4.1: Dosage and Relevant Information (repeat as necessery) #1-6 —> .
{substanceAdministration classCade="SBADM" moodCode="EVN™>

CtextdG. k. 4. r. 8¢/ text)

<l— G.k.4.r. 8: Dosage Text §1~6 ——>

{effectiveTime xsi:type="SXPR_TS)
<comp xsi:type="PIVL_TS™>

<period value="10" unit="G.k.4.1.3"/>

¢!— Gk 4.r.2: Numher of Units in the Interval t#1-6 —>

<}— G.k. 4. r.3: Definition of the Time Interval Unit #1-6 —>
<fcomp>
<comp xsiitype="IVL_TS" operator="A">

¢low valus="20080101"/>

¢l=- G.k.4.r. 4! Date and Time of Start of Drug #1-6 —>

<width value="4* unit="G.k.4.1.6b"/>

¢l== G.k, 4.1.62: Duration of Drug Administration (number) ¥I-6 ~->

¢l— G,k, 4,1, 6b: Duration of Drug Administration (unit} #i-6 —>
{/canp>
{comp xsiltype="IVL_TS” operator="A">

<high value="20090101%/>

¢}== G.k.4.r.5: Date and Time of Last Administration #l1-6 —>
{/campy

feffectiveTime?

(routeCode code="G.k. 4.r.10.2b" codeSystem="2, 16, 840, 1. 113883. 3. 989, 2, 1, 1, 14" codeSystemVersion="G. k. 4.r. 10. 22"
{l— G.k.4.r.10.2a: Route of Adwinistration TermID Version Date / Number #1-6 —>
<!— G. k. 4.r.10.2b: Route of Administration TermID #1-6 —>
Loriginal Text G, k, 4, r. 10, 1</originalText>
{}=~ G.k. 4.r.10. 1! Route of Administration (free text) ¥1-6 —=>

<frouteCodey '

¢doseQuantity velue="10" unit="G.k 4. r.16"/>

{l— G, % 4.r, la Dose (number} #1-1 —>

{l== G,k 4.r.1b: Dose (unit) #1-1 —>

{consumshle typeCode="CSH">
<instanceOfKind classCode="INST™)> .

¢productInstanceInstance classCode="MMAT” determinerCode="INSTANCE™>
<lothumberTextdG. k. 4. r. 7</lotNunberText)
. <= Gk4.r7: Bateh / Lot Number #1-1 —>
{/productInstancelnstancey
<kindOfProduct elassCode="MMAT" determinerCode="KIND">
<formCode code="G.k. 4.r. 9. 2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.kx.4.r.9.2a">
¢!-— G. k. 4,r.9. 227 Pharmaceutical Dese Form TermlID Yersicn Date / Number #1-6 —>
{!— G.k.4.1.9.2b: Pharmaceutical Dose Form TermlD #1-6 —>
<originalText>G. k. 4. 1. 9. 1{/originalText>
¢!— G.k.4.1.9.1: Pharuaceutical Dose Form (free text} #1-6 —>
{/fornCode> : ’
</kinddfProduct) .
{/instanceOfKind>

¢/consumable> )

<inboundRelationship typeCedes REFR™>
{observation ¢lassCode="0BS” moodCode="BVN">

<code code="28" codeSysiem="2, 16, 840. 1. 113883, 3. 889. 2, 1. 1, 19" displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE" code="G.k.4.r.11,2b" codeSystem="2. 16.840. 1, 113883. 3, 989. 2. 1, 1. 14" codeSystenVersion="G. k. 4.r1.

¢l== G.k.4,r.11. 2a: Parent Route of Administration TernID Version Pate / Numher #1-6 —>
¢I— G.k.4.r.11. 2b: Parent Reute of Administration TermID #1-6 —>
<originalText>G. k. 4. r. 11. 1</originalText>
¢{l— G.k 4.1.11, 1: Parent Route of Administratich (free text) #1-§ —>
<fvalue> - \
{/observation>
¢/inboundRelatienship>
</substanceAdministration>
{/outhoundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢[== G k.4.r! Dosage and Relevant Information (repeat as necessary) #1-7 —->
¢substanceAdninistration classCode="SBADM”™ moodCode="EVN™>
Ctext>G. k. 4. r. BS/text>
¢I— G.k. 4.1.8: Dosage Text #1-T —>
<effectiveTime xsi:type="SXPR_TS™>
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{eemp xsittype="IVL,_TS™5
<low value="2009801017/>
¢lew Gk, 4. t. 4! Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.657/>
¢l— 6.k 4.r.6a: Duration of Drug Administration (number) H1-7 =->
¢l— G.k. 4.1.6b: Duration of Drug Administration (unit} #1-7 -->
</comp> ' '
<eomp xsi:type="IVL_TS" aperator="A">
<high value="200901017/>
<!— G.k.4.r.57 Date and Time of Last Administratien #1-7 ——>
{/comp) .
{feffectiveTims>
<routeCode code="G. k. 4. r, 10, 2b" codeSysten="2, 16, 840, 1. 113883, 3.989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r. 10, 2a™>
¢l— G, k.4.1.10.2a: Route of Administration TernID Version Date / Number #¥1-7 —>
<l=— G.k.4.r.10.2b: Route of Administration TernID #1-7 —>
<originalText>G. k. 4.1, 10, 1{/original Text>
<)— G.k.4.1.10,1: Route of Administration (free text) #1-7 —>
¢/routeCode>
¢doseQuantity value="10" unit="G. k. 4.r.1b"/>
¢l=— G.k. 4.1, Ia Dose {number} HI-7 —>
<l— G, k.4.r.1b: Dose (unit) #1-7 —>
<consumabla typeCode="CSH™>
<instanceQfKind classCode="INST">
<productInstancelnstance classCode="MMAT™ determincrCode="INSTANCE">
<lotNumberText>G. k. 4. T, 7</lotNumberText> ‘
{}— G.k.4.r.7: Batch / Lot Number #i-7 —>
¢/productInstancelnstance’
¢kind0fProduct classCode="MMAT” determinerCode="KIND™>
(farnCode code="G, k. 4.1, 9. 2b” codeSystem=*TBD-DoseForm” codeSystemVersion="G.%. 4.r.9.2a™>
<}— G,k 4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 ~—>
<1—— G.k.4.r. 9 2b: Pharmaceutical Dose Form TermlD #1-7 —>
CoriginalText)G, k. 4. r. 9, 1<{/originalText>
¢1— G.k.4.1.9. 1: Pharmaceutical Dose Form (free text) #1-7 —
<{/fornCode>
</kind0fProduct> .
</instanceQfKind>
</consumable>
<inboundRelationship typeCode="REFR™>
Cabservation classCode="0BS™ maodCode="EVN">
<code code="28" codeSystem="2.16. 840, 1. 113883, 3,989, 2,1, 1. 19" displayName="parentRouteOfAdninistration”/>
¢value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem="2.16. 840, 1, 113883, 3,989. 2. 1. 1. 14" codeSystenVersion="G. k, 4.r.
11.2a™ '
{l— G.k.4.r, 11, 2a: Parent Route of Administration TermID Version Date / Number $1-7 —>
¢<|— G, k.4.r.11.2b: Parent Route of Administratien TermID §1-7 —>
CoriginalText>G, k. 4, r. 11, 1<{/original Text>
¢|— G,k 4.1. 1L I Parant Route of Administration (free text) #1-7 =->
{/value>
{/chservation>
</inboundRelationship>
¢/substanceAdninistration>
</outboundRelationship2>
<outboundRelationship2 typeCode="SUMM™> .
{observation classCode="0BS" moodCode="EVN">
Ccode code="14" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, L, 1, 18" displayName="cumulativeDoseToReaction™/>
¢value xsi:type="PQ” value="10" unit="G.k. 5b"/> ‘
¢!— G.k.5a: Crmulative Dose ta First Resction {numher) #1 —>
¢l— G.k Gb: Cumilative Dose to First Reaction {unit} #1 —>
</observation>
</outboundRelationshin2>
<outboundRelationship2 typeCade="PERT™>
<observation classCode="0BS" moadCode="EVN™>
¢code code="16" codeSysten="2, 16, 840. 1. 113883, 3,989, 2. 1. 1. 19" displayName="gestationPeriod”/>
<value xsi:type="PQ" value="10" unit="G.k, 6b"/>
¢!— G.k.6a: Gestation Period at Time of Exposure {(number) #1 —>
¢t— G.k.6b: Gestation Period at Time of Exposure {unit) #1 -=>
{/observation>
¢/outhoundRelationship2»
<outboundRelationship? typeCode="PERT">
<observation classCode="DBS" moodCode="EVN™>
¢eode code="31" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2. 1. 1. 19" displayName="recurranceOfReaction”/>
¢value xsiitype="CE” code="G.k. 9.1.4” codeSystem="2, 16, 840. 1. 113883, 3.989. 2. 1.1, 16"/>
{l== G.k.9.i.4: Did Reaction Recur on Re-adninistration? Drug #1, Reaction #1 -—>
{outhoundRelationshipl typeCode="REFR™>
{actReference classCode="0BS" moodCode="EVN">
<id root="154¢h8R89~968b~45£2-2021-42d4d6F4657F" />
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{/uctReference>
{/outboundRelationshipi>
{/cbservation>
¢/outbeundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVYN"> .
{code code="31" codeSystem="2.16.840. 1. 113883, 3, 089.2. 1. L. 13" displayName="recurranceOfReaction”/>
<value xsi:type="CE" code="G.k.9.1.4" codeSysten="2, 16, 840, 1, 113883. 3. 989. 2, 1, L. 16"/>
<l— G.%.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2.—>
{outboundRelationshipl typeCode="REFR™>
CactReference classCode="0BS” moodCode="EVN™>
<id rnot='2haa'ZBd_ﬁ-cgeﬂ-‘laﬁc-9339-5h860b314220'/)
{/actReference>
</outboundRelationshipl>
{/abservation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="REFR™> )
Cobservation classCode="0BS" mocdCode="EVN™>
<eede code="9" codeSystem="2. 16, 840. 1. 113863, 3. 089. 2. 1. 1. 19" displayName="codedDrugInformation”/>
¢value xsi:type="CE” code="G. k. 10.r"* codeSystem="2, 6, 840, 1. 113883, 3.980.2, 1. 1. 17°/>
<!— G.k.10.xr: Additional Information on Drug (coded) {repeat as necessary) #1-1 ~=>
{/observation>
</outboundRelationship2>
CouthoundRelationship? typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
¢code code="9" codeSystem="2. 16. 840. 1. 113883, 3,989. 2. 1. 1. 19" displayName="codedDrugInfermaticn®/>
(value xsi:type="CE™ code="G.k.10.r* codeSystem="2, 16.840. I. 113883. 3,989, 2. 1. 1. 17°/>
¢t-— G.k 10.r: Additional Information on Drug (coded) (repeat as necessary) £1-2 —>
{/fabservation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™>
<code code="2" codeSystem="2. 1G. 840, 1. 113883, 3. 085, 2. 1. I. 19" displayName="additionalInformation”/>
<value xsi:type="ST">G. k. 11<{/value>
<{l— G.k.11: Additional Information on Drug (free text) #1 —>
{/vbservation>
{/outboundRelationship2>
<inboundRelationship typeCode="RSON">
<observation classCode="0BS" moodCode="EVN™>
{code code="19" codeSystem="2. 16. B40. 1. 113883, 3. 489. 2. 1. L. 19" displayName="indicatien”/>
<yaluo xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16, 840, 1, 113883. 6. 163" codeSystemVersion="G. k. 7.r.2a™>
¢l— G,k.7.r.2a: MedDRA Versien for Indication #1-1 —>
¢l-- G.k.7.r.2b: Indication (MedDRA code) #1-1 —>
CoriginalText>G. k. 7. x. 1<{/originalText>
¢I— G.k 7.r.1: Indication as Reported by the Primary Souree ¥1-1 —>
{/value>
<performer typeCode="PRE™>
<assignedBntity elassCode="ASSIGNED™>
{code code="3" codeSystem="2, 16. 840. 1, 113883, 3, 989. 2. 1. 1. 21" displayName="sourceReporter”/>
{/assignedEntity>
{/performer’
£/observationd
¢/inboundRelationship>
{inboundRelationship typeCode="RSON">
{observation classCode="0BS™ moodCode="EVN™>
¢code code="19" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. I. [. 197 displayName="indication"/>
<value xsi'type="CE™ code="G.k.7.r.2b" codeSystem="2. 16.B40. 1. 113883, 6, 163" codeSystenVersion="G. k. 7.1, 22"
{}— G.k.7.r. 2a: MedDRA Version for Indication #1-2 —> .
= G.k. 7.r.2b: Tndication (MedDRA code) #1-2 —>
{originalText>G. k. 7. r. 1<{/original Text>
<}~ G.k.7.r.1: Indication as Reported by the Primary Source §l-2 —>
</value>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED">
<cade code="3" codeSystew="2, 16. 840, 1, 113883. 3. 989. 2. 1. 1. 21" displayName="sourceReporter™/>
</assignedEntity>
{/perforner> -
{/observation>
</inboundRelationship> .
<inboundRelationship typeCode="CAUS™>
<act classCode="ACT" moodCode="EVN">
{coade code="G.k. 8" codeSystem="2. 16.E40. 1. 113884, 3.988.2, 1. L. 167/>
{i— G.k. 8: Action(s) Taken with Drug #1 —>
{fact>
¢/inbhoundRelaticnship>
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{/substanceAdministration>
{/component>
¢l— 6.k Drug{s) Information (repeat as necessary) #2 —>
<{component typeCode="COMP™>
¢substanceAdministration classCode="SBADM" moodCode="EVN™>
<id root="E8d6f5ce~3b3b-45cT-92dd-69206730c329"/>
Ceonsumzhle typeCode="CSM™>
{instance0fKind classCode="INST™> .
<kindDfProduct classCode="MMAT” determinerCode="KIND">
¢code code="G.k. 2. 1.2b" codeSystem="TBD-PhPID” codeSystemVersion="6. k. 2.1, 2a"/>
¢}— G.k.2, 1. 2a: PhPID Version Date / Number #2 —>
¢t— G.k 2.1, 2b: Pharmaceutical Product Identifier (PhPID) #2 -—>
{name>G, k. 2. 2{/name>
¢}— G.k.2.2: Wedicinal Product Name as Reported by the Primary Source #2 —>
<asManufacturedProduct ¢lassCode="MANU">
¢suh jectOf typeCode="$BJ">
<approval classCode="CNTRCT" moodCode="EVN">
<id extension="6.k.3,1” root="2. 16. 840. 1, 113883, 3,989, 2.1.3.4"/>
¢1— G.k.3.1: Authorisation / Application Number #2 -->
<author typeCode="AUT">
{territerialAuthority classCode="TERR">
{territery classCode="NAT" determinerCode="INSTANCE">
{code code="G.k. 3.2 codeSystem="1.0,3166. 1.2.27/>
<l— 6.k.3.2: Country of Authorisation / Application #2 —>
{fterritory> 4
{/territorialAutharity>
</author>
<pertinentInformation typeCode="PERT™>
{paliey classCode="POLICY" moodCode="EVN™>
¢code code="J2.5.k" codeSysten="2, 16, 840. 1. 113883. 3. 989, 5. 1. 3.2. 1.47/>
<1— 8ga)2. 5. k: —RAERSKEOY Ay EH% #2 —
{/pelicy>
</pertinentInfermation>
</approval’>
{/subject0E>
{subjectOf typeCode="SBJ™>
{characteristic classCode="0BS" moodCode="EVN">
Scode code="1" codeSystem="2. 16.840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 107 displayNane=" SIER LSO RRER"/
Svalue xsi:type="CE” code="]2.4. k" codeSystem="2.16.840,1,113883.3.989.5.1.3.2.1.3"/>
< 88J2. 4.k FEERSORRES #2 - )
¢/characteristic>
¢/subject0f>
</asManufacturedProduct?
<ingredient classCode="ACTI">
{quantity>
<numerater value="10" unit="G.k.Z2 3.r.3b"/>
<l-- G.k. 2.3.1. 3a: Strength {number) #2-1 —>
<|— G.k 2. 3.r.3b: Strength {unit) #2-1 —
<denominator value="1"/>
{/quantity>
(ingredientSubstance classCode="MMAT" determinerCode="KIND">
" ¢code code="G. k. 2. 3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k 2.3.r.2a"/>
¢l— G, % 2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1 —>
<l-— G.%. 2.3.r. % Substance / Specified Substance TermID #2-1 —>
{name>G. k. 2, 3. r. 1<{/name>”
¢!-- 6.k 2.3.r,1: Substance / Specified Substence Name #2-1 —>
¢/ingredientSubstance>

{/ingredient>
{ingredient classCode="ACTI">
{quantity?
{numerator value="10" unit="G.k.2.3.r.3b"/>
<J— 6. k. 2.3.r 3a: Strength (numher) #2-2 —
<I—- G.k.2.3.r.3b: Strength (unit} #2-2 —>
{dencminator value="1"/>
{/quantity>
CingredientSubstance classCode="MMAT” determinerCode="KIND™>
{code code="G.k. 2.3.r.2h" codeSystem="TED-Substance” codeSystemVersion="G.k. 2. 3.1, 22"/>

<}— G.k.2.3.1,2n: Substance / Specified Substance TernID Version Date/Number #2-2 ——
¢!— G. k.2, 3.r.2b Substance / Specified Substance TernID #2-2 —>
<name?G. k. 2. 3. r. 1</name>
<]— G.k.2.3.1.1: Substance / Specified Substance Name #2-2 —>
{/ingredientSvhstance>
{/ingredient>
</kind0fFroduct>
{subjectOf typeCode="SBJ™>
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{productEvent classCode="ACT” moadCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.589. 2, 1.1, 18" dlsplayNamn— retailSupply”/>
(performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG™ determinerCode="INSTANCE">
<addr>
<country>G. k. 2. 4¢/country>
¢l— 6.k 2 4: Identification of the Country Where the Drug Was Obtained #2 —>
</addr> ’
{/representedOrganization>
</assignedEntity>
{/performer’
{/productEvent>
</subject0f>
<subjectOf typeCode="SB]™> '
{observationBvent classCode="0BS" moodCade="EVN" >
<eade code="2" codeSystem="2. 16, 840, 1, 113883. 3. 089. 5. 1. 3. 2. 1. 10” displayName="—KFIE MDA TR />
¢value xsiitype="CE” code="]2.6.%" codeSystem="2, 16, 840. ). 113882.3.989.5,1.2.2,1,5"/>
<l gegre. 6. k: —RAERKROAFER #2 —
<fobservatichEvent>
</subject0f>
</instanceDfKind>
</consumable>
<outheundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k.9.1.3.1b7/>
¢l— G,%9,i.3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number} Drug #2
Reaction #1—>
¢!— 6.% 9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug H2,
Reaction #1 —>
<actReference classCode="0BS™ moodCode="EVN™>
<id root="154eb889-658b-45f2-a02f-42d4d6f4657" />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>
¢l— 6.k, 9.i.3. 2a; Time Interval betwesn Last Dose of Drug and Start of Reaction / Event (nunber) Drug %2, Reaction #1 ——>

¢!— 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reactien / Event {unit) Drug #2, Reaction #1 —
¢actReference classCode="0BS" moadCode="EVN™>
<id root="154eb880-958h-45£2-a02f-42d4d6F465TE" />
{/actReference>
</outboundRelationshipl>
<outbeundRelaticenshipl typeCode="SA3">
<pauseQuantity value="10" unit="G.k.9.i.3.16"/>
. ¢l=r G.k.9.1.3. 1a: Time Interval between Beginning of Drug Administration end Start of Reaction / Bvent (number} Drug ¥2,
Reaction #2 -->
{l— G.k.9.i.3.1b: Tiwme Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug H2,
Reaction #2 —» '
{actReference classCode="0BS" moodCode="EVN™>
<id reot="2baa28d6-cle8-4e6c-93e9-5b8E0L3142207/>
{/actRefcrence?
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE"™>
{pauseQuantity valuye="10" Nn1t-'G.k.9.1.3.2b />
¢l-- 6. k.9, 1,3 2a; Time Interval between Last Dose of Drug and Start of Reaction / Event (humber) Drug #2, Reaction #Z —

¢l—— G.k. 9. 1.3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction H2 ——>
<actReference classCode="0BS" moodCode="EVN™>
. ¢id reot="2baa28d6-cOeB-4ebc-93e9-5bB60bI14220% />
<{factReference>
{/outboundRelationshipl>
<putboundRelationshipl typeCodes="SAS™>
<ppuseQuantity value="10" unit="GC.k.%. 1.3, 16"/
{l— G.k.9.4.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reactien #3 -=>
¢l G.k.9.i.3. 15: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent {unit) Drug ¥2
Reaction #3 —>
¢actReference classCode="0BS” moodCode="EVN">
- €id reot= 3385265b-9f1b-4388-8aDf—eﬂff344308df'/>
</actReference>
</outboundRelationshipl>
SoutboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1i.3.20"/">
¢}— G.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #2, Reaction #3 —
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Reaction #4 —>

Reaction #4 ——>

Reaction #5 —>

Reaction #6 ——>

Reaction #6 ——>

Reaction H#6 —>

Reaction #7 —>

Reaction #7 ——>

¢l-— G.k.9.1i.3.%b: Time Interval between Last Dese of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #3 —
<actReference classCode="0BS" moodCode="EVN">
¢id root="3a8626ch-9f1b-4ea8-8aDi-e0ff34430adf"/>
</actReference’ :
</outhoundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.i.3. 1"/
¢!— G.k. 9. i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,

¢)— G.k.9.4.3, 1b: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event (unit) Drug #2,

{actReference classCode="0BS" moodCode="EYN™>
<id root="2e89840f~08b4-499c-805f-dd8415F4f8a5"/>
{/actReference>
¢/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G, k. 9.1, 3.25"/>
&l— Gk 9. 3.3, 2a;: Time Interval between Last Dose of Drug and Start of Reaction / Event (mumber) Drug #2, Reaction #4 —

<l— G.X 9. 1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #2, Reaction H4 —>
<actReference classCode="0BS” mcodCode="EVN">
¢id rost="2e99840f-08b4-408c-80Ff-dd84151418a5"/>
</actReference?
</outboundRelationshipl>
{outhoundRelationshipl typeCede="SAS">
CpauseQuantity value="10" unit="G. k. 9. 1.3, 167/>
¢l—= 6.k 9.i.3. ta: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event (number) Drug #2,

¢l=- G.k.9.i.3. Ib: Time Interval between Beginning of Drug Adninistration and Start of Reactien / Event (unit) Drug #2,

<actReference classCode="0BS" moodCodé="EVN">
{id root="1071064c—cf10-4a3b-83c1-34f9ddbTeabd” />
</actReference® ’
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pavseQuantity value="10" unit="G.k.9.i.3.2b"/>
{l— 6.k.0.41.3.2a¢ Time Interval between Last Dose of Drug and Start of Reaction / Event (mumber) Drug #2, Reaction #5 —

¢{)— 6.k 9.4.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #5 —>

'CactReference classCode="0BS” moodCode="EVN™> . .
¢id root="1071064c-cf10~4alb=83c1-34£9ddb7eatid”/>

{/actReference>

{/outboundRelationshipl>

¢outheundRelationshipl typeCode="SAS™>

. {pauseQuantity value="10" unit="G.k.9.1i.3. 18"/
¢|— G,k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,

¢l=— G.%. 9.1, 3. 1b: Time Interval between Beginning of Drug Administration and Start of Reacticn / Event (unit} Drug H2,

<actReference classCede="CBS” moodCode="EVN">
<id roet="1f327283-10b6-4334~9d43-c925640fb18BL" />
{/actReference?
</outboundRelationshipl>
{outboundRelatienshipl typeCode="SAE™>
{panseQuentity value="10" unit="G k. 9.i.3.2b"/>
¢1— 6.k 9. 1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (number) Drug #2, Reaction #56 —

¢]— G.k 9.1.3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #6 —>
<actReference classCode="0BS" moodCode="EYN™>
¢id roots"1f927283~10b6-4334-9d43-e925640fb1BE"/>
</actReference>
{foutbeundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="6.k.9.1.3. 1b"/>
<l~- G.k.G.i.3. la: Time Interval between Beginning of Drug Administratiocn and Start of Reaction / Event (number) Drug #2,

&l— G.k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,

<actReference classCode="0BS" moodCode="EVN™>
{id ‘root="e0342969-38be-423f~b6bb—celdbc279d8e” />
</actReference?
{/outboundRelationshipl>
<cutboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k. 9. i.3.2b"/">
1= 6.k 0.i.3.2a° Time Interval beiween Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #7 --

_35_



)=~ G.%.9.4.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction ﬂ? -
CactReference classCode="0BS” moodCode="EVN™>
<id root="e0342965-38he—423f~b6bb=ce14be279d8e"/>
{/actReference)
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3. 1"/
¢t~ G.k.9.i.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #8 —> N
¢{l=—= G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #2,
Reaction #8 ——>
CactReference classCode="0BS™ moodCode="EVN">
<id root="alBGbe092-B0T0-426d-af04~6B63263443e0” />
¢/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode=" SAE >
{pauseQuontity value="10" unit="G.k.9. i.3.2b"/>
<l-- G.k.9.1.3.2a: Time Interval beiween Last Dose of Drug and Start of Reaction / Bvent (number) Drug #2, Reaction #8 —

¢l—— G.%.9.3.3 2b; Time Interval between Last Dose of Drug and Start of Reactmn / Bvent {(unit) Drug #2, Reaction #8 —>
{actReference classCode="0BS" moodCode="EVN™>
<id root="albbe092~8070-426d-af04-6863263443e0"/>
</actReferonco?
</outhoundRelationshipl®
<cuthoundRelationship2 typeCode="FERT">
¢ohservation ¢lassCode="0BS” moodCode="EVN™>
¢code code="6" codeSystem="2. 16. 840. 1. 113883, 3, 986, 2, 1. 1. 19" displayName="blinded"/>
{velue xsi!type="BL” value="true”/>
<l— G.k. 2.5 Investigational Product Blinded #2 ~->
{/chservation>
</outbnundRelationshipZJ>
<outboundRelationship2 typeCode="COMP™>
= G.k.4.r ! Dosage and Relevant Information (repeat as hecessary) #2-1 —>
{substanceAdministration classCade="$BADH™ moedCode="EVN">
<text>G. k. 4. r. 8</text?
{}— 6.k 4.r.B: Dosage Text #2-1 —>
<effectiveTime xsi:type="IVL_TS™>
{low value="2008010L"/>
{I— G.k.4.r. 4> Date and Time of Start of Drug #2-1 —>
<high value="200901017/>
¢l-- G.k.4.r.5: Date and Time of Last Admm:stratlan #2-1 —>
</effectiveTime>
<routeCode code="G.k. 4. 1. 10, 2b* codeSystem="2. 16, 840. 1. 113883, 3,989, 2, 1, 1, 14" codeSystemVersion="G. k. 4.r. 10.2a7>
{t— G. k. 4.r 10.2a: Route of Administration TermID Version Date / Number #2-1 —>
¢!— G. k. 4.1.10.2b: Route of Administration TermID #2-1 -—>
CoriginalText>G, k. 4. r. 10. 1{/originalText>
3— G.k.4.1.10.1: Route of Administration (free text) #2-1 —>
</routeCode>
<doseQuantity value="10" unit="G.k. 4.r, 1b"/>
()= G. k. 4. 1. 13 Dose (number) #2~1 —=>
<}— G. k.4.r,1b: Dose {unit) #2-1 —>
{consunable typeCode="CSH™>
<instance0fKind classCode="INST™>
<praductInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText)
<!— G.k.4.1.7: Batch / Lot Number #2-1 —>
¢/productInstancelnstance>
<kind0fProduct classCode="MHAT" determinerCode="KIND">
{fornCode code="G.k. 4.1.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r. & 2a">
{!— G.k. 4.1.9, 2a} Pharmaceutical Dose Form TermlD Version Date / Number #2-1 —>
¢t— G.k.4.7.9.2b! Pharmaceutical Dose Form TermID #2-1 —>
<originalTextG. k. 4, 1. 9. 1</originalText>
¢l= G.k.4:r.9. 1: Pharmaceutical Dose Form (free text) #2-1 —>
{/formCode>
</kindDfProduct>
¢/instance0iKind>
</consumahle>
<inboundRelationship typeCode="REFR™>
<observation classCede="0BS” moodCode="EVYN">
<code code="28" codeSysten="2.16. 840, 1. 113883, 3, 989. 2, 1. 1. 19" displayName="parentRouteOffdministration”/>
<value xsi:type="CE” code="G.k. 4. r.11. 2b" codeSystem="2. 16, 840, 1. 113883, 3. 988, 2. 1. 1. 14" codeSystemVersion="6.k.4.r.
11 22"
¢l G,k 4.r. 11 2a: Parent Route of Administration TerwlD Version Date / Number #2-i —>
<l— G.k.4.r.11. 2b: Parent Route of Administration TermID #2-1 —->

- 36 -



11, 2a">

SoriginalText>G. k. 4. ». 11. 1{/original Text>
¢l— G.k.4.r. 11, 1: Parent Route of Administration (free text) ¥2-1 —>
¢/value>
¢/obzervation)
{/inboundRelationship?
</substanceAdministration>

</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>

¢!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 —>

{substanceAdministration elassCode="SBADM" mcodCode="EVN™> ) ‘
{text>G. k. 4. r. 8¢/ text> '
{!— G k. 4.r.B: Dosage Text #2-2 -—>

<effectiveTime xsi:type="IVL_TS™>
<low value="200901017/>
¢!— G.k 4.1, 4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k. 4.r.6b"/>
¢|-- G.k 4. r.6a: Duration of Prug Administraticn (number) #2-2 —>
¢1—= Gk 4.1, 6b: Duration of Drug Administration {unit) #2-2 —>
{feffectiveTime> .
CrouteCode code="G. k. 4. r. 10, 2b” codeSystem="2. 16. B40. 1. 113883, 3.989. 2. 1. 1. 14" cedeSystemVersion="G. k. 4.r. 10. 2a™>
{l— G.k. 4.r.10, 2a: Route of Administration TermID Version Date / Number #2-2 —->
¢l== G, k.4.r.10.2b: Route of Administration TermID #2-2 -=>
<originalText>G. k. 4. r. 10. I{/originalText>
¢l G.k.4.1.10, 1 Route of Administration {free text) #2-2 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢I— G.k 4.x. la Dose (number) §2-2 —>
¢!— G.k. 4. x,1b: Dose (unit) #2-2 —>
{consumable typeCode="CSH™>
¢instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. xr. 7¢/lotNumberText>
{|-- G.k.4.r. 7 Batch / Lot Number #2-2 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
<forwCode cade="G. k. 4. 1.9, 2b" codeSystem="TBD-DoscForn” codeSystemVersion="6.k.4.1.9.2a">.
{l=—= G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 -->
{l— G,k 4.r.9.2b: Pharmaceutical Dose Form TermID #2-2 --> .
<originalText>G. k. 4. r. 9. 1</originalText>
<i— G.k 4.r. 9. 1! Pharpaceutical Dose Form (free text) #2-2 —>
{/fornCode>
¢/kindOfPraduct>
{/instance0fKind>
{/congumable>
<inboundRelationship typeCode="REFR™>
<ohservation classCode="0BS” moadCode="EVN™>
¢code code="28" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
<yalue xsi!type="CE” code="6.k.4.r.11.2b" codeSystenm="2.16. 840. 1. 113883, 3, 988. 2. 1. L. 14" codeSystenVersion="f. k. 4. r.

<l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-2 —>
¢!— G.k.4.r.11. 2h: Parent Route of Administration TermID #2-2 —>
CoriginalText>G. k. 4. r. 11 1</originalText>
¢lm= G.k.4.r.11. 1! Parent Route of Administratien (free text) #2-2 —>
</value> '
{/observation®
{/inboundRelationship>
</substanceAdministration>

</outboundRelationship2>
{sutboundRelationship? typeCode="COMP™>

¢l— G.% 4.r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdninistration classCode="SBADM" moodCode="EVN™> -
{textDG. k. 4. r. 8¢/text>
I~ G.% 4.r.8: Dosage Text #2-3 —>
(effectiveTime xsi:type="IVL_TS">
¢wridth value="4" unit="G.k. 4.r.6b"/> R .
¢}— 6.k 4. r. 6a: Duration of Drug Administration (number) #2-3 —>
¢t— G.k. 4.1.6b: Duration of Drug Administration (unit) #2-3 —>
¢high value="200901017/>
{1== G.k.4.r.5: Date and Time of Last Administration H2-3 ——>
{/effectiveTime> . .
CrouteCode code="G.k. 4.r. 10, 2b" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 14" codeSystemVersion="G. k. 4.r. 10. 2a"™>
¢1== G. k.4.1r.10.2a; Route of Administration TermID Version Date / Number #2-3 —>
<{1— G.k.4.r.10, 2b: Route of Administration TermiD #2-3 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
¢l G.k.4.r.10.1: Route of Administration (free text) §2-3 —>
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11.2a™>

{/routeCode>
{doseQuantity value="10" unit="G.k 4.r, 1b"/>
{l— G.k 4.r.1a Dose [(number) #2-3 —>
¢!— G,k 4. r. 1b: Dose (unit) #2-3 —>
<consumable typeCode="CSM™>
<instance0fKind classCode="INST">
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumherText)G, k. 4. r. 7¢/lotNumherText>
¢}— G.k. 4.r.7: Batch / Lot Number #2-3 —>
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G, k. 4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢l~~ G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —->
¢{|— G.k.4.r. 9 2b: Pharmaceutical Dase Form TermID #2-3 —>
<originalText>G. k. 4. 1. 9, 1¢/originalText>
¢]— 6.k 4.1.9, 1: Pharmaceutical Dose Form (free text) #2-3 —->
</formCode>
</kind0fPraduct>
{/instance0fKind>
</consumabled
<inboundRelationship typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN™>
<code code="28" codeSysten="2. 16. 840. L. 113883, 3, 989, 2. 1. I, 19" displayName="parentRouteOfAdministration”/>
{value xsi!type="CE” code="G. k. 4. r. 11. 2b" codeSystem="2, 16. 840, 1. 113883. 3.989. 2. 1. 1. 14" codeSystenVersion="6, k. 4. r.

¢}~ G.k.4.r.11.2a: Parent Route of Administratien TermID Version Date / Number ¥2-3 —>
{J== G k.4.r.11.2b! Parent Raute of Administration TexmID #2-3 - ‘
{originalText>G. k. 4. r. 11. 1</originalText>
¢l= G.k. 4.r. 11 1¢ Parent Route of Administration {free text) §2-3 —
</value>
{/ohservation>
¢/inboundRelationship>
¢/substanceAdministration?
</outboundRetationship2>
{outboundRelationshinZ typeCode="COMP™>
<!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —
{substanceAdninistration eclassCode="SBADM™ moadCode="EVN">
<{text)G, k. 4. r. 8</text>
<!=- G.k. 4. r.8: Dosage Text #2-4 —>
{effectiveTime xsi:type="SXPR_TS™>
Ccomp xsi:type="PIVL_TS™>
¢period value="10" unit="G.k.4.r.3"/>
{l—— G.k.4.r.2: Number of Units in the Interval #2-4 -->
¢I— G,k 4, r.3: Definition of the Time Interval Unit #2-4 ——>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
¢!— 6.k 4. 1. 4: Date and Time of Start of Drug #z-4 —> )
{/comp>
{/effectiveTime>
{routeCode code="G.k. 4. 1. 10.2b” codeSystem="2, 16. 840. 1. 113863, 3. 980. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r. 10.2a">
<1— G.k.4.r.10,2a:. Route of Administration Termll} Yersion Date / Number #2-4 —>
{1— G.k.4.1.10,2b: Route of Administration TermID #2-4 —>
<originalText>G. k. 4. r. 10, 1{/originalText>
¢l— 6.k 4,r.10.1: Route of Admm:stratmn (free text) {2-4 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.1, 1b"/>
¢{l— G.k. 4.r.1a Dose (humber) #2-4 —>
<l G k. 4.r. 1b: Dose (unit) H2-4 —>
<consupable typeCode="CSH™>
{instance0fKind oclassCode="INST">
{productinstancelInstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l— G.k. 4. 1. 7: Bateh / Lot Humber #2-4 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
<formCode code="G.k. 4.r.9,2b" codeSystem="TED-DoseForm™ codeSystenVersion="G.%. 4.r.9. 2a">
¢]— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
¢l== G.k,4,r,9.2b: Pharmaceutical Dose Form TermID #2-4 —>
CoriginalText>G. k. 4. r. 9. 1</originalText>
¢!— 6.k 4.r. 9 1: Pharmaceutical Dese Form (free text) #2-4 —>
{/fermCoded
</kindOfProduct>
</instance0fKind>
{/consumable}
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{inboundRelationship typeCode="REFR™>
{abservation classCode="0BS" moodCode="EYN">
¢cade code="28" codeSystew="2. 16,840, 1, 113883, 3, 989. 2. L. 1. 19" displayName="parentRoute0fAdministration”/> .
<va1ue xsittype="CE" code="G.k. 4. 1.1L 2b" codeSystew="2. 16, 840, 1, 113883, 3. 989, 2, L, [, 14" codeSystenVersion="G. k. 4.r.

11, 2a™>
<l— G.k.4.7.11,2a: Parent Route of Administration TermID Version Date / Number #2—4 -
Y=~ G. k. 4.r. 11. 2b: Parent Route of Administration TermID #2-4 ——>
CoriginalText>G. k. 4. r. 11, 1{/originalText>
¢1== G.k.4.r.11.1: Parent Route of Administration (free text) #2—4 —>
{/valued
{/observation>
</inboundRelationship>
{/substanceAdministration> .
¢/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢l== G.% 4. r: Dosage and Relevant Information (repeat as necessary) #2-5 —>
<substanceAdministration classCode="SBADM” moodCode="EVN™>
<text>G. k. 4. r. B</text>
{l— G.k.4.r.8: Dosage Text #2-5 -~
<effectiveTime xsi:type="SXPR_TS™>
<{comp xsi:type="PIVL_T§™>
<peried value="10" unit="G.k.4.1.3"/">
<l— G.k,4,1.2: Number of Urnits in the Interval #2-5 —>
{l~= G.k.4.r.3: Definition of the Time Interval Unit #2-5 —>
{/comp>
{eomp xsiitype="1¥L_TS™ eperatar="A">
<high value="200901017/>
{l— G.k.4.r.5: Date and Time of Last Administration #2-5 —>
{/comp>
<{/effectiveTime>
¢routeCode code="G.k. 4.r, 10. 2b" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. L 1, 14" codeSystenVersion="6. k. 4.1, 10, 22"
¢l— G.% 4.1.10. 22! Route of Administration TernID Version Date / Number #2-5 —>
<l— G.k.4.r.10,2b: Route of Administration TermID #2-5 —>
<ariginalText>G. k. 4.r. 10. 1{/criginalText>
<l— G.k. 4,r.10. 1: Route of Administration (free text) #2-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
¢l-— G.k.4.r.la Dose (number) H2-5 —>
{l— G.k. 4.r.1b: Dose (unit) #2-5 —>
{consumable typeCode="CSH™>
{instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNunberText>G. k, 4, r, 7</lotNumberText>
¢1-- 6.k, 4,r, 7: Batch / Lot Number #2-5 —>
¢/productInstancelnstance>
! ¢kindOfProduct classCode="MMAT™ determinerCode="KIND">
<FormCode code="G, k. 4.1.9. 20" codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a™>
¢lm= G.k.4.1.9. 2a! Pharmaceutical Dose Form TermID Versien Date / Nunmber #2-5 -->
<l— G. k. 4.1.9.2b: Pharmaceutical Dose Form TernID #2-5 —> -
<originalText>G, k. 4, r, 9. 1</originalText>
¢le~ G,k 4,1.9.1: Pharmaceutical Dose Form {frec text) #2-5 —-> .
¢/formCode>
</kind0fPreduct’
</instance0fKind>
</consumable>
) <inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN")> °
<eode code="28" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" displayName="psrentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="C.k. 4.r.11.2b" codaSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1, 1. 14" codeSystemVersion="G. k. 4. r.
11, 2a™>

¢{l=—— G.k.4.1. 11, 2a; Parent Route of Administratien TerwID Version Date / Number ¥#2-5 —>
{l— G.% 4,r, 11,2b: Parent Reute of Administration TexmID #2-5 -=>
CoriginalText>G. k. 4. 1. 11, L{/foriginalToxt>
{!— G.k. 4.r.11, 11 Parent Route of Administration (free text) #2-5 —>
</value>
<{/observation?
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢<!— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-6 -->
¢substanceAdninistration classCode="SBADH" mocdCode="EVN™>
Ctext)G. k. 4. r. B¢/ /text>
{!— G.k.4.r.8: Dosage Text #2-6 —>
<effectiveTime xsi:type="SXPR_TS™>
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{comp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>
¢!~ G.k.4.r.2: Number of Units in the Interval #2-6 —>
¢l— G. k. 4.1.3: Definition of the Time Interval Unit ¥2-6 —>
- </comp>
{comp xsi:type="IVL_TS" operator="A">
<width value="4" unit="G.k.4.r.6b"/>
¢l-— G.k.4.r. 6a: Duration of Drug Administration (number) #Z-E —
¢{I— G.k.4.r.6b: Duration of Drug Administration (unit) #2-6 —>
</comp>
/effectiveTime>
(routeCade code="G. k. 4. 1. 10. 2b” codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenYersion="G. k.4.1. 10 2a">
{!— G.k.4.r. 10, 2a: Route of Administration TermID Version Date / Number ¥2-6 —>
<i— G.k.4.1.10. 2b: Route of Administration TermID #2-6 —>
CoriginalText>G. k. 4. r. 10, 1{/originalText>
¢1— Gk 4. . 10.1: Route of Administratien (free text) #2—6 —>
</routeCode? , .
{doseQuantity value="10" unit="G. k. 4.r, 1b"/>
— G.k 4.r.1a Dose (number) #2-6 —>
= G. k. 4.r.1b: Dose (unit) #2-6 —>
<gonsumable typeCode="CSM™> -
¢instance0fKind classCode="INST"™> :
- {productInstancelnstance classCodes"MMAT” dete:rmme:rCode— INSTANCE™> '
<lothunberText>G, k. 4, r. 7</lotNumberTaxt?
¢I— G.k.4.xr.7! Batch / Lot Number #2-6 —>
</productInstancelnstance>
¢kind0fProduct classCode="MMAT" determinerCode="KIND">
(fornCode code="G. k. 4.1.9. 2b” codeSystem="TBD-DoseForm” codeSystemVersion="0.k.4.r.9.2a"™>
<!— G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 ——>
<l== G.k 4.71.9.2b: Pharmaceutical Dose Fort TermlD #2-6 —>
CoriginalText)G. k. 4. r. 9. 1</originalText>
{}—- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 -->
</formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
. {ohservation classCode="0BS" mocdCode="EVN™>
{code code="28" codeSystem="2. 16.840. 1. 113883, 3.989. 2, 1. 1. 19" displayName=" parentRﬂuteOfr‘tdmm1stmt1on v
¢value 2sitype="CE" cods="G. k. 4. r. 11. 2b" codeSystem="2, 16, 840, 1, 113883. 3.989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r.

1. 2a™
<!— G.k.4.1.1]. 2a: Parent Route of Administration TermID Version Date / Mumber #2-6 —>
¢lw= G.k.4.1.11. 2b: Parent Route of Administration TermID #2-6 —>
<originalTextG. k. 4. r. 11. 1</originalText>
¢l— G, k.4, 1. 11. 1! Parent Route of Administration (free text) #2-6 —>
</value> '
{/ohservation>
{/inboundRelationship>
</substanceAdninistration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —
¢substanceAdninistration classCode="SBADM” moodCode="EVN">
{text>G, k. 4, r, 8¢/ text>
(1=~ G. k. 4.r.B: Dosage Text #2~7 ~—>
{effectiveTime xsi:type="PIVL_TS">
<period value="10" unit="G.k.4,1,37/>
¢l—= G, k. 4,r.2: Number of Units in the Interval #2-7 —>
¢l— G.k.4.r.3: Definition of the Time Interval Unit #2~7 -->
</effectiveTime>
{routeCode codes"G, k. 4.1, 10,2b" codeSystem="2. 16. 840. 1. 113883, 3. 089, 2, 1. 1. 14" codeSystemYersion="G. k. 4. r. 10. 2a™>
¢l== G.k.4.r.10.2a: Route of Administratien TermID Version Date / Number #2-7 -->
<|~— G.k 4.1.10.2b: Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 10. 1<{/originalText>
¢l— G. Xk 4.r 10, 1; Route of Administration {(free text) #2-7 -=>
¢/routeCode>
¢doseQuantity value="10" unit="G.k 4.r.1b"/>
<l— 6.k 4.r.1a Dose (number) #2-7 —>
{l=— G. k. 4.r. 1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<LotNumberText>G. k. 4. x. 7</lotNumberText>
¢l G.k.4.1.7: Batch / Lot Number #2-7 -=>
{/preductInstanceinstance’
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{kind0fProduct elassCode="YMAT" determinerCode="XIND">
<fornCode code="G.k 4.r.9.2b" codeSystem="TRD~DoseForn” codeSystemVersion="G.k.4.r.9.2a">
¢}— G.k.4.1.9, 2a: Pharmaceutical Dose Form TernlD Versien Date / Number #2-7 —>
¢1== G.k.4,1.9. 2b: Pharmaceutical Dose Form TermID #2-7 —>
{originalText>G, k. 4. r. 9. 1</originalText>
¢1— G.k.4.1.9.1: Pharmaceutical Dose Form (free text} #2-7 —>
</fornCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EYN"> .
<code code="28" codeSystem="2. 16. 840, 1 113883, 3,989, 2, 1, 1. 19” displayName="parentReuteDfAduinistration”/>
¢value xsi:type="CE" code="G.k.4.r.1l,2b" codeSystem="2. 16. 840, 1, 113883, 3. 980, 2. 1. 1. 14" codeSystenVersion="G.k.4.r.
11.2a™> '
¢l— G.k 4.7, 11. 2a: Parent Route of Adwinistration TermID Version Date / Number #2-7 —>
¢l=~ G.k.4.r.11. 2b: Parent Rovte of Administration TermID #2-7 -
<originalText>G. k. 4. 1. 11. 1</originalText>
¢|— G.k.4.r,11.1: Parent Route of Adwinistration (free text) #2-7 —>
{fvalue>
¢/observation?
</inbeundRelationship>
{/substancepdministration>
</outbeundRelationship2’
<putboundRelationship? typeCode="COMP™>
¢l— G.k 4.1 Dosage and Relevant Information (repeast as necessary) #2-8 —>
{substanceAdministration classCode="SBADM™ moodCede="EVN">
{textdG. k. 4. 1. 8¢/text? '
¢{l— G.k.4.1r.8: Dosage Text #2-8 —>
¢effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢}=— G.k.4.1.4: Date and Time of Start of Drug #2-8 —>
{/effectiveTime>
<routeCode code="G. k. 4. r. 10. 2b” codeSystem="2, 16.840. 1. 113883. 3. 989, 2. 1. 1. 14" .codeSystenVersion="0. k. 4. 1. 10, 2a™>
¢i— G.k 4.1.10.2a: Route of Administration TermID Version Date / Number #2-8 ~=>
(1= G.k 4,r.10,2b: Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r. 10. 1</originalText> ‘
¢|— G. k.41 10. 1t Route of Administration (free text) #2-8 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
¢lem G k. 4.r. la Dose (number) #2-8 —>
+ ¢l— 6.k 4.r Lb: Dose (unit) #2-8 -
{consumable typeCode="CSM™>
<instance0OfKind classCode="INST">
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. T</lotNumberText>
¢l— G,k 4.r. 7: Batch / Lot Number #2-8 —>
{/productInstancelnstance’
<kind0fProduet classCode="MMAT” determinerCode="KIND">
(formCede code="G, k. 4. 1. 9. 2b” codeSysten="TBD-DoscForm” codeSystemVersion="G.k: 4.r.9.2a™>
¢I-- G.k.4.r.9. 24! Pharmaceutical Dose Form TermlD Version Date / Number #2-8 —>
¢l-— G. k. 4.1.9. 2b: Pharmaceutical Dose Form TermlD #2-8 -->
{originalText>G. k. 4. r, 9, 1</originalText>
<I= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
</formCode>
<{/kind0fProduct>
{/instance0fKind>
¢/consumable>
¢inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2.16.840. 1. 113883, 3, 989. 2. 1. 1. 187 displayName="parentRotite0fAdministration”/>
¢value xsi:type="C8" code="G.k. 4.r.11.2b" codeSysten="2, 16. B40. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G.k. 4.r,

11.2a"™> .
¢<l— G.k.4.1. 1L, 2a: Parent Route of Administratien TernID Version Date / Number #2-8 ——>
¢l— G. k. 4.r, 11, 2b: Parent Raute of Administration TermID #2-8 -->
CoriginalText>G. k. 4. r. 11. 1{/originalText>
¢|— G. k. 4.r. 1L 1 Parent Route of Administration (free text) #2-8 —>

</value> !
{/abservation>
</inbcundRelationship>
{/substanceAdministration>
¢/outboundRelationshipZ>
<outboundRelationship2 typeCode="COMP™>
¢|— G.k 4, r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM” mocdCode="EVN">
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<text)G. k. 4. r. 8{/text>
¢!— G.k.4.r.8: Dosage Text §2-0 --> ,
{effectiveTime xsi:type="IVL_TS™>
<high value="200001017/>
¢1— G.X.4.r.5: Date and Time of Last Adninistration #2-9 «=>
¢feffectiveTimed ' .
{routeCode code="G.k.4.r.10,2b” codeSystem="2. 16.840. 1.113883. 3.989. 2. 1. 1, 14" codeSystenVersion="G. k. 4. r. 10. 2a™>
<l— G.k,4.r.10,2a: Route of Administration TernID Yersion Date / Number #2-9 —>
<= G.k.4.r.10.2b: Route of Administration TermID #2-9 —>
<originalTextdG. k. 4. r. 10, [¢/originalText>
<l— G k.4.r.10.1: Route of Administration (free text) #2-9 —>
¢/rduteCoded
<doseQuantity value="10" unit="G.k 4.r. 1b"/>
= 6.k 4.x. la Dose (number) §2-9% —>
{l~=G.k 4.r.1b: Dese {unit} #2-9 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
<preductInstancelnstance classCode="MMAT™ determinerCode="INSTANCE™>
<lotNumberText)G. k. 4, r. 7</lotNumberText>
¢l G.k.4.r.7: Batch / Lot Number #2-0 —>
¢/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">

{foraCode code="G, k. 4.r.9. 2b" codeSystem="TBD-DosePorn” codeSystewVersion="G.k.4.r.9.22">
¢4— G.k.4.r.9.2a: Pharmaceutical Dose Form TermlD Yersion Date / Number #2-9 =->
{1-- G.k.4.r.9.2b: Pharmaceutical Doss Form TermID #2-9 —>

{originalText)G. k. 4, r. 9, 1¢/originalText>
<l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text} #2-3 —>
</formCode>
{/kind0fProduct>
</instance0fKind>
{/consumable>
¢inboundRelationship typeCode="REFR™> ,
<observation classCode="0BS" moodCode="EYN">
{code code="28" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="parentRoute0fAdministration™/>
¢value xsi:type="CE” code="G.k.4.%. 11.2b" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 147 codeSystemVersion="G. k. 4.r.
11. 2a™>
<l— G.k.4,r. 11. 2a: Parent ‘Route of Administration TernID Versicn Date / Number #2-9 —>
<l-- G.k.4.r. 11. 2b! Parent Reute of Administration TernID #2-9 —>
{originalText>G. k. 4. r. 11, 1</original Text>
¢l— G.k.4,r.11. 1: Parent Route of Administration {free text) H2-9 —>
{/value>
</ohservation®
</inhoundRelationship>
{/substanceAdninistration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
<!— Gk 4 r! Dosage and Relevant Information (repeat as necessary).}2-10 —>
{substanceAdministration classCade="SBADM” moodCode="EYN™>
{textdG, k. 4. r. 8¢/ text>
¢l-- G.k.4.r.8: Dosage Text #2-10 —>
{effectiveTime xsi:type="1YL_TS™>
<width value="4" unit="G, k. 4.r.6b"/>
¢l== G.k.4.r.6a: Duration of Drug Administration (number) #2-10 —>
¢l— G.k.4.r.6b: Duration of Drug Administration (unit) #2-10 —>
{feffectiveTine>
{routeCode cade="G. k. 4. r, 10.2b" codeSystem="2. 16. 840. 1. 113883, 3. 980. 2, L, 1. 14" codeSystenYersion="G. k. 4. r. 10. 2a">
¢l=~ G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #2-10 —>
<l— G.k.4.r. 10.2b: Route of Administration TermID #2-10 —>
<originalText?G. k. 4. 1, 10, 1¢/originaiTaxty ’
¢I— G.k.4,r, 10, 1: Route of Administration (free text) #2-10 —>
<{/routeCode?
’ <deseQuantity value="107 wnit="G.k.4.r. 1b"/>
<!~ G.k.4.1. 12 Dose (number) #2-10 =-->
¢I— G.k 4.1, 1b: Dose (unit) #2-10 —>
{consumable typeCode="CSM"> '
¢InstanceOfkind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. x, 7</lotNumberText>
¢I~- G. %k 4.r. 7: Batsh / Lot Numher #2-10 —>
</productInstancelnstance’
<kindOfProduct classCode="MMAT" determinetrCode="KIND">
{fornCode code="G.k.4.r1.9.2h" codeSystem="TBD-DoseForm” codeSystemVersion=" G. k.4.r.9.2a™
¢!— G,k.4.7. 9 2a: Pharmaceutical Dose Form TernID Version Date / Number #2~-10 —>
*(i== G. k.4, 1.9, 2b! Pharmaceutical Doge Form TermID #2-10¢ —>
{originalText>G. k. 4. 1. 9. 1</eriginalText)
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¢!— G.k 4.7.9.1: Pharmaceutical Dose Forn (free text) #2-10 —>
</fnrm€ode>
</kind0fProduct>
¢/instance0fKind>
{/consumable>
{inboundRelatienship typeCode="REFR™>
{observation classCode="0BS" moodCode="BVN">
<code code="28" codeSystem="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="parentRoute0fAdministration”/>
Cvalue xsi:type="CE” code="6.k.4.r.11,2b" codeSystem="2.16.840. 1. 113883, 3, 980. 2. L. 1. 14" codeSystenV¥ersion="G. k. 4.r.
11, 2a™>
¢{— G.k.4.1,11.2a: Parent Route of Administration TermlD Yersion Date / Number #2-10 —>
{l== G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 —>
CoriginalTextG. k. 4.1, 11. 1{/originalText>
¢l— G.k.4.1.11,1: Patent Route of Administration (free text) #2-10 —
{/value>
{/abservation>
</inboundRelationship?
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="SUMM">
{chservation classCode="0BS" moodCode="EVN">
(code codes"14" codeSystem="2. 16.840. 1. 113883, 3.983.2.1.1.19" dlsplay}lame— cumulativeDoseToReaction™/>
{value xsi:type="PQ” value="10" unit="G. k.5b"/>
¢!~= G.k 5a: Cumulative Dose to First Reaction (number) #2 -->
41— G.k Bb: Cumulative Dose to First Reaction (unit) #2 —>
{fobservatian>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT"> -
{observation classCcde="0BS" moodCode="EVN™>
¢code code="16" codeSystem="2. 16, 840. 1. 113883. 3,989, 2. 1. 1. 19" displayName="gestationPeriod™/>
¢value xsi:type="PQ" value="10" unit="G. k. 6b7/>
¢!— G,k Ga' Gestation Period at Time of Exposure (number) #2 —>
¢!~ G.k 6b: Gestation Period at Time of Exposure (unit) #2 —>
</observation>
{/outboundRelationship2> B
{outboundRelationship? typeCode="PERT™>
<observation classCode="OBS” moocdCode="EVN">
<code code="31" codeSystem="2. 16. 840, 1. 113883. 3. 589, 2, 1, 1, 19" displayName="recurrance0fReaction”/>
¢value xsi:type="CE” code="G.k.9.1.4" codeSystem="2, 16. 840: 1. 113883, 3, 989. 2. 1. 1. 1§"/>
¢l G.k 8.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 -=>
<outhoundRelationshipl typeCode="REFR™>
<actReference classCode="0BS" mocdCode="EVN™>
{id root="154eb889-958b-45f2-a02f-42d4d6f4657"/>
</actReference>
¢/outboundRalationshipld>
<{/observation>
</outboundRelatienship>
¢outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="31" codeSysten="2. 16, 840, 1, 113883, 3.989. 2. 1. 1.19” displayNeme="recurranceOfReaction”/>
¢value xsi:type="CE" code="G. k.9.i.4" codeSystem="2, 16.840. 1. 113883, 3,989.2.1.1.16"/>
¢l— 6.k, 9,i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 -
<outhoundReletionshipl typeCode="REFR™> '
<actReference classCode="CBS” moodCode="EVN">
<id root="2baa28d6-cleB-deGic-93e9-5b860b3142207/>
{/actReference>
</outboundRelationshipl>
</observation}
</outboundRelationship2> . .
¢outboundRelationshipZ typeCode="REFR™>
{ohservation classCode="0BS" moocdCode="EVN™> )
¢code code="D" codeSystem="2. 18, 840. 1. 113883.3. 982, 2, 1. 1. 19" displayName="cadedDrugInformation”™/>
¢value xsi:types"CE” code="G.k.10.r" codeSystem="2.16.840, I, 113883.3.989.2.1.1.17"/>
¢!— G.% 10,r: Additional Infermation on Drug {coded) {repeat as necessary) #2-1 —>
</observaticn?
</outboundRelationship2>
{outboundRelationship? typeCode="REFR™> -
{chservation classCode="0BS" moodCode="EVN™>
<code code="9" codeSystem="2, 16. 840, 1. 113883.3.989.2. 1. 1. 19 displayName="cededDrugInforzation” />
¢value xsi:type="CE” code="G.k. 10.1" codeSystem="2. 16. 40, 1, 113883. 3.989.2.1. 1, 17"/>
¢l— 6.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
</obgervatien>
</vutboundRelationship2>
<putboundRelationship2 typeCode="REFR">
{ohservation classCode="0BS" moodCode="EVN™>
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{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="additionalInformation”/>
{value xsi:type="ST7>G.k.11<{/valua>
(l=- G.k.11: Additicnal Information on Drug (free text) #2 ——>
</observation’
</outheundRelationship2>
{inkoundRelationship typeCode="RSON">
Cchservation classCode="CBS” moodCode="EVN"> -
{eode code="19" codeSystem="2, 16, 840, L. 113882, 3, 989, 2, L. 1, 18" displayName="indication"/>
<yalue xsi:type="CE” code="G.k.7.r.2b" codeSysten="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="G.k.7.r1.2a">
{l-~ G.k. 7.r.28: MedDRA Yersion for Indication #2-1 —>
{1-= G, k.T.r.2b: Indication (MedDRA code) #2-1 —
<originalText>G. k. 7. 1, 1</eriginalText>
¢|— G.k.7.r.1: Indication as Reported by the Primary Source #i-1 —>
</value> )
{performer typeCode="PRE™>
{assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16,840, 1, 113883. 3. 589. 2. 1. 1. 21" displayName="sourceReporter”/>
<fassignedEntity> '
{/performer>
{/observation’
</inboundRelationship>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN™>
(code cade="19" codeSysten="2, 16. B40, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="indication"/>
¢value xsiitype="CE” codes"G.k.7.r.2b" codoSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="G.k.7.r. 22>
<}-~ G.k.7.r.2a: MedDRA Version for Indication #2-2 —
{— G.k.7.r.2b: Indication (MedDRA code} #2-2 —>
CoriginalText>G. k. 7. r. 1{/originalText> \
¢l— G.k.7.x.1; Indication as Reported by the Primary Source H#2-2 -—->
<{/value>
<performer typeCode="PRF">
<assignedBntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1, 21" displayName="sourceRepocrter”/>
</assignedBntity>
</performer>
</observation>
¢/inboundRelationship>
{inboundRelatienship typeCode="CAUS™>
Cact elassCode="ACT" moodCode="EVN™>
<code code="G.k.8” codeSyster="2. 16. 840. 1. 113883. 3. 989 2.L.L15"/>
¢lw= G, k, 8: Action(s) Taken with Drug #2 —>
</act>
</inboundRelationship>
{/substanceAdministration>
{/component>
{forganizer’>
</sub fectOE2>
{subject0f2 typeCoda="3B]">
{organizer classCode="CATEGORY" moodCode="EVN">
<code code="1" codeSystem="2, 16,840, 1. 113883, 3.989. 5, 1, 3, 2. 1. 11" displayNane="{4BRDITE"/>
<component typeCode="COMP™>
<observation classCode="0BS" moodCode— EVN™>
Ccade code="7" codeSystem="2, 16, 840, 1. 113883. 3. 989, 5. 1. 3, 2, I, 10" displayName="/5 Hi[EI%"/>
<value xgiitype="INT" value="1"/>
¢l— @aJz. 13.r. 1: JEHEH #1 —>
&/observation>
{/component)
{component typeCode="COMP”>
<ohservation ¢lassCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2. 16. 840, 1, 113883, 3, 989.5. 1.3, 2. 1, 10" displayName="#1REM" />
<value xsi:type="ED">J2.13.r.2¢/valued
<!-—— @epjz. 13.r. 2: wHhEA H -
{/observation>
{/component>
{compohent typeCode="COMP">
{ohservation classCode="0BS" mcodCode="EYN™>
> Ccode code="9" codeSystem="2; 16. B40. 1. 113883. 3. 988. 5. 1. 3. 2. 1. 10" displayName="PRFE4R"/>
¢value xsi:type="CE” code="J2.13.r.3" codeSysten="2.16.840. 1. 113883.3,989.5,1,3.2, 1.7"/>
<l=- 86@J2. 13.r. 3: PERAE #1 —>
</observation?
{/eomponent>
{conponent typeCode="COMP">
{observation classCode="0BS" moodCade="EVN™>
¢epda code="10" codeSystem="2.16. 840, 1, 113883, 3.989.5.1. 3. 2. L. 10 displayName="{RFE F DIEF DO H " />
{value xsi:type="BL".value="true"/>
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<l— G@8J2.13.1. 4 BEPOEHNOCHE 1 —>
{/observation’
{/cemponent?
{/erganizer>
</subject0f2>
(subject0f? typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN™>
<cade code="1" codeSystem="2. 6. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 11" displayName="f5MRAOME" />
<component typeCode="COMP™>
{observation classCode="0BS" mocdGode="EVN">
¢code code="7" codeSystem="2, 16, 840. 1. 113883. 3. 989. 5.1. 3. 2. 1, 10" displayName="/B HEI$"/>
{value xsi:type="INT” value="1"/>
- 088]2.13.x. 10 jRIHEH #2 —>
{/abservation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" mocdCaode="EVN">
{eode code="8" codeSystem="2, 16, 840. 1. 113683.3.989.5. 1. 3, 2, 1. 10” displayName="%t8t5R" />
{velue xsiitype="ED">J2.13.r.2¢/value> N
<|-— 9812, 13.x.2: }HREM #2 —
{/chservation>
</component>
<cemponent typeCode="COMP">
{observation classCode="0BS" moodCede="EVN™>
{code code="9" codeSystem="2. 16. 840. 1. 113883, 3. 980, 5. 1, 3. 2. 1. 107 displayName="JR4E30"/>
¢value xsittype="CE” code="J2.13.r.3" codeSystem="2. 16,840, 1, 113883.3.989.5.1.3.2. ..7"/>
<|— @aa]2. 13.r.3: AR #2 —>
{/observation>
</component>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSysten="2. 16. 840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 10" displayName>"$FEP DIER DA "/
<value xsi:type="BL" value="false"/>
— @88]2. 13.7. 41 BEHOEFIOHE 42 -
{/observation>
</component>
{forganizer>
</subjectOr2>
{/primaryRole>
{/subjectl>
{component typeCode="COMP">
{causalityAssessment classCode=”DBS” moodCode="EYN™>
<code code="20" codeSystem="2.16.849. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="interventionCharacterization”/>
<value xsi!type="CBE” code="G.k 1”7 codeSystem="2, 16. 840, 1, 113883, 3,989.2. 1. 1. 137/>
<I— G.k.1: Cheracterisation of Drug Role Drug #1 ——>
<{subject? typeCode="SUB]">
{productUseRefercnce classCode="SBADM” meodCode="EVN">
<id roet="3c91b4d5-e030-4a7a-9c30-67671b0af9e4™/>
{/productlseReference>
</subject2>
</causalityAssessment)
{/compshentl
{eomponent typeCode="COMP">
{causalityAssessment classCode="0BS" moodCode— EVN">
<code code="20" codeSystem="2. 16.840. 1. 113883, 3,989, 2,1, L, 197 displayName="interventionCharacterization”/>
¢value xsiitype="CE" code="G, k. 1" codeSysten="2. 16. 840. 1. 113883, 3.98%. 2. 1. 1. 13"/>
¢1— G.k. 1: Characterisation of Drug Role Drug #2 —>
{subject? typeCode="SUBJ™>
<productUseReference classCode="SBADM” moadCode="EVN">
{id root="68d6f5ce—3b3b-45c7-02dd=69e06730c3a9"/>
¢/productlseReference’
{/subject2>
</causalityAssessment?
</eomponent>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode— EVN™>
{code code="38" sodeSystem="2. 16. 840, F; 113883, 3; 989, 2, I, 1. 18" displayName="causality”/>
<value xsiitype="ST™>G.k.9. 1.2, r,3</value>
{l— G.k.9.1i.2.r.3: Result of Assessment Drug #1, Reaction #1, Assessment #1 —>
<methodCede>
<originalfext>G. k. 9. i. 2. r, 2{/originalText>
¢l— 6.%.9.1.2.r 2 Method of Assessment Drug #1, Reaction #1, Assessment #1 —>
</wethedCode>
<author typoCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
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<coda>
{originalText>G. k. 9. i. 2. r. 1{/originalText>
¢l— 6.k 9.1.2.r 1! Source of Asséssment Drug #1, Reaction #1, Assesswent #1 —>
{feoder
</assignedEntity>
{/author>
¢subject] typeCode="SUBJ™>
<adverseBffectRefersnce classCode="0B3" moodCode="EVN™>
¢id root="154ebB89-558b-45f2-n02f~42d4d6T465TE" />
{/adverseEffectReference>
</subjectl>
<subject2 typeCode="SUBJ">
¢productUseReference classCode="SBADM” moodCode="EVN™>
¢id root="3c9lbdds~o039-4a7a-9c30-67671b0efTed” />
{/productUseReference>
¢/subject2>
{frauzalityAssessnent
{/compenent>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2. 16. 840. L. 113883, 3, 989. 2. 1. 1. 18" displayName="causality”/>
<value xsi:type="ST™>G.k.9.1i.2.r. 3¢/value>
<I~~G.k.9. 1. 2.1.3! Result of Assessment Drug #1, Reactioh H2, Assessment #1 —>
{methedCade>
CoriginalText>G.k. 9. i. 2. r. 2¢/originalText>
¢|=-G, k. 9.i.2. r.2¢ Method of Assessment Drug #1, Reaction {2, Assessment #l —7
</methodCode?
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{code>
{originalTextG. k. % 1, 2, 1, 1</originalText>
¢l— G,k 9.i.2. 1.1 Source of Assessuent Drug #1, Reaction #2, Assessment #1 —>
{/code>
¢/assignedBntity?
{/author>
<subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS" moodCode="EVN™>
<id rest="2baa28d6-cIe8-4eBe-93e9-6b860bI14220" />
¢/adverseEffectReference>
¢/subjectl>
{subject2 typeCode="SUBJ">
<{preductUseReference classCodew”SBADM” moodCode="EVN">
<id root="3c91bddE~e039-4a7a-9c30-67671b0efded” />
{/productUseReference>
{/subject2>
{/causalityAssessment?
</component>
{component. typeCode="COMP">
{causalityAssessment classCode="0BS" mocdCode="EVN">
<code code="39" codeSystem="2, 16, 840, 1. 113883. 3. 98. 2, L 1 19" displayName="causality”/>
Cvalue xsittype="ST">G. k. 9.i.2. r. 3¢/valuc>
¢l k.9.i.2.r. 3 Result of Assessment Nrug #2, Reacticn #2, Assessment ¥1 —>
{methadCede> .
A originalText)G.k.9. i.2.r.2<{/originalText>
¢1—G6,k, 9,1, 2. r.2: Method of Assessment Drug #2, Reaction H#2, Assessment #1 —>
{/methodCode>
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
{eode)
<originalText>G. k. 9, i. 2. 1. E</originalText>
¢!=—- G.k.9.1.2.1.1: Source of Assessment Drug #2, Reaction #2, Assessment #1 —>
{/code> '
{/assignedEntity>
{fauthor
<subjectl typeCode="SUBJ">
<adverseEffectReference classCode="0BS" moodCode="EVN™>
<id rost="2baa28db-cHel-4e6e~539-5bBE0D3 142207 />
</adverseEffectReference’
</subjectl> . -
<subject? typeCode="SUB]">
{productUseReference classCode="SBADM" moodCode="EVN">
¢id root="68d6f5ce—3b3b-45cT-02dd-60e06730c3a97/>
{/praductUseReference>
</subject2>
{/causalityAssessment?
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{/component)
Ccomponent typeCode="COMP™>
{causalityAssessnent classCode="0BS™ moodCode="EVN"> )
Ceode code="39" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="causality”/>
<value xsi:type="ST">G, k. 9.i.2. r. 3¢/valus> )
¢l k, 9. 2. r.'3: Result of Assessment Drug #2, Reaction #2, Assessment #2 -=> '

{methodCode>

{eriginalText>G. k. 9.1i.2. 1. 2{/originalText>

{1—G. k. 9,1.2.r.2; Method of Assessment Drug #2, Reaction #2, Assessment HZ —>
</nethodCode>

<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{eade> .
{originalText>G. k. 9. i. 2. r. 1{/criginalText>
¢t— G, k. 9.i.2 1. 1: Source of Assessment Drug #2, Reactioh #2, Assessment #2 —>
{feode>
</assignedEntity>
{fauthor>
{subjectl typeCade="SUBJ">
<adversebffectReference clasaCode="0BS" moodCode="EVN™>
<id root="2baa28d6-cYeB—defic-23e9-5b860b3142207/>
</adverseEffectReference
</subjectl> ’
{subjeect? typeCode="SUB]"> -
{productlUseReference classCode="SBADM™ moodCede="EVN™>
<id root="68d6f5ce-3b3h-45c7-92dd-69e06730c3a9" />
</productUseReference?
{/subject2>
¢/causalityAssessment>
</component>
<cemponent] typeCode="COMP™>
{observationBvent classCode="0BS" moodCode="EVN™>
<code code="10" codeSystew="2, L6. 840, 1, 113883, 3,989, 2, 1. 1, 19" displayName="comment”/>
{value xsi:type="ED">M. 2</value>
<l— H.2! Reparter’ g Comments ~—>
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED">
<ecode code="3" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sourceReporter”/>
</assignedEntity>
{/author>
_ </observationBvent>
{/component1>
<component]l typeCode="COMP™>
" <observationBvent classCode="0BS" mocdCode="EVN">
<eade code="15" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="diagnesis”/>
{value xsi:type="CE” code="IL 3.r. 1b" codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystenVersion="H. 3.1.1a"/>
¢l=- H.3.r.1a! MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #1 —>
<|— H.3.r.1b: Sender’'s Diagnosis / Syndrome and / or Reclassification of Reactien / Bvent (MadDRA code) #1 —>
<author typeCode="AUT"> )
(assignedEntity classCode="ASSIGNED">
{oode code="1" codeSysten="2. 16. 840, 1, 113883, 3,989, 2.1, 1. 217 displayName="sender”/>
{/assignedEntity>
</author>
</observationBvent>
¢/component1>
<compenentl typeCode="COMP">
<ohservationEvent classCode="0BS” moodCode="EVYN">
{code code="15" codeSystem="2. 16, 840. 1. 113883. 3. 589, 2. 1."1. 19" displayName="diagnosis™/>
<value xsi:type="CE” code="H, 3. r.1b" codeSystem="2.16.840.1. 113883, 6. 163" codeSystemVersion="H.3,r. 1a"/>
¢l— H.3.1.la: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #2 -—>
¢l—= H.3.r.1b! Sender's Diagnosis / Syndrome and / or Reclassificatien of Reaction / Event (MedDRA code) #2 —>
<author typeCode="AUT*>
<assignedEntity classCode="ASSIGNED"> |
{code code="1" codeSysten="2. 16. 840. 1. 113883. 3. 989, 2, 1, 1. 21" displayName="sender”/>
{/assignedEntity>
</author>
{/ubgervationEvent>
</eomponentl>
<componentl typeCode="COMP">
{ohservationEvent classCode="0BS" moodCede="EVN™>
<code code="10" cadeSystem="2. 16, 840. 1. 113883, 3, 989, 2. 1, L, 19" displayName="camment”/>
Cvalue xsi:type="ED">H. 4</value>
<l—- H.4: Sender's Comments -=>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
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¢code code="1" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, 1, 1. 217 displayNeme="sendex”/>

</assignedEntity>
{/author>
</observationBvent>
</component1>
{componentl typeCode="COMP™>
{observationBvent classCode="0BS" meodCode="EVN">

(code codes”3” codeSysten="2. 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 10" displayName="3RFETIZA T2 A

<value xsi:type="ED">J2.7.2¢/value>
¢l— 888J2.7.2: RETRHTIZIaALXT —>
{/observatienEvent>
{/componentl>
<componentl typeCade="COMP">
{shbservationEvent classCede="08S" moodCode="EVN">

{eode code="4” codeSystem="2. 16. 840, 1. 113883. 3,989, 5, 1.3,2. 1. 107 d:lsplayName—'Mﬁ&!i‘i@H&iﬁE'/)

{value xsi!type="ED">]J2.9¢/value>
(- g88F2. 9: MUEOHMERBE —
¢/chservationBvent)
</component1>
<cemponentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">

¢code code="5" codeSystem="2. 16.840. 1.113883.3.980.5. 1. 3. 2, 1. 10" displayName="4HDHIIL"/>

Cvalue xsi:type="ED">]J2, 10</value}
<1-- R88J2. 10 SHOFHE —>
{/ubservationEvent>
</componently
{component! typeCade="COMP">
<observatienEvent c¢lassCode="0BS” moodCode="EVN™>

¢eode code="6" codeSystem="2. 16, 840. 1, 113883, 3,989,5. 1, 3.2, 1. 107 displayName="% Db SERE" />

{value xsi!type="ED™>JZ, 11</value>
<)— @8eeJ2, 11: T OMEEWIASE —>
{/chservationEvent>
</conponentl>
<componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2. 16. 840. L. 113883, 3. 989.5.1.3.2. 1. 107

{value xsi:type="ED">]J2, 16¢/value>
<|— 806J2.16: HEPIEOIMMN > !
{/obgervationEvent> :
{/component1> <
<componentl typeCode="COMP">
<chservationBvent classCode="0B5" moodCade="EVN™>

(code code="13" codeSystem="2. 16.840. 1. 113883.3.98%.5.1.3.2. 1. 107

<valuo xsiitypes"EDT>J2. 19</value?
— @8aI2. 19: HFL —>
{/observationBvent>
</componentl>
<component] typeCode="COMP™>
{abservationEvent classCode="0BS” noodCode="EVN™>

{code code="14" codeSystem="2. 16, 840, . 113883. 3.989.5.1.3. 2. 1. 107

{value x5i:type="ED">]J2. 20</valuc)
¢l-- 9812 20: (&2 —>
(/observationBvent>
{/component1>
{eomponent]l typeCode="COMP™>
{ohservationEvent classCode="0BS" moodCode="EVN™>
<code code="15" codeSystem="%. 16, 840, 1, 113883. 3.989.5.1. 3. 2. 1, i
{value xsi!type="ED"2]2, 21{/valuc>
<1— geaje, 21; W% —
{/observationEvent>
</companentl>
{tomponentl typeCode="COMP">
{chbservationEvent classCode="0BS" moodCode="EVN™>

¢code code="16" codeSystem="2. 16.840. 1. 113883, 3,980.5.1.3. 2. 1. 10"

<value xsi:type="EDl">J2.22¢/value>
<1— @amyz. 22: {H=4 =
{/observationEvent>"
</component1>

{/adverseBventhssessment>
</component’ '
<component typeCode=" COMP >

{ohservationEvent classCode="0BS™ moadCode="EYN">

displayNeme="{R&PMEOHEL"/>

displayName="{§#1"/>

displayName="{§%2"/>

di splayName-—'ﬂi 37/

displayName="f#%4"/> (

[

(code code="1" codeSystem="2. 16. 840. 1. 113883, 3,989, 2, 1. 1. 19" displayName="additionalDacumentsivailable”/>

<value xsi:type="BL" value="true"/>
{1 C.1.6.1: Are Additional Documents Available? —>
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</observationEvent>
</component>
{conmponent typeCode="COMP™>
<observationBvent classCode="0B5" moodCode="EVN™>
{code code="23" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayNape="localCriteriaForExpedited™/>
<value xsi:type="BL" value="true”/>
<l—-C,1,7: Does This Case Fulfil the Local Criteria for an Expedited Report? —»
{/observationBvent>
</compenent
{eonponent typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>
¢code code="36" codeSystem="2. 16, B40. L. 113883. 3.989. 2. 1. 1. 19" displayName="summaryAndComment”/>
<yalue xsiitype="ED” language="IL 5. r. 1b™>H. 5. r. 1a¢/valued
¢lwe 1. 6,7.1a: Case Summary and Reporter’s Comments Text H1 =)
¢I-- H.5.r.1b: Case Summary and Reporter's Comments Language #1 —>
<auther typeCode="AUT"> .
<assignedEntity classCode="ASSIGNED™>
Ccode code="2" codeSysten="2, 16, 840. 1. 113883, 3, 289, 2. 1. 1. 21" displayName="reporter”/>
{/assigredEntity>
</author>
</observationEvent>
{/component>
{compenent typeCode="COMP™>
{observationEvent classCode="0BS" mecdCode="EVN">
¢code code="36" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="summaryAndComment™/> .
{value xsi!type="ED” language="H.35.r.1b™>K. 5. r. 1a</value>
¢les W, B.r.1a: Case Summary and Reporter’s Comments Text #Z —=>
{l-— H.5.r.1b: Case Summary and Reporter’s Comments Language #2 —
Cauthor  typeCode="AUT™>
(assignedEntity elassCode="ASSIGNED™>
<code code="2" codeSyatem="2. 16, 840, 1. 113883, 3,988, 2, 1, 1. 21" displayName="reporter”/>
{/assignedEntity>
</aithor>
{/observaticnEvent>
</eomponent>
<eutboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN">
¢cade code="1" codeSystem="2. 16. 840. 1. 113883, 3,989, 2, 1, 1, 22" displayName="initialReport”/>
{subjectOf2 typeCode="SUBJ">
{controlActBvent classCode="CACT” moodCode="EVN™>
<arthor typeCode="AUT™>
{assignedBntity classCode="ASSIGNED™>
{code code="C.1.8.2" codeSystem="2. 16. B40. 1. 113883. 3. 989, 2. 1. 1. 3" />
¢!— C. 1,8 2: First Sender of Thiz Cage —>
{/assignedEBntity>
{/author>
{/controlictEvent>
</sub jectOf2>
¢{/relatedinvestigation>
¢/cutboundRelationship>
{outboundRelationship typeCode="SPRT™>
(relatedInvestigation classCode="INVSTG” moodCode="EVN™>
{code nullFlaver="HA"/>
<subjectOf? typeCode="SUBJ">
{controlActEvent classCode="CACT" moodCode="EVN">
<id extension="C. 1. 10. 7" root="2.16. 840, 1, 113883, 3,989.2.1.3.2°/>

¢l— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>

{/controlActEventi>
{/subject0f2>
{/relatedInvestigation>
{fuuthoundRelationship>
<outboundRelationship typeCode="SPRT">
<ralatedInvestigation classCode="INVSTG” moodCode- EVNT>
<code nullRlaver="NA"/>
<subject0f2 typeCode="SUBJ™> -
{conirolActEvent classCade="CACT™ moodCode="E¥YN™>
¢id extension="C. L. 10.r" root="2. 16,840, 1. 113883.3.989.2,1.3.2"/> . .

¢!— C.1.10.r: Identification Number of the Report Which Is Linked to this Report {repeat as necessary)

¢/controlActEvent>
¢/sub ject0f2>
{/relatedInvestigation)
</outboundRelationship>
<outboundRelationship typeCode="SPRT">
<priorityNumber value="17/>
<!— ¢.2.r. 5! Primary Source for Regulatory Purposes #1 —>
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{relatedinvestigation classCade="INVSTG™ woodCode="EVN™>
{code code="2" codeSystem="2. I6. 840, 1, 113883, 3,989, 2, 1, 1, 22" displayName="sourceReport”/>
<subjectOf? typeCode="SUBJ]™>
<controlictEvent classCode="CACT” moodCade="EVN">
<author typeCode="AUT">
<assignedBntity classCode="ASSIGNED">
<addr>
{streetAddressLine)C. 2. 1. 2, 3¢/streetAddressline>
{!-- C.2.1.2.3: Reporter's Street #l —>
{eitydC, 2. r. 2. 4</city)
€l— €.2.r.2.4: Reporter's City #1 -
{statedC. 2.r, 2.5</stata>
¢l— .2, r.2,87 Reporter’s State or Province #1 ->
<{postalCode>C. 2. r. 2. 6{/postalCode>
¢l— C.2.r.2.6: Reporter’s Postcode #1 —>
{/addr>
<tolecom value="tel:C.2.r.2.7°/>
¢l— C.2.r.2.7: Reperter's Telephone #1 —>
{assignedPerson classCode="PSN" daterminerCode="INSTANCE™>
{nane>
{prefixdC. 2. r. 1. 1{/prefix>
{|— C.2.r.1.1: Reporter's Title #l —>
<givendC. 2.r. 1. 2¢/given>
€lew C,2,r 1. 2: Reporter' s Given Name #1 —>
{given>C. 2. 1. 1. 3¢/given>
{|-- C.2.r 1. 3: Reporter's Middle Name H#1 =-=>
{Family>C. 2. 1, 1. A</ family>
¢J==C,2,r.1.4* Reporter's Family Name #1 —>
</nane> .
<asQualifiedEntity classCode="QUAL™>
{code code="C. 2.r. 4" codeSystem="2, 16. 840, 1. 113883, 3.589.2. 1. 1. 6"/>
<l— C.2.r.4: Qualification #l —>
</asQualifiedEntity>
{asLocatedEntity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="INSTANCE™>
{cede code="C. 2. 1. 3" codeSystem="1.0. 3166.-1,2.2° />~
. ¢l— C.2.r. 3: Reporter’s Country Code #1 ——>
¢/lacation> '
{/asLocatedEntity>
{/assignedPerson
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 2, 1, 2, 2{/name>
¢!—— C.2.r.2.2! Reporter’'s Department #1 —>
{assignedBntity classCode="ASSIGNED">
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<namedC. 2. . 2. 1{/name> :
<l-- C.2.r.2.1: Reporter's Organisation #1 —>
{/represented0rganization>
{/assignedEntity>
{/representedOrganization>
</assignedEntity?
{fauthor>
' {/controlActEvent>
{/subject0f2>
<{/relatedInvestigation>
{feoutheundRelationship®
<outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG® moodCode="EVYN">
{code code="2" codeSystem="2. 16, 840, 1. 113883, 3,989, 2, 1, 1, 22" displayName="sourceReport™/>
{sub jectdf? typeCode="SUBJ">
{cantrolictEvent classCode="CACT™ moodCode="EVN">
<author typeCode="AUT">
{assignedEntity classCade="ASSIGNED">
{addrd .
¢streetAddressLine)C: 2. r. 2. 3¢/streetAddressLine> .
<!—-C,2.r.2.3: Reporter’' s Street #2 —>
{citydC. 2. x. 2, 4</city>
¢!=—=C.2,r.2.4: Reporter’ s City #2 >
{state>C. 2.1. 2. 5<{/stated
{!— C,2,r.2, 6 Reporter's State or Province #2 —>
<postalCode>C. 2. r. 2, 6</pastalCode>
{l— C.2.r.2.6: Reporter's Postcode #2 —>
</addr>
{telecom value="tel:C.2,r. 2, 77/>
¢l— C, 21,2 7 Reporter’ s Telephone #z —>
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<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>
<prefindC, 2.1, 1. 1</prefind
¢l— C.2.r.1.1: Reperter's Title #2 —>
{givendC, 2,1, 1. 2¢/given>
¢J~= C.2.1,1.2: Reporter's Given Name H2 ——>
<given>C, 2. v, 1, 3¢/given>
¢]— C.2.r.1. 3! Reporter's Middle Name #2 —>
{family>C. 2. r. 1. 4¢/fanily>
<l-— C.2.r.1.4: Reperter’s Family Name #2 —->
</name>
<asQualifiedEntity classCode="QUAL">
¢code ecode="C. 2. r. 4" codeSystem="2, 16, 840. 1. 113883, 3. 588. 2. L. 1,67/>
¢l— C.2.r.4: Qualification #2 —>
<fasQualifiedEntity>
<asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.2.1.3" codeSystem="1, 0. 3166. 1. 2.2°/>
¢l-- C.2.1.3: Reporter's Country Cods #2 ——>
</location>
{/asLocatedEntity>
{/assignedPerson>
<representedOrganization ¢lassCode="ORG" determinerCode="INSTANCE™>
<name>C, 2. r. 2, 2{/name>
¢1— (.2, 1.2.2: Reporter’ s Department #2 —
{assignedEntity classCode="ASSIGNED™> .
{representeddrganization classCode="ORG" determinerCode="INSTANCE™>
<nawe>C. 2. r. Z, 1</name>
{l~w €, 2,2 2.1: Reporter’s Drganisation #2 —=>
{/representeddrganization?
{/assignedEntity>
</representedirganization?
{/assignedEntity>
{/author>
{/controlActEvent>
</subject0f2>
{/relatedinvestigation>
{/autbeundRelationship>
<subject0f1 typeCode="SUB]™>
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
SassignedBntity classCode="ASSIGNED™>
{eode code="C. 3. 1" codeSystem="2. 16. 840. 1. 113883, 3. 689. 2, 1. 1. 7°/>
<}-- C.3.1! Sender Type —>
<{addr>
{streetiddressLine>C. 3, 4. 1{/streetAddressLine>
{le-.C.3.4.1: Sender’s Street Address —>
<city>C. 3. 4. 2¢/city>
<l— C.3.4.2: Sender's City —>
{state>C, 3, 4, 3¢/state>
<l-- C.3.4.3: Sender’ s State or Province —>
(/addr>
(telecom value="tel:C,3,4.67/>
<]-- C.3.4.6: Sender’'s Telephone —=}
Ctelecom value="fax:C.3.4.7"/>
<l— C.3.4.7: Sender's Fax —>
<telecom value="mailto:C.3.4.8"/>
¢]—- C.3.4.8: Sender' s B-mail Address —>
<assignedParson classCode="PSN” determinerCode="TNSTANCE™>
<name>
<prefix>C. 3. 3. 2¢/prefix>
<}— £.3.3, 2 Sendar’ s Title —
<given>C. 3. 3. 3<¢/given>
{!— (.2.3.3: Sendex’ s Given Name —>
<given>C. 3. 3. 4¢/given>
<1— C.3.3.4: Sender’ s Middle Nome —>
<family>C. 3. 3, 5</family>
¢}— C.3.3.5: Sender’ s Family Name —> .
K ¢/nane>
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY" determinerCode="INSTANCE™>
{eads code="C, 3. 4.5 codeSystem="1.0. 3166, 1.2.2"/
{l=— C.3.4.5! Sender’s Country Code —>
</location>
{/aslocatadEntity>
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</nssignedPerson?
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
{name)C., 3. 2{/name>
¢]=— C.3.2: Sender’ & Organisation —»
¢/representedlrganizationd
{/assighedBntity>
{/author>
<pr1maryInfnrmat10nRec1p1ent typeCode="FRCP™>
¢assignedEntity classCode="ASSIGNED">
<assignedPerson classCode="PSN" determinerCode="INSTANCE™>
<nhame>
Lprefix>J2. 18, 2</prefix?
<I— @@d)z. 18.2: REE FH/KE —
<{family>J2. 18. 3</fanily>
<1— @@ajo. 18.3: RiRF M —
{given>J2. 18. 4<{/given> . '
<l— 880)2.18.4: RIEZ £ —
{/hame>
{/assignedPerson?
{representedOrganization classCode="0RG™ determinerCode=" INSTANCE >
<name>J2. 18, 1</nane>
<l— @aaJz. 18, 1: R{EH ks —
</representedOrganization>
{/assignedEntity>
¢/primaryInformationRecipient>
{/controlActEvent>
</subject0fI>
<subject0fl typeCode="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityName="C, 1.9.1.r.1" extension="C.1.9. L. r. 2" rooct="2, 16, 840 1. 113883, 3,989.2.1.3.3" />
¢|-— C.L9.1.r. I Source(s) of the Case Identifier {repeat as necessary) #1 —>
{l== C.1.9.1. 1.2 Case Identifier(s) #1 —>
{/controlActEvent>
¢/subject0fl> .
{subjectdf]l typeCode="SUB}">
{controlActEvent classCode="CACT”™ mocdCode="EYN">
{id assigningAuthorityName="C, 1,9.1.r.1" extension="C.1.9. 1. r. 2" root="2. 16.840. 1. 113883, 3,989.2.1.3,3"/>
¢]-- C.1.8.1r. 1! Source{s) of the Case Identifier (repeat as necessary) #2 —>
<]-- C.1.9.1.1.2 Case Identifier(s) #2 —->
{/controlActEvent>
</subjectOf1>
{subject®f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS* moodCode="EVN">
{code code="1" codoSysten="2. 16, B40, 1, 113883, 3, 989, 2, 1, 1, 23" displayName="ichReportType”/>
Cvalue xsi:type="CE” code="C.1,3" codeSystem="2. 16.840. 1. 113883. 3.980.2. 1. 1.2"/>
<l~~ C.1.3 Type of Report —->
{/investigaticnCharacteristic>
{/subject0Of2>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="2" codeSysten="2. 16,840, 1. 113883, 3, 989, 2, 1, 1, 23" displayName="otherCaselds”/>
<value xsi:type="BL" value="true”/>
¢l— C,1,9.1 Dther Case Identifiers in Previous Transmissions —>
{/investigatienCharacteristic>
</subject0f2>
¢subject0f2? typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
{code cade="3" codeSystewn="2. 16, 840. 1. 113883, 3. 989, 2. 1. . 23" displayName="nullificationAmendmentCode”/>
<value xsi:type="CE" code="C.1,11.1” codeSystem="2, 16, 840, 1. 113883. 3.989.2.1.1.5"/>
¢l— C,1.11,1: Report Nullification / Amendment —>
{/investigaticnCharacteristic>
{/subjectOf2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="4" codeSystem="2, 16. 840, 1, 113883, 3, 989, 2, 1. 1. 23" displayNane="" nu111f1cat1onAmendmentReason e
<value xsi:@type="CE™>
CoriginalText>C. 1. 11, 2¢/original Text>
{}— C.1.11.2: Reason for Nullification / Amendment ——>
<fvaluer
{/investigationCharacteristic)
{/subject0f2>
<subjectOf2 typeCode="SUBJ]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code codex”1" codeSystem="2, 16. 840. 1. 113883. 3. 989. 5. 1. 3, 2. 1. 12 displayNeme="MERIFEHS (HE2E) "/
{value xsittype="CE” code="J2.Ia" cedeSystem="2. 16.840. ), 113883, 3. 980,5,1.3.2. 1. 1"/>
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<)— 88z, 1a: WAIES (BiGOm) -
</investigationCharacteristic> ’
¢/subjectDf2>
<subjectOf2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS" moodCodex"EVN™>
<code code="2" codeSystem="2. 16, 840, 1, 113883, 3. 989, 5. 1. 3. 2. 1. 12" displayName="{AHEH B"/>
<value xsiitypa="TS" value="20130107"/>
¢l— goeJ2. 2.1: WERER —
{/investigationCharacteristic?
{/subject0f2>
<subject0f2 typaCode="SUB]">
<investigationCharacteristie classCode="0BS" moodCode="EYN™>
<code code="3" codeSystem="2. 16. 840, 1, 113883, 3.689.5. . 3. 2. 1. 12" displayName="&EB AIC@T D22 N
<value xsi:type="ED">]J2,2.2<¢/value>
¢l— e@gy2. 2. 2: HERERBICETI=2AXF —>
{/investigationCharacteristied
</subject0f2>
{subjeetDf2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="4" codeSystem="2. 16, §40, 1, 113883, 3.989. 5. 1. 3. 2. 1. 12" displayName="ER§$8%& 7 7 271>
¢value xsiitype="CE” code="J2.3" codeSystem="2, 16.840.1.113883.3.989,5.1.3.2,1.2°/>
<l~- @80J2.3: BIRAET Y —
{/investigationCharacteristic>
{/subjectf2>
<subject0f2 typeCode="SUB]™>
¢investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2.16.840. L. 113683. 3. 989. 5. 1. 3. 2. 1. 12" displayName="$&E%t&s 7 5 &7 />
¢value xsi:type="CE" code="J2.8.1" codeSystex="2.16.840. 1. 113883, 3,989.5.1,3,.2,1.6"/>
(I gaajz. 8.1 @EHBAT IS —
{/investigationCharacteristic>
{/subjectdf2>
<subjectOf2 typeCade="SUB]™>
{investigationCharacteristic classCode="0BS" moodCode="E¥N™>
¢code code="6" cedeSystem="2. 6. 840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 12" displayName="# {55/ DOHBe" />
¢value xsi:type="ED">]Z.8.2¢{/value>
C1—- 2g@ez.8.2: WEXNRSOHEB —>
</investigationCharacteristic>
{/subjectDfZ>
{/investigationEvent)
</subject’
{/controlActProcess>
</PORR_INO49016UV>
¢!~ Message ¥1 —>
¢l-- Message #2 —>
<i-- PORR_INO42016LV —>
¢!— /PORR_IND48016WV —>
{!~— Message #2 —>
{receiver typeCode="RCY">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4" raot="2, 16. 840. 1. 113883, 3. 589. 2. 1. 3, 14" />
<l— N.1.4: Batch Receiver ldentifier ==}
{/device> -
{/receiver>
¢sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE™>
{id extension="N, 1. 3" root="2. 16. 840. 1. 113883, 3. 989, 2. 1. 3. 13"/>
<l== N.1,3: Batch Sender Identifier —>
{/devicer
{/sender>
</NCCI_INZO0100UY01>
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MLBRA v RE R (HRHE)

{?uml version="1.0" enceding="UTF-E877>
<MCCI_IN2001000V01 ITSVersion=")ML_l.0" xsi:schemalocation="urn:hl7~org:v3 MCCI_INZ0OLOOUVOL. xsd” xmlns="urn:h17-org:v3” xmlns:xsi="http://www, w3, org/
2001/¥MLSchema~instance™>
¢id extension="N.1.2" reot="2, 16.840. 1. 113883, 3,989.2,1,3.227/>
<|— N.1.2: Bateh Number —>
{creationTime value="201012141516177/>
¢l— N.1.5: Date of Batch Transmissién —>
{responseModeCode code="D"/>
Cintersetionld extension="MCCI_INZGOLOOUYQ1” root="2.16.840.1.113883. 1.6%/>
<name code="N.1.1" codeSystem="2, 16,840, 1, 113883.3.985.2. 1. 1. 1°/>
¢l— N.1.1: Type of Messages in Batch —>
{le= Message #1 —>
<PCRR_INO49016UV>
¢id extension="N.2.r.1" reat="2. 16.840. 1. 113883.3.989.2.1,3.1"/>
{l— N.2.r.1: Message Identifier ——>
{creationTime value="20101214151617"/>
{I-— N.2.r.4: Date of Message Creation —>
¢interactionId extension="PORR_IN049016UV" root="2, 16, 840, 1. 113883. 1. 6"/>
{processingCode code="P"/>
{processinglodeCode code="T"/>
<acceptAckCode code="AL"/>
{receiver typeCode="RCV™>
{deviee classCode="DEV" determinerCode="INSTANCE™>
<id extension="N. 2, r.3" root="2.16.840,1, 113883.3.980.2. 1. 3.12"/>
<l— N. 2. r.3: Massage Receiver Identifier —>
/device>
</receiver>
{sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.Z2.r. 2" root="2, 16, 840, 1. 113883, 3,989,2, 1,3, 11"/>
<}— N.2.1r.2: Message Sender Identifier -=>
</device? -
{/sender>
{controlActProcess classCode="CACT" moodCode="EVN™>
<code code="PORR_TEG48016UY” codeSystem="2. 16. 840. 1. 113883, 1, 18"/>
<!— HL7 Trigger Event ID —>
{effectiveTime value="20101214151617"/>
¢|—— C.1.2: Date of Creation —>
{subject typeCode="SUBJ™>
<investigationEvent clessCode="INVSTG™ moodCode="EVN">
<id extension="C.1.1” root="2, 16, 840. 1. 113883. 3. 989,2.1.3. 17/
¢l-— C. L §¢ Sender's (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1" reot="2, 16. 840, 1. 113583, 3.988.2. 1.3.2"/>
¢l— C, 1.8, 1: Worldwide Unigque Case Identification Number —>
<id extension="J2. 1b” root="2, 16, 840, 1. 113863, 3.980.5.1,3,2.3, 1"/,
<1— @pajz 1b: WREES (FF) )
<code code="PAT_ADV_BYNT” codeSystem="2. 16. 840, 1. 113883,5,4"/>
{textyH, 1</text> '
¢!~ H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information ==
{statusCede code="active”/>
<|l— gR@J2.7.1 BT, RETES —>
KeffectiveTine>
¢low value="20000101"/> ?
{l— C.1.4: Date Report Was First Received from Scurece ——>
{/effectiveTime>
CavailabilityTime value="20000101"/>
<!— C.1.5: Date of Most Recent Information for This Report -->
<reference typeCode="REFR™>
{documant eclassCode="DOC” moodCode="BYN">
<code code="2" codeSystem="2. 16, 840, 1. 113883, 3,989, 2,1,1,27" displayName="1literatureReference”/>
{titledJ2, 17. r¢/title> :
{l— ggajz. 17.r BB/ TROLSE #1 —
<text mediaType="application/pdf” rebresentat:on— “BE47C. 4, 1, 2</text>
<l~'C.4.r.2! Included Documents H1 —>
<hibliographichesignationText>C. 4, r, 1<{/bibliographicDesignationText>
<]— C.4.r.1: Literature Reference(s) #1 —>
‘{participation typeCade="AUT">
<assignedEntity classCode="ASSIGNED™>
¢representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<asLocatedBntity classCode="LOCE™
{location ¢lassCode="COUNTRY” determinerCade="INSTANCE™>
{code codes"J2.15.r" cadeSystem="1.0.3166. 1. 2.27/>
<|— @eajz. 15. r AXME 41 —>
</location?
{/asLocatedEntity>



{/representedOrganization>
. &/assignedEntity>
{/participation>
</dociment>
{/reference> .
<reference typeCode="REFR™>
{document classCode="DOC" mocdCode="EVN™>
{cade code="2" codeSystem="2, 16, 840. 1. 113683, 3. 889, 2. 1. 1. 27" displayName="literatureReference”/>
<titlerJ2. 17, ré/title>
<l 020]2.17. r BB /UIROSE #2 —
{text madiaType="application/pdf” representation="BG4">C. 4 r.2<{/text>
<l— C.4.r. 2% Included Documents §2 —>
<bibliegraphicDesignationText>C. 4. r. I1{/bibliographicDesignationText>
<]— C.4.r.1: Literature Reference(s) #2 -->
{participation typeCode="AUT™>
¢assignedBntity classCode="ASSIGNED">
<representedOrganization classCode="0RG" determinerCade="INSTANCE™>
{asLocatedEntity classCode="LOCE™>
<location elassCode="COUNTRY” determinerCode="INSTANCE™>
{code code="J2.15.x" codeSysten="1.0,3166,1,2,27/>
¢l-- g8aj2. 15, r LFE #2 >
</location>
{/asLocatedEntity>
</representedOrganization’ .
{/assignedEntity>
¢/participationd
<{/document> '
</reference>
Zeomponent typeCode="COMP™>
CadverseEventAssessment classCode="INVSTG" moodCode="EVN™>
¢subjectl typeCode="SBJ™>
<primaryRole classCede="IN¥SBY">
<playerl classCode="PSN" determinerCode="INSTANCE"/>
<stbjectOf] typeCode="SB]™> ’
¢researchStudy classCode="CLNTRL" moodCode="EYN">
{id extension="C.5.3" reot="2, 16.840. 1. 113883.3.989.2. 1.3.5"/>
<1— C.5.3: Sponser Study Number —> -
{code code="C.5.4" codeSystem="2, 6. 840. [. 113883. 3.989,2. 1. 1.8"/>
¢1— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
<{titledC. 5. 2¢/title>
<|— C.5.2: Study Nawe —>
Cautherizetion typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
<id extension="C.5. L. r.1" root="2. 16.840, I, 113883, 3.589.2.1.3.6"/>
¢l=—— C.5.1.r.1: Study Registration Number #1 —>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.65.1.r.2" codeSystem="1.0,3166.1.2.2"/>
{l== C.5.1.r.2: Study Registration Country #1 —>
{/governingPlace>
{/territorialAuthority>
</author>
{fstudyRegistration>
<£/authorizationd
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN™>
¢id extension="C.S5. 1.x. 1" root="2. 16, 840, 1, 113883, 3. 989. 2. 1. 3.67/>
¢l— ¢.6.1.r.1 Study Registration Number #2 —>
<author typeCodes"AUT™>
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5.1.r.2" codeSysten="1.0.3166.1.2.2"/>
(l— €.5.1,r,2: Study Registratien Country #2 —>
</governingPlace> :
<fterritorizlauthority?
{/author’
{/studyRegistration>
</authorization>
</researchStudy>
</sub jectOf1l>
¢subjectOfZ typaCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN™>
¢eode code="4" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1. 20" displayName="drugInformatien”/>
<}— 6.k Drug(s) Information (repeat as necessary) ¥l —>
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{eomponent typeCode="COMP™)
{substanceAdministration classCade="SBADM" moadCede="EVN">
¢id root="3c91bdd5~e039-4a7a~9e30~67671b0efTed” />
{consumable typeCode="CSH™>
<instance®fKind classCode="INST">
<kind0fProduct classCede="MMAT" determinerCode="KIND">
{code code="G.k.2. 1. 1b" codeSystem="TBD-WPID"/>
<l— G.k. 2,1, 1b: Madicinal Product Identifier {MPID) #I —>
<name>G. k. 2. 2¢/name>
¢]— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
CasManufacturedProduct classCade="MANU™>
{subjectDf typeCode="SB]">
Capproval classCode="CNTRCT" moodCode="EVN™>
¢id extension="G.k. 3. 1" root="2.16. 840, 1, 113883, 3,989, 2.1, 3,47 />
<!— G.k.3.1: Authorisation / Application Number #1 ==>
{author typeCade="AUT">
(territorialAuthority classCede="TERR™>
<territory elassCode="NAT" determinerCode="INSTANCE™
{code code="G.k.3.2" codeSystem="1.0,3166.1.2.2%/>
€lw= G, k, 3.2: Country of Authorisatien / Application #l —>
</territory>
¢/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
<policy classCode="POLICY" mondCode="EVN™>
{code code="J2.5.k" codeSystem="2, 16, 840.1, 113883.3.069.5.1.3.2. L.4"/>
<l— @28J2.6. k: —RAERREDVAIESFF 1 —
<{/policy?
{/pertinentInformationd
</approval>
* {/subjectOD>
{gubject0f typeCode="SBI">
{characteristic classCode="0BS™ moodCode="EVN"> : ’
<code code="1" codeSystem="2:16. 840. i, [13883. 3, 989, 5. 1. 3, 2, 1, 10" displayName="3FERE M ORI 5" />

{value xsi:type="CE" code="J2.4.k" codeSysten="2. 16.840. 1.113883.3.5989.5.1.3.2. 1..3"/>
<I— 888J2. 4. k: FHERMEFORRERS #1 —
</characteristicy
</subject0f>

{/asManufacturedPraduct>
<asSpecializedKind classCode="GEN">
<generalizeddaterialKind classCode="MAT" determinerCode="KIND">
<code> .
<originalText>J2. 12{/original Text?
<1 BOF2. 12: FAMRAEE —
</ecode>
{/generalized¥aterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT" determinerCode="KIND™>
Ccode code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>

{l== G,k 2.3.r.2b! Substance / Specified Substance TermlD #1-1 —>
<pama>G. k. 2, 3, r. 1¢/name}
{]== G.k.2.3.r,1: Substance / Specified Substance Name Hl-}L —>
</ingredientSubstance?
</ingredient>

{ingredient classCode="ACTI"> .
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G, k. 2.3, r,2b" codeSysten="TBD-Substance”/>
¢~ G.%k.2.3.r.2b: Substance / Specified Substance TermID #1-2 —>
<{name>G, k, 2, 3, r. 1{/name> :
¢l-- G.k.2.3.r.1: Substance / Specified Substance Name #I-2 —>
</ingredientSubstance?
<{/ingredient>
</kind0fPraduct>
<sub jectOf typeCode="SB]™>
{observationBvent classCode="0BS” moodCode="EVN"> N
Ccade code="2" codeSystem="7. 16, 840, 1, 113883, 3,989, 5, 1,3,2, 1,107 displayNane="—{ZREFEROCAFER"/>
{value xsi:type="CE” code="J2, 6.k" codeSystem="2. 16. 840. 1. 113683.3.989.5.1.3.2. 1.5"/>
¢l-- 880J2.6. k: —RBXRAEREDAFEN #1 —
¢/observationEvent>
{/subject0f>
</instanceQfKind>
{/consumable> '
{/substanceAdministration>
</component>



{/organizer>
{/sub jectOf2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSysten="2. 16. 840, 1, 113883, 3,989, 5,1, 3,2, 1, 11” displayNome="J4SROHE"/>
{conponent typeCode="COMP™>
<observation classCode="0BS" moadCode="EVN"> A
{code cade="7" codeSystem="2. 16. 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="/Z HiE1¥Z"/>
<value x5i:type="INT" value="1"/>
(I— @#aJz, 13, r, 1: BHEHEE f1 -
{/observation?
{/component>
{component typeCode="COMP™>
{observation classCode="0BS”" moodCode="EVN">
¢code code="§" cadeSystem="2, 16, 840, 1. 113883, 3, 989, 5. 1.3, 2. 1. 10" displayName="H&geM />
{value xsi:type="ED">]J2.13.r. 2<{/value>
<1— @88J2, 13, r, 2: WK #1 >
{/observation>
{/componant>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
<eoda code="0" codeSystem="2. 16, 840, 1. 113883, 3. 989,5, 1,3, 2. [, 10" displayName="FASEE"/>
¢value xsi:type="CE" code="J2, 13, 1.3" codeSysten="2.16.840. L. 113885.3.980.5. L4 2. L. 7°/>
<I-- @@@J2. 13.r.3: AR H1 —>
{/vbgervation>
¢/conponent>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EYN™>
<eode code="10" codeSystem="2, 16, 840, 1, 113882, 3, 989, 5. 1, 3, 2. 1, 10" displayName="1}FEF DIEFH O 2" />
<value xsi:type="BL" value="true”/>
<]— @@aJz. 13.r. 4: RWPOEFOHE #1 —>
{/chservation>
{/component>
<{/organizer>
</sub ject0f2>
<(subjectOf2 typeCode="SBJ™>
{organizer elassCode="CATEGORY” moodCode="EV¥N™> -
{code code="1" codeSysten="2. 16. 840, 1. 113883, 3, 989. 5. 1. 3. 2. 1. [1” displayName="{5%DHE",
{cemponent typeCode="COMP*>
<ohservation classCode="0BS” moodCode="EVN™>
{code code="7" codeSystem="2. 16. 840. 1. 113883, 3, 989, 5. 1. 3. 2, L, 10" displayName="/BHHEI¥"/>
<value xsi:type="INT" value="1"/> -
41— @8eJ2. 13.r. 1: JRIBEE #2 —>
¢/chservation?
</component>
{eomponent typeCode="COMP">
<observation classCode="0BS™ moodCode="EVN">
{code code="8" codeSystem="2. 16. 840, 1. 113883, 3. 989, 5. 1. 3. 2, L. 10* displayName="3}sRsk " />
Svalue xsiitype="ED">]J2. 13, r.2<{/value’>
<l— 288Xz, 13.v. 2: KM 2 —
{/chservation>
¢/compthent>
<component typeCode="COMP">
{ohservation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 840, 1. 113883, 3, 989, 5. 1, 3. 2, 1, 10" displayName="BASEH"/>

{value xsi:type="CE" code="J2.13.r.3" codeSysten="2. 16,840, 1. 113883,3,989.5.1.3.2, .7"/>
<1— @sey2. 13.r.3: PSR #2 — ‘
{/observation>
</component?

<eomponent typeCode="COMP™>
{observation classCode="0RS" meodCode="EYN™>
Ceode code="10" codeSystem="2. 16.840. 1. 113683, 3. 969, 5. 1. 3. 2. 1. 107 displayName="$ P DHEF OFE />
<value xsi:type="BL" value="false"/>
<I— @@aTa, 13, r. 4 PR OFE #2 —
{/ohservation)
</tompenent>
<forganizer>
{/subjectOf2>
{/primaryRole>
</subjectl?
<componentl typeCode="COMP">
{abservationEvent classCode="0BS" moodCade="EYN™>
<code code="10" codeSystem="2. 16.840. 1, 113883. 3. 989. 2. I, 1. 19" displayName="comment™/>
{value xsi:type="ED">H. 4</value>
{!=- H.4:! Sender's Comments —>



<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" displayName="sender”/>
</assighedEntity> ‘
</atthor>
{/vbservationBvent>
¢/component}>
{componant] typeCode="COMP™>
{observationEvent classCede="0BS™ moodCode="EVN™>
<oode code="3" codeSystem="2.16. 840, 1. 113883. 3,989.5.1.3. 2. 1. 107 displayName="3K5ETIZdF 22 A N
<value x5i!type="ED">]J2. 7. 2¢/value>
{le- @88]2.7.2: RETILHTIaALE —
¢/observationBvent>
{/component1>
{eomponentl typeCode="COMP™>
¢observationEvent classCode="0BS" moodCode="EVN">
<code code="5" codeSystem="2, 16, 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 10”7 displayName="51E DFIE"/>
<value xsi:type="ED">]J2. 10{/value>
{]— 28872, 10: SEOHE —
{/observationEvent>
</componentl>
{component! typeCode="COMP™>
CobservationEvent classCode="0BS” moocdCode="EVN™> .
<code code="6" codeSystem="2. 16. 840. 1. [13883. 3. 989, 5. 1. 3. 2. 1. 10" displayNeme="% D {LSEHIRE />
<value x5iitype="ED">]JZ. 11<{/value>
I— ¢@aJ2. 11: TOMSEHFIAE —>
{/observationfvent>
</componentl>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
<code code="12° codeSystem="2, 16, 840. 1. 113883, 3. 986.5, 1. 3. 2, 1. 10”7 displayName="$&RNEDER">
<value xsi:type="ED">]J2. 16</valued
<I— 88aJ2, 16: MHNEOHERA ~->
£/observationEvent> .
{/compenentl’
</adverseEventAssessment>
{/component>
{component typeCode="COMP™>
{ohservationBvent classCode="0BS” moodCode="EVN">
- {code code="23" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1. 1, 19" displayName="localCriteriaForExpedited”/>
<value xsi:type="BL" value="true”/>
¢~ C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -—>
{/vubservationEvent>
</component>
{outboundRelationship typeCode="SPRT">
¢relatedInvestigation classCode="INVSTG" moodGode="E¥N">
<eode cede="1" codeSysten="2. 16, 840. 1. 113883. 3. 9589, 2. 1. 1. 227 displayName="initialReport”/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCade="EVN">
<author typeCode="AUT™>
<assignedBntity classCode="ASSIGNED">
{eode code="C.1,8.2" codeSystem="2. 16. 840. 1. 113883.3.989.2.1. .37 />
¢[|— C.1.8.2! First Sender of This Case —>
{/assignedEntity>
</author>
{/controlActEvent> '
</sub ject0r2>
{/relatedInvestigation>
</outboundRelationship>
CoutboundRelationship typeCode="SPRT™>
(relatedInvestigation classCode="INVSTG" moodCede="EVN™>
<eode nullFlaver="NA"/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CAGCT" moodCode="EVN">
<id extension="C.l. 10.xr" reat="2, 16, 840. 1. 113883, 3. 989. 2. 1.3.2"/>
=~ C.1,10,r: Identificaticn Number of the Report Which Is Linked to This Report (repest as necessary) #1 —>
{/controlActBvent> '
</subject0f2>
</relatedInvestigation>
</outboundRelationship>
<cuthoundRelationship typeCode="SPRT">
CrelatedInvestigation classCede="INVSTG™ moodCode="EVN™>
<code nullFlavor="NA"/>
<subjectOf2 typeCode="SUBJ">
{controlActEvent ‘classCade="CACT" moodCode="EVN™>



<id extension="C.1. 10.r" root="2. 16.840. 1. 113883.3.989.2.1.3.2"/>
¢l— C.1.10.r: Identification Number of the Repart Which Is Linked to this Report (repeat as necessary)
{/controldctEvent>
{/subject0f2>
{frelatedInvestigation>
</outboundRelationship>
<subjectf] typeCode="SUB]">
{controlActEvent classCode="CACT™ moodCode="EVN™>
<auther typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 3. 4. I{/streetAddressline>
{l=- C.3.4.1: Sender’s Street Address —>
{eitydC. 8. 4. 2¢/city>
{1-—— :3.4.2: Sender’s City —>
{state>C. 3. 4. 3¢/state>
¢]— C.3.4.3: Sender’s State or Province ——>
</addr>
<assignedParsen ¢lassCode="PSN” determinerCode="INSTANCE™>
<name>
<prefix>C. 3. 3. 2{/prefix>
{]— C.3.3.2: Sender’s Title ~>
{given>C. 3. 3. 3{/given>
¢}~ €. 3.3.3: Sender’s Given Name —>
{given>C, 3. 3. 4¢/given>
¢}~ C.3.3.4: Sender’s Middle Neme —>
, <family>C. 3. 3. 8<{/family>
{}— C.3.3.5: Sender’s Family Name —>
<{/name>
<asLocatedEntity classCode="LOCE">
{location c¢lassCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C,3.4,5" codeSystem="1,0, 3166. L. 2, 2°/>
|- C.3.4.5: Sender’ s Country Code —>
¢/leeation>
{/aslocatedEntity>
</assignadPerson>
{representedlrganization classCode=" ORG determinerCode="INSTANCE">
<name>C. 3. 2{/name>
¢!— C.3.2: Sender’s Organisation —>
{/representedOrganizationd
¢/assignhadBntity>
{/author>
{/controlActEvent>
</sub jectOf1>
<stbjectOf! typeCode="SUBJ">
<controlActEvent classCode="CACT™ moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1" extension="C. 1. 9.1.r. 2" root="2. 16.840. L. 113883, 3.989.2.1.3.3"/>
4— 0.1.9.1.xr.1: Source{s) of the Case Identifier (repeat as necessary) #1 —>
I— €. 1.9.1.r.2 Case Identifier(s) #1 —>
{/zantrolActEvent>
</subject0fL>
<subjectOfl typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1" extension="C.}.9.1.r. 2" root="2. 16.840. 1, 113883, 3, 989.2.1.3.3"/">
{— €. 1.9.1.1. 1! Source(s) of the Case Identifier (repeat as necessary) #2 —>
¢I— C.1.9.1.r.2 Case Identifier(s) #2 -->
{/eontrolActEvent>
</sub ject0f1>
<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCede="0BS" mocdCode="EVN™>
" {code code="1" codeSystem="2. 16.840. 1. 113883. 3. 889. 2, 1. 1. 23" displayName="ichReportType”/>
<value xsi:type="CE” code="C.1.3" codeSystew="2. 16. 840. 1. 113883, 3.989.2.1.1.2"/>
¢I— . 1.3 Type of Report -->
</investigationCharacteristic>
{/subject0f2>
{subjectDf2 typeCode="SUBJ">
{investigationCharacteristic classCede="0BS” mocdCode="EVN">
<code code="2" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 23" displayName="otherCaselds”/>
. Cvalue xsi:type="BL” value®"true”/>
¢<I--£,1,8,1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subjectOf2>
<subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="3" codeSystem="2, 16. B40, 1, 113883, 3,989, 2, 1, 1, 237 dlsp]ayName- nullificationfmendmentCode”/>
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<value xsiitype="CE” code="C.1.11,1" codeSystem="2. 16.840. 1. 113883.3.980. 2. 1. 1.57/>
¢]—— C.1.11.1: Report Nullification / Amendment —>
¢/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic ¢lassCode="08S" moodCode="EVN™>

<code code="4" codeSystem="2, 16.840. 1. 113883, 3. 988.2. 1. 1. 23" displayName="nullificationAmendmentReason™/>

<value xsiitype="CE">
CoriginalText>C. 1. 11. 2¢/originalText>
¢{1— €. 1.11.2: Reason for Nullification / Amendment —>
</value>
{/investigationCharacteristic>
</subject0f2>
{subjectDf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EYN">

<code code="1" codeSystem="2.16. 840. !, 113883. 3. 989. 5, 1.3, 2. 1. 12" displayNeme="FRZIEHE (RESH|Y "H

<value xsi:type="CE” code="J2.1a" codeSystew="2. 16. 840, 1.113883. 3.989.5.1.3.2. .. 17/>
¢l 88872, 1a: RBIES (HEXR) -~
{/investigationCharacteristic>
</subject0f2>
<{subjectDf2 typeCode="SUBJ™>
{investigationCharecteristic classCode="0RS” moodCode="EVN">
<code codes"2" codeSystem="2. 18, 840, 1, 113883, 3, 989, 5, 1, 3,2, 1, 12”7 displayName="{R&HK R ">
<value xsi:type="T5" value="20130107"/>
- §8972.2.1: WMEHKRE —
</investigationCharacteristic>
</subject0f2>
<subjectDFZ typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">

<code code="3" codeSysten="2. 16, 840, 1 113883, 3,980, 5, 1. 3. 2. 1. 127 displayNane="$R&BH AT I A}/

<value xsi:type="ED™>j2.2. 2</value)
<l @34)2.2.2;: HEERBICEETEZaAF —>
{/investigationCharacteristic)
</subject0f2>
{finvestigationBvent>
</subject>
{/contralActPrecess?
</PORR_INQ45016UV>
{!— Message #1 ~>
<|— Message #2 —>
<!— PORR_INO48016UV —>
<I— /PORR_INO49016UV —>
('!'"‘ Message H2 >
<receiver typeCode="RCY">
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N. 1. 4" root="2, 1G. 840, I, 113883, 3.589. 2. 1. 3. 14" />
€l-= N, 1,4: Bateh Receiver Identifier —->
</device>
{/receiver>
<{sender typeCode="SND">
{device classCode="DE¥" determincrCade="INSTANCE™>
<id extensien="N. 1.3 reot="2. 14, 840. L. 113883, 3. 989.2. 1. 3. 13"/
<l— N.1.3: Batch Sender Identifier -->
{/device>
</sender>
</MCCI_IN200100UV01>
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1

<?xml version="1.0" encoding="UTF-8"7>
<MCCI_IN2001000V01 ITSVersion="XML_1, 0" xsi:schemalocation="urn:hl7-arg:v3d MCCI_IN200100UVOL, xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. wi. are/
2001/XMLSchema-instance™
¢id extension="N, 1.2" root="2.16. 840. 1. 113883, 3. 989. 2, 1.3.227/>
¢<!|— N.1.2: Batch Numher —>
{creationTime value="20101214151617/>
<l-- N.1.5: Date of Batech Transmission —>
{responseModeCode code="D"/>
¢interactionld extensien="MCCI_IN200100UVOI” root="2. 16.B40. 1. 113883. 1. 6"/>
<name code="N. 1. 1* codeSystem="2, 16, 840. 1. 113883.3.989. 2. L. 1. 1" />
¢l== N, 1.1: Type of Messages in Batch —>
¢|— MWessage #1 —>
<PARR_INO490160V>
¢id extension="N.Z2.r, 1" root="2.16.840. 1. 113883. 3, 589. 2. 1. 3. 1"/>
¢le= N.2.1.1: Message Identifier —>
{creationTime value="20101214151617"/>
¢l—= N.2.r.4: Date of Message Creation ——>
¢interactienld extension="PORR_IND49016UV* root="2. 16, 849, 1. 113883, 1.67/>
{processingCode code="P"/>
{processingiodeCode code="T"/>
{acceptickCode code="AL"/>
{receiver typeCode="RCV*>
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.Z2.r.3" root="2.16.840. 1. 113883.3.989.2.1.3.12"/>
{}—- N.2.r.3: Message Receiver Identifier —
{/device>
{/receiver>
{sender typeCode="SND">
<device classCode="DEV* determinexCode="INSTANCE™>
<id extension="N.Z2.r.2" root="2, 16, 840. 1. 113883, 3.989.2, 1,3, 11"/>
{]— N, 2.r.2: Message Sender Identifier -->
</device>
</sender>
{controlActProcess classCode="CACT” moodCode="EVN">
<eode code="PORR_TEQ49016V" codeSystem="2. 16, 840, 1, 112883, 1, 18"/>
¢!— HLT Trigger Event ID —> -
<effectiveTime value="201012141516177/>
¢l~= C,1,2: Date of Creation —>
{subject typeCode="SUBJ">
<investigatienEvent classCode="INVSTG” moodCode="EVN">
<id extension="C, 1,17 roct="2. 16. 840. 1. 113883, 3.989.2. 1. 3.1"/>
¢1— €, 1.1: Sender’ s {case) Safety Report Unigue Identifier —>
¢id extension="C.1.8.1" root="2, 16,840, 1, 113883. 3. 989. 2. 1.3.2"/>
¢l=- C.1,.8. 1! Worldwide Unique Case Identification Number —»
{id extension=")2. 1b” roet="2, 16,840, 1, 113883, 3.989.5.1.3.2.3.1"/>
<|— gaajz. 1b: MEBEE (BF)
<eode code="PAT_ADV_EVNT” codeSysten="2. 16. 840. 1. 113883, 5. 4"/>
{text)H. 1{/text>
¢l-- H.1: Case Narrative Including Clinical Course,’ Therapeutic Heasures, Gutcome and Additional Relevant Information —
{statusCode code="active”/>
¢l— B80J2. 7.1 5£T. F=ET K5 —>
{effectiveTime>
<low value="20000101"/>
<!— C.1.4: Date Report Was First Received from Source —=> )
<feffectiveTime>
CavailabilityTime value="20090101%/>
¢!— C.1.5: Date of Most Recent Information for This Report —>
{reference typeCode="REFR™>
{document ¢lassCode="DOC™ moadCode="EVN™>
<code code="2" codeSystem="2. 16, 840, 1. 113883, 3, 989, 2, 1. 1, 27" displayName="1iteratureReference”/>
¢text mediaType="application/pdf” representation="B64">C.4.r. 2¢/text>
<I— C.4.r.2: Included Documents #1 —>
<bjbliographicDesignationText>C, 4.1, 1</bibliographicDesignationText>
{{— C.4.r.1: Literature Reference(s) #1 -->
.<participation typeCode="AUT™>
{assignedEntity classCode="ASSIGNED ">
¢representedOrganization clagsCode="ORG* doterminerCode="INSTANCE™
CasLocatedBntity classCode="LOCE"™>
<lacation classCode="COUNTRY” determirerCode="INSTANCR™>
<code code="J2.15.r" codeSystem="1.0.3166.1.2.2"/>
¢l @B8J2.15.r SRE H —
</location>
</asLocatedEntity>
</representedOrganization>
{/assignedEntity>



{/participation>
{/document>
¢{/reference>
¢reference typeCode="REFR">
¢document ¢lassCode="DOC” moadCode="EVN™>
<code code="2" codeSystem="2, 16. 840. 1. 113883, 3, 989. 2, 1. 1, 27" displayName="1iteratureReference™/>
<text mediaType="application/pdf” representation="B647>C. 4.1, 2<{/text>
=< C.4.1.2: Included Documents #2 —>
<hbibliographicDesignationText>C, 4, r, 1</bibliographiclesignationText>
¢l— €. 4.r. 1% Literature Reference(s) #2 —>
{participation typeCode="AUT™>
<assignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG”" determinerCode="INSTANCE™>
<asLocatedBntity classCode="LOCE™>
<location classCods="COUNTRY" determinerCode="INSTANCE">
Ccode code="]2. 15.r" codeSystem="1, 0, 3166, 1,2.27/>
b @oeJ2. 15. r 2RE #2 —
¢/location>
{/asLocatedEntity>
</representedOrganization>
</assignedEntity>
{/participation>
</document>
{/roference’
{component typeCade="COMP™>
{adverseEventAssessment: classCode="INVSTG” moodCode="EVN™>
<subjectl typeCode="SBJ">
{primaryRole classCode="INVSBI">
{player]l eclassCode="PSN” determinerCode="INSTANCE"/>
{subject0f1 typeCode="SBJ">
{researchStudy classCode="CLNTRL" mcodCode="EVN">
¢id extension="C.5.3" root="2.16. 840. 1, 113883.3.989.2.1,3. 5"/
<l C.5.3: Sponser Study Nunmber —>
¢code ecode="C,5.4" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1, 1.8"/>
¢<l— C.5.4: Study Type Where Reaction{s} / Bvent(s) Were Observed —>
(titledC. 5. 2¢/titled '
<!— C.5.2: Study Name —>
{autherizetion typeCode="AUTH">
{studyRegistration classCode="ACT" moodCade="EVN">
{id extension="C.5.1.r.1" root="2, 16.840. [. 113883, 3,989,2.1,3,6"/>
<!— C.5. 1.r.1: Study Registration Mumber #1 -->
<author typeCode="AUT">
{territorfalAuthority classCode="TERR™)
{governingPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="C.5.1.r.2" codeSystem="1.0,3166.1.2.27/>
{l-- C.5.1.1.2: Study Registration Country #1 —>
{/governingPlace>
</territorialAuthority>
{/author>
{/studyRegistration?
¢/authorization>
<authorization typeCode="AUTH">
{studyRegistration classCodes"ACT" moodCode="EVN™>
<id extension="C.5.1.r. 1" root="2. 16,840, 1, 113883. 3.989.2. 1. 3.6"/>
(I— C,5.1.r.1 Study Registratien Number #2 —>
<author typeCode="AUT">
<territorialAuthority elassCode="TERR™>
<governingPlace classCode="COUNTRY" determinerCode="INSTANCE™
¢code code="C.5.1.r, 2% codeSystem="1.0, 3166, 1.2.2"/>
¢l—= ¢, 5 1.1.2: Study Registration Country #2 —>
{/governingPlace> :
</territorialAuthority>
</author>
</studyRegistrationd
</authorization>
{/researchStudy>
{/subject0f1>
{subjectOf2 typeCode="SB]"> .
<arganizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1. 1, 20" displayName="drugInformation™/>
<l— G.k Prug(s)} Information {repeat as necessary) #1 —> .
-{component typeCode="COMP“>
{substanceAdministration classCode="SBADM" meodCode="EVN™>
<id reot="3c91b4d5—-e039-daTa-IcI0-67671b0eed” />
{consumable typeCode="CSM™> '



{instance0fKind classCode="INST">
<kindQfPraduct classCodes"MMAT” determinerCode="KIND">
<code code="G. k.2, 1. 1b" codeSysten="TBD-MPID"/>
¢!— G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 —>
<name?G. k. 2. 2{/name>
¢!— G.k.2.2: Wedicinal Preduct Name as Reported by the Primary Source #1 —>
{asManufacturedProduct classCode=”"MANU">
<{subjectOf typeCode="SRJ">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G. k.3, 17 root="2. 16, 840, 1. 113883, 3,985, 2.1,2.4"/>
<}— G.k.3.1: Authorisation / Application Number H1 —>
<alithor typeCode="AUT">
{territorialAuthority classCode="TERR™>
{territory clessCode="NAT" determinerCode="INSTANCE™>
<code code="G.k 3.2" codeSystem="1.0.3166.1.2.2"/>
¢l— G6.k.3.2: Country of Authorisation / Application #1 —
{/territory>
{fterritorialAuthority
</author>
<pertinentInformation typeCode="PERT™>
{policy classCode="POLICY" moodCode="EVN">

¢eode eode="]J2.5.k" codeSystem="2. 16. 840. 1. 113883, 3. 689.5. 1. 3.2. 1. 4" />
<I— 888J2.5.k: —BAEERBTD) A2 RH% #1 —
<fpolicy>
<{/pertinentInformation>
</approval
£/subject0f> .

<subjectdf typeCade="SB]">
{characteristic classCode="085""moocdCode="EVN">
<eade code="1" codeSystem="2, 6. 840, 1. 113883, 3,988, 5,1,3, 2,1, 10 displayName= #ﬁE%tﬁ:?frOﬂ‘i‘REﬁ 2
<yvalue xsi:type="CE” code="J2.4.k" codeSystem="2. 16.840.1.113883.3.689.5.1.3.2.1.3"/>
<l— 8eaJz. 4. k: FEFRLEORRES #1 —
{/characteristic>
</sub ject0f>
</asManufacturedPraductd
<asSpecializedKind classCode="GEN">
¢generalizedfaterialKind classCade="MAT" determinerCode="KIND™>
{coded ’
<originalText>J2.12<{/originalText>
<1— eeJ2. 12: EEEARS —
£/cade>
¢/generalizedMaterialKind>
{/asSpecializedKind>
-{ingredient elassCode="ACTI™>
¢ingredientSubstance classCode="MMAT" determinerCode="KIND™>

{eode code="G. k. 2, 5.7, 2b" codeSysten="TBD-Substance”/>
<l— G.k.2.3.1.2b: Substance / Specifiod Substance TermlID #1-1 —>
{namedG. k. 2. 3. r. 1<{/name>
=Gk 23r1: whmme/%mﬁmd&hmmehm#ll—)
</1ngredlentSuhstance>
{fingredient>

{ingredient classCode="ACTI™>
<ingredientSubstance classCode="WMAT" determinerCode="KIND">

{code code="G. k. 2. 3.1, 2b" codeSystem="TBD-Substance”/>
¢}== G.k.2,3, 1, 2b: Substance / Specified Substance TermID #1-2 ~->
<name>G. k. 2. 3. r. 1</name>
¢f-— G.k.2.3.r.1: Substance / Spec1fled Substance Name #1-2 —>
</ingredientSubstance>
{/ingredient>
</kindGfProduct>

{suth jectOf typeCode="SBJ]">
{observationBvent classCode="DBS” moodCode="EVN™>
<code code="2" codeSystem="2. 16.840. 1. 113883.3.989.5. 1. 3. 2.1, 10" displayName="—fZ IEIEADOAEZR" /)
{value xsi:type="CE” cede="J2.6. k" codeSystem="2. 18, 840, 1. 113883, 3, 989.5.1.3_2.1.5 "/
<I— egejz.6. k: —~BAEEROAFER ¥ —
{/ohservationBvent>
{/subject0f>
</instance0fKind>
{/consurable>
{/substanceAdministration>
</component>
</organizer>
¢{/subjectDf2>
{subject0f2 typeCode="SB]">
Corganizer classCode="CATEGORY” moodCode="EYN">



{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. L. 11" displayName="1aSk ¥} />
{cemponent typeCode="COMP™>
{observation classCode="0BS" mocdCode="EVN"> .
<code code="7" codeSystem="2. 16. 840. [ 113883, 3, 989, 5, 1. 3, 2, 1. 10" displayName="/R H[EI%"/>
{value xsi:!type="INT" value="1"/> :
<l— @gaje. 13. 1. 1 BINEE # —>
¢/observation>
</component?
{component typeCode="COMP™>
<observation classCode="0BS” meodCode="EVN">
{coade code="8" codeSystem="2. 16. 840. 1. 113883, 3, 989, 5. 1. 3. 2. 1. 10" displayName="@5M"/>
<value xsi:type="ED">J2.13. 1. 2¢{/value>
<l— geayz. 13.rx. 2: KA 1 —
</observation>
</eomponent>
<component typeCode="COMP™>
<observation elassCode="0BS" moadCode="EVN™> ‘
{eode code="9" codeSystem="2.16.840. 1. 113883.3.989. 5. 1. 3. 2. L. 10" displayName="Bi3E4R"/>
<value xsi:type="CE" code="J2.13.r.3" codeSystem="2.16. 840, L. 113883, 3.989.5.1.3.2.1.7°/>
<1— @edJz, 13. 1.3 MR Kl —
{/cbservation>
{/component?
{component typeCode="COMP">
{ebservation ¢lassCode="0BS" moodGode="EVN™)>
{code code="10" cedeSystem="2. 16.840. 1. 113883. 3, 989. 5. 1. 3. 2. 1. 10" displayName="123Eh OiE Rl OFTE"/>
<value xsi:!type="BL" value="true"/>
<I— ee0J2.13.r. 4: BENOEFOHE 81 —
{/observation>
{/component?
</orgenizer>
</subjectOf2>
<subject0f? typefode="SB]"> -
Corganizer classCode="CATEGORY" mosdCode="EVN"> '
<cade code="1" codeSysten="2. 16, 840. 1. 113883, 3,989, 5, 1, 3. 2. 1. 11" displayName="IHBEDIEE"/>
{compenent typeCode="COMP™>
{observation classCode="0BS” moodCade="EVN">
{code code="7" codeSystem="2, 16, 840, 1. 113883. 3. 989. 5. 1. 3. 2. L. 107 displayName="J& Hi[E$L" />
<value xsi:type="INT" value="1"/>
<I— 8geJ2. 13.v. 1: B #2 —>
¢/abservation®
</component>
{component, typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN">
<code code="8" cadeSystem="2.16.840. 1. 113883. 3. 988. 5. 1. 8. 2. 1. 10* displayName="#I&RM" />
{value xsi:type="ED">J2. 13, r. 2¢/value>
<!— @@eJ2.13.1.2: RRHEE 2 —
</observation>
{/component>
<conponent typeCode="COMP">
{ohservation classCode="0BS" moodCode="EVN™)>
{coda code="9” codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1, 107 displayName="PiZ&42"/>

: ¢value xsi:type="CB” code="J2. 13.r. 3" codeSysten="2.16.840. 1. 113883.3,989.5.1,3,2, L. 77/>
<l— @eaJz. 13.r. 3: PARHE #2 —>
{/cbservation>
¢/component>

{component typeCade="COMP™> s
{abservation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2, 16, 840. 1. 113883, 3.989.5.1.3.2.1. 107 dl'.SﬁlayName=”&%‘PV)ﬁﬁ]0}ﬁﬂ?é”/>
<value xsi:type="BL" value="false”/>
<l 888)2.13.r. 4 RICPOEAOHE 82 —
{/observation>
{/component>
{/organizer>
¢/subjectf2>
</primaryRole?
¢/subjectl>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
¢code code="10" gcodeSysten="2. 16. B£0, 1, 113863, 3,989, 2. 1. 1. 19" displayName="comment”/>
<value xsitype="ED™>H. 4</value> )
¢l— H. 4: Sender’s Comments ——>,
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED"™>
<code code="1" codeSysten="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1. 217 displayNema="sender”/>
{/assighadBntity}



{/author>
{/observationEvent>
{/component1>
{component]l typeCode="COMP">
{observationEvent classCode="0BS™ moodCode="EVN™>
<code code=73" codeSystem="2.16, 840, 1. 113883. 3. 986. 5. 1. 3. 2. 1. 10" displayName="ZETIZH T2z A2 b0
<velue xsi:type="ED">J2.7. 2<{/value>
<I— BeaJe. 7.2 RETIFTIAVE —
{/observationEvent>
¢/component1>
{componentl typeCade="COMP">
{observaticnEvent classCode="0BS" meodCode="EVN">
{code code="5" codeSysten="2. 16. 840. 1. 113683. 3. 989.5. 1. 3. 2. 1. 10" displayName="&1&DMIE"/>
<yalue xsi!type="ED">J2.10¢/value}
Kl— @aajJe. 10: SHoxE —>
{/observationBvent>
{/component1>
{componentl typsCode="COMP">
{observaticnBvent classCode="0BS" moodCode="EVN">
" <gode code="6" codeSystems”2. 16. 840. 1. 113883, 3.5989.5. 1. 3. 2. 1. 10" displayName="¥ D hBEERE" />
<value xsi:type="ED">J2, 11¢/value>
<l-- @@aJ2. 11 ZOiEEFENIAS —
{/observationBvent>
{/component1>
{eemponentl typeCede="COMP">
{observaticnBvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2, 16, 840, 1. 113883, 3, 980.6.1. 3. 2. 1. 10* displayName="$RHABDEL"
<value xsi:type="ED">]J2, 16¢/value>
<I— 8gaJ2. 16: HERFOER —>
{/observationBvent>
¢/compohentl>
{/ndverseEventAssessment>
</component>
<component typeCode="COMP">
{abservationBvent classCode="0BS" moodCode="EVN™>
<eode code="23" codeSystom="2, 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="localCriteriaForExpedited”/>
<value xsiitype="BL" value="true”/>
¢1— C.1.7: Does This Case Fulf1I the Local Criteria for an Expedited Report? —>
{/chservationEvent>
</component?
<outhoundRelationship typeCode="SPRT™>
¢relatedInvestigation classCode="INVSTG” moodCode="EVN™>
{eode code="1" codeSystem="2, 1B, 840, 1, 113883, 3,989, 2, 1, 1. 22" displayName="initialRepert™/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCade="CACT" moodCode="EVN">
{author typeCode="AUT™>
<assignedEntity ¢lassCode="ASSIGNED™>
<code code="C.1.8.2" codeSystem="2. 16. 540. 1. 113883. 3.989. 2. 1. .3"/>
{l— (., 1.8.2: First Sender of This Case —>
{/assignedEntity>
</author>
{/controlActBivent)
</subject0f2>
{/relatedInvestigation>
{/ecutboundRelationship>
{outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
<code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ™>
- <controlActEvent classCode="CACT" moodCode="EVN™> |
<id extension="C. 1.10. 1" reat="2, 18, 840, 1, 113883, 3, 989, 2, 1.3, 2" />
¢le= C,1.10,r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
</controlActEvent>
¢/subject0f2>
¢/relatedInvestigation>
{/outboundRelaticnship>
{outboundRelationship typeCode="SPRT">
¢relatedEnvestigation clagsCode="INVSTG" moodCode="EVN">
{cede nullFlavor="NA"/>
¢subject0f2 typeCede="SUBJ">
<gontrolActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r" root="2.16.840. 1. 113883. 3. 989. 2. 1.3.2"/>
<|— C. 1.10.r: Identification Number of the Report Which Is Linked to this Report {repeat as necessary) #2 —>
{/eontrolActEvent?
{/subject0f2>



{/relatedInvestigation>
{/outboundRelationship>
¢subject0fl typeCode="SUBY">
{controlActEvent classCode="CACT" moodCede="EVN™>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{addr>
{streetAddressLine>C. 3, 4. 1{/streetAddressLine>
¢{— C.3.4.1: Sender’s Street Address —>
LeitydC, 3.4, 2¢/city>
¢1— C€.3.4. 2: Sender's City —>
{statedC. 3. 4. 3{/state>
{1— C.3.4. 3: Sender's State or Province —>
{/addr> .
{assignedPerson classCode="PSN” determinerCode="INSTANCE™
{name>
<prefix>C. 3. 3 2¢/prefixd
<l— C.3.3.2:! Sender’ s Title —>
{given>C. 3. 3. 3</given>
<|— C.3.3.3: Sender’s Given Name —>
<givendC, 3, 3, 4{/given>
<{l— (.3.3.4: Sender’s Middle Name —>
<family>C. 3. 3. 5¢/Fanily>
{}— €.3.3.5: Sendexr’s Family Name —>
{/name>
¢aslocatedBntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE™>
<cede code="C,3.4,5" codeSysten="1, 0.3166. 1.2, 27/>
{{— (.3.4,5: Sender’s Country Code —>
</location>
. {fasLocatedEntity’
{/essignedPerson>
{representedOrgenization classCode="ORG” determinerCode=" INSTANCE™>
<name>C. 3. 2</name>
{!-- C.3.2: Sender's Organisation —>
{/representedOrganization>
{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f1>
{subject0f] typeCode="SUBJ">
<controlActEvent classCade="CACT” mocdCode="EVN"> ’ :

¢id agsigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1.r. 2" root="2. 16. 840.1.113883.3.989.2.1,3.3"/>
¢J— €. 1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #l —>
¢le= € 1,91, 1.2 Case Identifier(s) #1 —>
</controlictBvent?
</subject0f1>

{subjoct0f] typeCoda="SUBJ"> )
{controlActBvent classCode="CACT” mocdCode="EYK™> .
{id assigningAuthorityName="C.1.9.1.x.1" extension="C.1. 9. 1.r.2" roaot="2. 16, 840. 1. 113883, 3,989.2.1.3.3"/>
¢1— €. 1.9.1.r. 17 Source(s) of the Case Identifier (repeat as necessary) #2 —>
(1= €,1,0.1,1.2 Case Identifier(s) #2 --> :
{/controlActEvent>
</subjectOf1>
<subject0f2 typeCode="SUBJ"> )
{investigationCharacteristic classCode="0B5" moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. [13883. 3. 988. 2. 1, 1. 23" displayName="ichReportType”/>
<value xsi:type="CE" code="C.1.3" codeSystem="2, 16.840. 1. 113883, 3.989.2. 1. 1.27/>
¢1— C.1.3 Type of Report —»
{/investigationCharacteristic>
</subject0f2>
{subjectOf2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{cade code="2" codeSystem="2. 16. 840, 1. 113883. 3. 980. 2. . 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL" value="true"/>
¢t= . 1,5, 1 Other Case Identifiers in Previous Transmissions —>
</investigationCharacteristic) -
{/subject0f2>
<subjectOfZ typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="3" codeSysten="2. 16. 840, 1, 113883. 3, 989. 2. . 1. 23" displayName="nullificationAnendmentCode”/>
<value xsiitype="CE" code="C.1.11.1" codeSystem="2.16.840. 1, 113883, 3,989, 2.1.L.5"/>
¢!— C.1,11.1: Report Mullification / Amendment —>
{/investigationCharacteristic> '
{/subject0f2>



¢subjectDf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moecdCode=" EVN >
{eode cade="4" codeSysten="2. 16. 840. 1. 113883, 3. 989, 2. [. 1, 23" displayName="nullificationAmendzentReason™/>
<value xsi:type="CE">
<originalText>C, L, 11, 2{/originalText>
¢I— €. 1.11.2: Reason for Mullification / Amendment —>
{/value>
{/investipationCharacteristic>
{/subjectf2>
¢sub jectOf2 typeCode=" SUB_T >
¢investigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2, 16. 840. 1, 113883. 3. 989. 5. 1. 3. 2. 1. 127 displayName="EERH = (ﬂ%ﬁ}ﬁ) 2
<value xsi:type="CE" code="J2.1a" codeSystem="2. 16.840. 1. 113883, 3.989.5,1.3.2. 1. 1"/>
(I 88aJ2. la: MBIEE (HEHE) —
¢/investigationCharacteristic> .
¢/sub ject0f2> :
¢subjectOf2 typeCode="SUB]">
{investigationCheracteristic claseCode="0BS” moodCode="EVN™>
{code codes"2" codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 12" displayNeme="484&BH A"/
"Cvalue xsi:type="T5" value="201301077/>
i ggay2.2.1: MERER —
</investigationCharacteristic>
¢/subject0f2>
<subject0f? typeCode="SUBJ">
{investigationCharacteristie classCode="0BS" moodCode="EVN">
(eode code="3" codeSystem="Z. 16. B40. 1. 113883. 3. 988. 5. 1. 3. 2. 1. 12" displayName="$ 5B RIZE+ D2 A 0
{value xsi:type="ED">J2. 2. 2¢/value}
<l— @88J2.2.2: HERRKBIETS=AVF -
</investigationCharacteristic>
</subject0f2z>
<subject0f2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2. 16.840. 1. 113883, 3, 989, 5, 1, 3, 2, 1, 12° dizplayName="EAB5aRE 2 F 75
{value xai:type="CE” code="]2.3" codeSystem="2.16.849.1, 113883.3.989.5.1.3.2,1,2°">
{1— @gaJe. 3: IEREC S S —>
</investigationCharacteristic>
</subject0f2>
<{/investigationEvent>
{/subject>
</feontrolactProcess>
</PORR_INO400161V>
{!— Message #1 —>
{lwe Message #2 —>
<!— PORR_INO4SO16UY —>
<l-- /PORR_INO49016UV —>
¢!— Message #2 —>
<receiver typeCode="RCY">
{device classCode="DEV" determinerCode="INSTANCE">
<id extension="N. 1. 4" reot="2. 16. 840, 1, 113883, 3, 989.2. 1. 3. 14'/)
¢l== N.1.4: Batch Receiver Idertifier —>
¢/device?
</receiver>
<sender typeCode="SND">
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N, 1, 3" root="2. 16, 840. 1.113883. 3.989.2.1. 3. 137/>
¢l— N.1.3: Batch Sender Identifier —>
Sdevice> -
<{/sender>
<MCCI_IN200100UVOL>
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XPath /MCCI_IN200 100UV01[@ITSVerS1on=‘XML 1.0'll@xsi‘schemalLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcess[@classCod
e="CACT1[@moodCode="EVN'l/subject@typeCode="SUBJ'[1)/investigationEvent
[@classCode=TNVSTG[@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ Nlinve
stigationCharacteristic/code[@code="1'l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1)[1)/investigationCharacteristicl@classCode="OBS'l[@mood Code="EVN'
]/value[@x51 type—'CE'] [@codeSystem '2.16.840.1.113883.3. 989.5.1.3.2.1.1‘]/@c0de
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XPath

I~valuel@xsi:type

/MCCI_IN200100UV01[@ITS Version="XML,_1.0'[@xsi:schemaLocation="urn:hl7-
org-v3d _
MCCI_IN200100UV01 xsd'//PORR_IN049016UV[r)/controlActProcess[@classCod

e='CACT][@moodCode="EVN'/subject[@typeCode="SUBJ'][1}/investigationEvent

[@classCode=TNVSTG H{@moodCode="EVN'/subjectOf2[@type Code="SUBJ "] [inve
stigationCharacteristic/code[@code="2"][@codeSystem="'2.16.840.1.113883.3. 989.5.
1.8.2.1.12']1[1)/investigationCharacteristic[@classCode="OBS{@mood Code="EVN'

="TS'l/@value : B
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi‘schemalocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess[@classCod

e='CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'|[1)/investigationEvent

[@classCode=TNVSTG'] [@mood Code="EVNVsubjectOf2[@typeCode="SUBJ[inve

stigationCharacteristic/code[@code='3"[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode="OBS' [@moodCode="EVN".
]/value[@x31 typeZ'ED']/textO
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi'schemaLocation="urn'hl7-

org:v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT"[@mood Code="EVN'l/subject[@typeCode="SUBJ')[1}/investigationEvent
{@classCode="TNVST G [@moodCode="EVNY/subjectOf2[@typeCode="SUBJ'| [inve -
stigationCharacteristic/code[@code='4'l[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1271[1)/investigationCharacteristicl@classCode='"OBS' [@mood Code="EVN'
Jvaluel@xsi:type="CE'l[@codeSystem="2.16.840.1.113883.3. 989.5.1.3.2.1.2]/@c0de
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XPath

/MCCI_IN200100UV01[@ITS Version=XML,_1.0'][@xsi:schemal.ocation="urn:hl7-
orgv3
MCCI_IN200100UVO01. xsd‘]/PORR IN049016UVIrl/controlActProcess[@classCod -
e='CACT"] [@moodCode—'EVN']Isubject{@typeCode—'SUBJ'][1]/1nvest1gat10nEvent
[@classCode="INVSTG'1[@mood Code="EVN')/component[@typeCode="COMP"[adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode=TNVSTG1[@mo
0dCode="EVN/subject1i@type Code="SBJI[1}/primaryRole[@classCode="INVSBJ'
/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='4'l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.207][1]/organizer[@classCode='CATEGORY 'l [@mood Code=E
VN'l/component{@typeCode="COMP'l[substanceAdministration/id] [k]/substanceA
dministration[@classCode='SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode=INST1/kindOfProduct(@classCode="MM
AT l[@determinerCode="KIND'V/asManufacturedProductl@classCode=MANU"l/su
biectOfl@typeCode="SBJ'l[characteristic][1}/characteristiclcode[@code='11[@code
System='2.16.840.1.113883.8.989.5.1.3.2.1.101[1][@classCode='0BS' [@moodCod
e=EVN"/valuel@xsi:type='CE'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.

3')/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML._1.0'l[@xsi:schemaLocation="urn:h}7-
' org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(ri/controlActProcessl@classCod |
e="CACT'] [@moodCodé='EVN']/ subjectl@typeCode="SUBJ'] [l]linvestigationEVent
[@classCode="INVSTG'] [@moodCOde='EVN']/qomponent[@typeCode='COMP'] (adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG' [@mo

0dCode="EVN"}/subject1[@typeCode="SBJ'l[1]/primaryRolel@classCode='INVSBJ'
I/subjectOf2[@typeCode='SBJ'l{organizer/codel@code="4'1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20[1]/organizer(@classCode='CATEGORY'[@moodCode="E
VN')/component[@typeCode="COMP'][substanceAdministration/id]{kl/substanceA
dministration[@classCode="SBADM'][@mood Code="EVNl/consumable[@type Code
='CSM'1[1)/instanceOfKind[@classCode="INST']/kind OfProduct[@classCode="MM
AT'[@determinerCode="KIND')/asManufactured Product[@classCode="MANU"/su
bjectOfl@typeCode="SBJ'l[approvall[1)/approvall@classCode='CNTRCT' [@mood

Code="EVN'l/pertinentInformation[@typeCode="PERT'I[1)/policy[@classCode="PO
LICY'][@moodCode="EVNl/codel@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

4‘]/@code
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XPath

(value)

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemaLlocation="urn:hl7-
org-v3 . :
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT"][@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode=INVSTG'l[@mood Code="EVN'l/component[@typeCode='COMP}[adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG' [@mo

0dCode="EVN'l/subject 1[@typeCode="SBJ'l[1]/primaryRolel@classCode="INVSBJ'
I/subjectOf2l@typeCode='"SBJl[organizer/code[@code="4"[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.2071[1]/organizer[@classCode="CATEGORY'] [@moodCode="E
VN'l/component[@type Code='COMP'l [substance Administration/id] [k)/substanceA
dministration[@classCode="SBADM'][@mood Code="EVN'l/consumable[@typeCode

='CSM'{1}/instanceOfKind[@classCode="INST'/subjectOfl@typeCode="SBJV/obse

| rvationEventlcodel@code='21[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'

II[1l{@classCode="0BS'l{@moodCode=EVN'l/valuel@xsi:type='CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'/@code

XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'| [@xsi'schemalocation="urn:h17-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN0G49016UVI[r]/controlActProcess[@classCod
e='"CACT'][@moodCode="EVN'l/subject[@typeCode='"SUBJ'][1l/investigationEvent
[@classCode="INVSTG[@mood Code="EVN')/component[@type Code='"COMP'l[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode=EVN'l/subject1[@typeCode="SBJ'][1]/primaryRole[@classCode=TNVSBJ'
I/subjectOf2[@typeCode='SBJ' [organizer/codel@code="4"l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20T1[1]/organizer[@classCode='CATEGORY'] [@moodCode="E
VN'l/componentl@typeCode="COMP'][substanceAdministration/id][1]/substance A

| dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumable[@typeCode

=CSM1[1)/instanceOfKind[@class Code="TNST'l/subjectOf[@typeCode="SBJ")/obse
rvationEvent[code[@code="21[@codeSystem='2.16.840.1.1183883.3.989.5.1.3.2.1.10'
Jl{1}[@classCode="OBS'[@moodCode="EVN'l/value[@xsi:type='CE'][@codeSystem

J2.0.1 T,
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XPath

/MCCI_IN200 100UV01[@ITSVe;sion=‘XML_1.0'] [@xsi:schemalocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd' l/PORR_IN049016UVIr]/controlActProcess[@classCod
e='CACT][@mood Code="EVN')/subjectl@type Code="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'/statusCode/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.01{@xsi:schemalocation="urn:hl7-
org:v3d

MCCI_IN200100UV01.xsd /PORR_IN049016UVI[rl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN')/subject[@type Code="SUBJ'][1}/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/component{@typeCode='COMP'l{adv
erseEventAssessment]{1]/adverseEventAssessment{@classCode="INVSTG'[@mo
0dCode="EVN')/component1[@typeCode='"COMP ][observationEventlcode [@code='
3'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l{1]/observationEvent[@c
lassCOdez'OBS'] [@moodCode"—"EVN']/value[@xsiitypeZ‘ED']ltextO
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XPath /MCCI_IN200100UV01 [@ITSVersion='XML_1.'O'] [@xsischemal.ocation="urn:hl7-
org:v3

]/ alue [@x51-type=

MCCI_IN200100UV01.xsd'l/PORR _ IN049()16UV[r]/contr01ActProcess[@classCod
e='CACT"[@moodCode="EVN')/subject[@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG[@mood Code="EVN1/subjectOf2[@typeCode='SUBJ ] [inve
stigationCharacteristic/code[@code="5'[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristic[@classCode="OBS'l[@mood Code="EVN'
'CE'] [@codeSystem—‘2 16 840 L 113883 3 989 5.13.2.1 6']/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:h17-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UVIr}/controlActProcess(@classCod
e='CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'//subjectOf2[@typeCode='"SUBJI'][inve

| stigationCharacteristic/code[@code="6'l{@codeSystem="2.16.840.1.113883.3.989.5.

1.3.2.1.121][1VinvestigationCharacteristicl@classCode="OBS'l [@mood Code="EVN'

Iivaluel@xsitype="ED"V/text(
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e='CACT][@mood Code="EVN')/subjectl@typeCode="SUBJ'1[1)/investigationEvent |
[@classCode=INVSTG']{@moodCode="EVN']/component[@typeCode='COMP][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTGJ[@mo

0dCode="EVN'l/component1[@typeCode="COMP'][observationEventlcode[@code='
4[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1)/observationEvent[@c
lassCode='"0BS'1[@mood Code="EVN'/valuel@xsi:type="ED'/text( )
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'[@xsi:schemalocation="urn:hl7-
org:v3 ) b
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT[@moodCode="EVN'l/subject[@typeCode="SUBJ'I[1)/investigationEvent
[@classCode='TNVSTG'] [@moodCode='EVN']/component[@tfpeCodefCOMP'] [adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode=INVSTG[@mo
0dCode="EVN'l/componentl[@typeCode='COMP"][observationEvent[code[@code="
5'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'l1[1]/observationEventl@c
lassCode='OBS)[@moodCode="EVN')/value[@xsi:type="ED'l/text(

ey T AL p FTATEH

HHHHA ZFDBE LR AEEFFTET B,

m#sE kL

F—&a 10000J

FFAE SRk

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0][@xsi:schemaLocation="urn:hl7-
org'v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcess[@classCod |
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="TNVSTG ] [@moodCode="EVN"Y/component[@typeCode="COMP'][adv
erseEventAssessment]{1)/adverseEventAssessment[@classCode="TNVSTG'[@mo

odCode='EVN'l/component1[@typeCode="COMP'][observationEvent[codel@code="
6/l [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10T1][1]/obsexvationEventl@c
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
orgv3 '

MCCI_IN200100UV01.xsd'/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACTH@moodCode="EVN'/subject@type Code="SUBJ'I[1]/investigationEvent
[@classCode=TNVSTG][@mood Code="EVN'l/component[@typeCode='COMP'][adv
ersefBventAssessment][1}/adverseEventAssessment[@classCode='INVSTG'H[@mo
0dCode="EVN'/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='SBJ ) [organizer/codel@code="4] [@codeSystem="2.16.840.
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1.113883.3.989.2.1.1.20'[1)/organizer[@classCode='CATEGORY'[@mood Code="E
VN'l/component[@typeCode='"COMP'lisubstanceAdministration/id)/substanceAd
ministration[@classCode="SBADM[@mood Code="EVNl{consumable/instanceOf
Kind/kindOfProduct/asSpecia]izedKind/generalizedMaterialKindfcode/briginalTe
xt][1]/consumab1e[@typeCode='CSM']'[1]/instanceOﬂ{ind[@classCode=‘INST']/kin :
dOfProductl@classCode="MMAT'l[@determinerCode="KINDVasSpecializedKind][

‘@classCode="GEN'[1)/generalizedMaterialKind[@classCode=MAT'}[@determiner

Code "KIND')/code/originalText/text(

HEBHA . Y"*ﬁﬁ\_ o, ERHEREEOBHEEREFRET D,

mEFE | BRIAEBREERRELCWARWESIE, BTk,

F—&& | 2N

FFEE Ll L

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01 [@xsiischemaLocation='urn:h17-
org'v3

MCCI_IN200100UV01.xsd'l/PORR_ IN0490 16UV[r]/controlActProcess[@classCod
e='CACT"]{@moodCode=EVN'l/subject[@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'|[@moodCode="EVN")/component[@typeCode='COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG1[@mo

0dCode="EVN'/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ
J/subjectOf2[@typeCode="SBJ' l[organizer/codel@code='1[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']][r)/organizer[@classCode="CATEGORY '} [@mood Code
="EVN'l/component{@typeCode='"COMP'l/observation[@classCode="OBS'l{@mood

Code="EVN'l[codel@code="7"] [@codeSystem—'Z 16.840.1.113883.3.989.5.1.3.2.1.10'

ll/valuel@xsi: type—'INT ]/@value

TH B 787 BRI LT, 7&5&%@‘@%&%&& é TV D HSREZERT 5.
Eak AR BHREERHELRE L TWHEICIE, RREER TR TED, 2k, IBERE
’ EEFERE L TWRnEE I, BREEHESFCREL TV IS RAEZREHTD

T, A—OBEREGHEECORKORBEZNRLT2HE1L, Yo ~TRI- TR
Hraz &,

F— & H 1000J

HAE HHRCE

XPath /MCCI_IN200100UV01{@ITSVersion=XML_1. 0][@xs1 schemaLocatmn*‘urn hl7-

org:v3

_ MCCI_IN200100UV01.xsd'//PORR_IN049016UVI[rl/controlActProcess[@classCod

e='CACT"] [@moodCode='EVN']/subject[@typeCode*—"SUBJ ] [1]/im{estigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component{@typeCode='"COMP'] [adv

g9




erseEventAssessmentl[1}/adverseEventAssessment[@classCode="TNVSTG' [@mo
0dCode="EVN/subject1[@typeCode="SBJ[1)/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="11l@codeSystem='2.16.840.
1.113883.3.989.5.1.8.2.1.11']][x)/organizer[@classCode="CATEGORY'] [@mood Code
=EVN'/component[@typeCode='"COMP"}/observation@class Code="0BS'l[@mood
Code="EVN[code[@code="8"}[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10"
l/valuel@xsitype="ED/text(

THE A BRIEEZRCER SN T 2EREEEZRT,
FOR T BREAHBHELZREHLTWIESITL, BHRzERTII LA TE D, B, BHBET
' BRE L R L’Cb\itll/ MEAITIE. BUAKS L 0 @i o - FEZEIR L TRRHTHZ

L. . .

F—4E | 1IN

HEE BlHE 5 258

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation=urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'] [@moodCode='EVN']/subject[@typeCode='SUBJ N[1]/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode=TNVSTG'l[@mo

0dCode="EVN'l/subject1[@typeCode="SBJ'|[1)/primaryRole[@classCode="INVSBJ'
V/subjectOf2[@typeCode='SBJl[organizer/code[@code="1TI@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.111]fr)/organizer[@classCode="CATEGORY'l[@moodCode
=EVN'1/component[@typeCode='"COMP'V/observation[@classCode="OBS1[@mood

Code="EVN'l[code[@code='9"][@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'
II/valuel@xsi‘type='CE'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7)/@cod

e

Jo.18.64  BEREOEHOFE -

L $ﬁ¢®¥“%ﬁﬁﬁ %&“%EP DIRBE DHIEZTT,

HE%HA
(W g = FETRRLS T—VETEEERVWIEEE True=F | &, WRWESR
[False=ff] Z@IRT5Z &, '
F—a 7—/E 10A
FrAE true=%
false=14%
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemalocation="urn‘hl7-
org:v3 '
MCCI_IN200100UV01.xsd'/PORR_IN049016UVIxrl/controlActProcessi@classCod
e='CACT'}[@moodCode="EVN/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode=TNVSTG1[@moodCode="EVN'l/component[@typeCode='"COMP'] [adv
erseBventAssessmentl[1)/adverseEventAssessment(@classCode=INVSTG'][@mo
0dCode="EVN'}/subject1[@typeCode="SBJ'l[1}/primaryRole[@classCode="INVSBJ'
VisubjectOf2l@typeCode='SBJ[organizer/code[@code="11[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1. 11l [t//organizer[@classCode='CATEGORY 'l [@mood Code
="EVN'l/component[@type Code="COMP')/observation[@classCode='OBS' [@mood
Code="EVN'l{code[@code="10"[@codéSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.1

0llvaluel@xsiztype="BL/@value
Joadi AR EEA . 0 o A

E B BERDBE . UEREORWEHSNEREREENL TR TERVWLOTHIHEIR
RN, F DMDBEIFEEmM & T3, ICSREH® E.i.2.1b BIfER /HEE S (MedDRA
o F) LERE-SIT B, BHERAEICERS - Bz 595, (FRIEORIBTERED,
FBHMNED (8. FOMOBHRBHEASRE IR LIOEEFRER] © (1) 28T
BTk,

FHHE | o— MENLBIRLTERTS &,

7—&8 | IN

WEE | 1=RE
2=HEAn

XPath | MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi‘schemalocation="urn:h17-
org'v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT'[@mood Code="EVNV/subjectl@typeCode="SUBJ'l[1VinvestigationEvent
[@classCode="INVSTG'] [@moodCode="EVN'/component[@typeCode='COMP'l{adv
erseEventAssessment}[1]/adverseEventAssessmentl@classCode=INVSTG'][@mo
0dCode="EVN/subject1[@typeCode="SBJ"|[1)/primaryRole[@classCode="INVSBJ"
V/subjectOf2[@typeCode="SBJ'l[observation[idl[code[@code='29[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']]iil/observation[@classCode="OBS'l [@mood Code=
"EVN'/outboundRelationship2[@typeCode="PERT'] [observation/code[@code="11"]{
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.107][1)/observation[@classCode=
'OBS'][@mood Code="EVN'l/value[@xsi:type='CE'l[@codeSystem="2.16.840.1.11388
3.3.989.5.1.3.2.1.8/@code

EEBE | BmE RO R BRI BT, ARICB TRENERAR SN TN BHEE.

ABEBTT, |
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ot WaReA Eo— FbEflia— FERIRLTRHETDHZ &,
FRBEDERE., BELE/LMEBLZLSOFBR L. RBRERESFTOELRHET S L.
i, SEHEREOHRE. HERTLEZERTHZ L. |
BEHEICBWT, BEEORRYRBILL - TR—OEESRENTZHE. 1 20H

| &L LTHRELTELI LAY, ZOBICIAFEL 1 BB ICEH L, HVELEH

HALT, ZHBLURICEDOMDARE %%‘E%‘ﬁ‘é &,
#%H, A—0OEBIUE TR INEHEITIE, YFARBICOWTENREST 5. €
DERIZI, ATEIEE O Ik THR ﬁﬂué&ﬁmﬁ%l%ﬂﬁﬁé Lo BEZRED
AFREPEEHIBEIIRVRLEFRATLH &,
k. SEOHEBENERERLEDIESIIX. @ELTH L.

F—&E 2A

FAE ISO 31661 TA 7 7-2 DE=—F ,

XPath MCCI IN200100UV01[@ITSVersmn—'XML 1.0'l[@xsi:schemalocation="urn:hl7-

| e="CACT] [@moodCode="EVN/subject[@type Code="SUBJ'1[1}/investigationEvent

org:-v3
MCCI_IN200100UV01.xsd'l/PORR_ IN0490IGUV[r]/controlActProcess[@classCod

[@classCode="INVSTG'][@moodCode="EVN'l/reference[@typeCode="REFR'] [docu
ment/codel@code="21[@codeSystem="2.16.840.1.113883.3.989.2.1.1.271)[x)/docum
ent[@classCode="DOC')[@mood Code="EVN'I/participation[@typeCode="AUT"']/assi
gnedEntity[@classCode="ASSIGNED)/representedOrganization[@classCode="OR
G'll@determinerCode="TNSTANCE'/asLocatedEntity[@classCode="LOCEV/locatio
nl[@classCode='"COUNTRY'l[@determinerCode=INSTANCE/code[@codeSystem=

J2:16 %E&W&co%ﬁ

'1.0.3166.1.2. 2']/@code

H%ﬁi&uﬂlﬁ%ﬁim%é(gmﬁioﬁgmgﬁ%rf

H HFA
FRET mL
— & 500J
FrEE H B
XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0'l[@xsi:schemaLocation="uxrn:h17-
org:v3g

MCCI_ IN200100UV01 xsd'/PORR_IN049016UVI[r)/controlActProcessi@classCod

e="CACT'][@mood Code="EVN'l/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode=INVSTG'][@mood Code="EVN'l/component[@typeCode='COMP'[adv
erseEventAssessment}[1]/adverseEventAssessmentl@classCode='INVSTG'][@mo
0dCode="EVN'l/component1[@typeCode='"COMP']l[observationEvent[code[@code="
12'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10T]1{1)/observationEvent(@
classCode='0OBS'l[@mood Code="EVN']/valuel@xsi:type="ED"l/text(




HEBHH WRMEDORS. THERER R X3 T3EERRR D% ORERT,

ot WaRe AW

F—FH 1IN

FFAE 1=RE R, W5
2=JEERIR AR /BT
/MCCI_IN200100UV01[@ITSVersion="XML_1.0'{[@xsi:schemaLocation="urn:hl7-

XPath

orgv3 :
MCCI_IN200100UVO1. xsd]/PORR IN049016UV[r)/controlActProcess(@classCod
e="CACT'}[@mood Code="EVN'l/subject{@typeCode="SUBJ'l[1}investigationEvent
[@classCode="TNVSTG'][@moodCode="EVN']/referencel@type Code=REFR][docu
ment/codel@code='2' [@codeSystem="2.16.840.1.113883.3.989.2.1.1.27']][x)/docum

J2:18.1 AR

entl@classCode=DOC] [@moodCode—‘EVN ]/t1t1e/text0

ICSR D &{E3E OHEA %/Tfh

BH uﬁﬁﬁﬂ

ERE - waes HTAT B A R E R S A L TR B,

F—FH 100J

FEE R

XPath /MCCI IN200100UV01[@ITSVersmn—'XML 1.07] [@xs1 schemaLocatlon—'urn h17-
org:v3 .
M_CCI_IN200100UV01.xsd']fP0RR_INO490_16UV[r]/contr0]ActProcess[@classCod
e='CACT][@moodCode="EVN'l/subject(@typeCode="SUBJ"H1l/investigationEvent
[@classCode=TNVSTG'[@moodCode="EVN'l/subjectOf1[@typeCode='"SUBJ'][cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode='CAC
T'H@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCP'}/assign
edEntity[@classCode“'ASSIGNED‘]/representedOrganization[@classCode='0RG']
[@determmerCode:'INSTAN CE']!name/textO ‘

EE EEERE . .

EEHHA | ICSR @ﬁ{n%aﬁ%g %:,%t

TS HEE LTS,

7 — 100J

TAE B HEoE

XPath /MCCI_IN200100UV01[@ITS Version=XML_ 1.0'lf@xsi:schemaLocation="urn:hl7-
orgva

MCCI_IN200100UV01.xsd /PORR_IN049016UVIx)/controlActProcessl@classCod
e='CACT"1[@moodCode="EVN'//subjectl@typeCode="SUBJ'l[ 1/investigationEvent
[@classCode="INVSTG@moodCode="EVNl/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1}/controlActEvent[@classCode='CAC
Tl[@mood Code="EVN"/primaryInformationRecipient(@type Code="PRCP'l/assign
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edEntity[@classCode='ASSIGNED')/assigned Personl@classCode="PSN'[@determ
1nerCode"'INSTAN CE'l/name/prefix{1]/text0
TE B A ICSR DZAFEDOHEZTT,
o5 BHEOHBEROMZEEHT 5,
7F—FE 100J
A & s B
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsiischemaLocati0n='urnihl"T-
| orgv3
MCCI_IN200100UV01. xsd']/PORR IN049016UVI[r)/controlActProcessi@classCod
e='"CACT'l[@moodCode="EVN'l/subjectl@type Code='SUBJ'] [1)/investigationEvent
[@classCode=TNVSTG][@moodCode="EVN'l/subjectOf1[@typeCode='SUBJ'l[cont
rolActEvent/primaryInformationRecipient]{1]/controlActEvent[@classCode='CAC
Tl @moodCode=EVN' ]/prlmaryInformat10nRec1p1ent[@typeCode='PRCP /assign
edEntity[@classCode="ASSIGNEDV/assignedPerson[@classCode="PSN'l[@determ
1nerC0de 'INSTANCE‘]/nameffamlly[l]ltextO
J2184 BisEL L e
IEE#A | ICSR 0)""1{"‘%0)% %Tﬂ"
FEER T HEOEEROAZERT S,
T — &5l 100J
rAE H i |
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01{@xsischemal.ocation="urn:hl7-
orgwva ‘
| MCCI_IN200100UV01.xsd'}/PORR. INO49016UV[r]fcontrolActProcess[@classCod
e='CACT'][@mood Code="EVN'/subjectl@type Code="SUBJ'I[1}/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'l/subjectOf1[@type Code='SUBJ | [cont
rolActEvent/primaryInformationRecipient}{1]/controlActEvent[@classCode="CAC
T'l[@moodCode="EVN'/primaryInformationRecipient(@typeCode="PRCP/assign
edEnti'ty[@classCode=’ASSIGNED‘]/assignedPerson [@classCode="PSN'][@determ
inerCode="INSTANCE'//name/given{1)/text(
JI9 WEL oo e
HB A FiHEE
o e 2L
F—&% | 10000J
FEE Ef:=Ew300
XPath /MCCI IN200100UV01[@ITSVer31on—‘XML 1.0l{@xsi‘schemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsdl/PORR_IN049016UV[rl/controlActProcess[@classCod
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e='CACT'][@moodCode="EVN'l/subjecti@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG] [@moodCode='EVN']/component[@typeCodefCOMP']'[adv
erseEventAssessment][1}/adverseEventAssessment[@classCode=TNVSTG'] [@mo
0dCode="EVN'l/component1[@typeCode='COMP'[observationEvent{code[@code='
13[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101]][1)/observationEvent[@
classCode='OBS1[@moodCode="EVN'l/valuel@xsi:type="EDl/text(

HE W FREE

CRk RS L

F—F8 10000J

AR B BERk .

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn:hl7-

| orgivd

MCCI_IN200100UV01.xsd l/PORR_IN049016UVIr]/controlActProcess[@classCod
e='CACT'll@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1}/investigationEvent
[@classCode=INVSTG') [@mood Code="EVN'}/component[@typeCode='"COMP'][adv
erseBEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'] [_@m_o
0dCode='EVN'")/component1[@typeCode="COMP'{observationEvent[code[@code="
14'T[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11[1)/observationEvent[@

classCode="OBS"1@moodCode=

"EVN'Ivaluel@xsi:type="EDVtext( -

H B FEA TFIEHEE

FRETIE 2L

F—&% | 10000J

FFEfE B H FE3k

XPath /MCCI_IN200100UV01[@ITSVersion="¥ML_1.0'l[@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd I/PORR_IN049016UV/[rl/controlActProcess[@classCod
e='"CACT'l[@mood Code="EVN'/subjectl@typeCode="SUBJ'|[1]/investigationEvent
[@classCode='TNVSTG1[@mood Code="EVN'] /component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG'][@mo
odCode='EVN']lcompone nt1[@typeCode='COMP/[observationEvent[code[@code="
15'][@codeSystem="2.16:840.1.113883.3.989.5.1.3.2.1.10']][1}/observationEvent[@

classCode='0BS'[@moodCode="EVN'l/valuel@xsi:type="ED'l/text()

FRER

—E-;E
FOHTIE L
5 2 Fl

10000J
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FFEE

B B FEaR

XPath

/MCCI_IN200100UV01 [@ITSVersionﬁ'XML_l.Of] [@xsi:schemalocation="urn:hl7-
orgv3 '
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVirl/controlActProcessl@classCod
e='"CACT']l@mood Code="EVN'l/subject[@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG[@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessmenti@classCode="INVSTG'|[@mo
0dCode="EVN'l/component1[@type Code='"COMP'l[observationEvent[code[@code="
16'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10]][1]/observationEvent[@
classCode="0OBS'][@mood Code=EVN'l/value[@xsi:type="ED'l/text(
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